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( NATIONALISED BANKS & IBPS PO/MT/SO EXAMS

Directions (1-B8) : Each of the
questions below consists of a ques-
tion and three statements numbered
I, It and II given below it. You have to
decide the data provided in which of
the statements are sufficlent to answer
the question, and choose your answer

(1) Only I and IT or I and i

{2) Onily I and II!

(3) Only Il and 1

{4) All 1, I1 and III are necessary

{5) Question cannot be answered
even with the information in

rdingly all three statements
aceo 3
(Union Bank of India PO 4. P is in which direction with re-
Exam, 27.11.2008) spectto Q ?
1. How is Raju related to Manohar ? I. M 1s to the North of R who is to
I. Pramila is the mother-in-law the West of Q.

of Rashmi, the wife of Raju.

I1. Pramila’s brother is Rafu’s ma-

ternal uncle.

H1. Pramila‘s husband is the only

son of Manohar,
{1) Only I and II
{2) Only I and III
(3} Only I and either 1 or III
(4} Any two of the three

(5) Question cannot be answered
even with the information tn
all three statements

2. Who amongst Subodh, Neeraj,
Tara, Meena and Anil is the first
to take the lecture ?

I. Subodh takes lecture before
Meena and Neeraj but not be-

fore Anil.

II. Tara is not the first to take the
lecture, -

III. Meena is not the last to take the
lecture,

(1) Only |
{2)Onlyl and Il
{3) Only I and either I or HiI
(4 AL N and T are necessary
* - {5) Question cannot be answered
even with the information in
all three statements

3. What is the code for ‘rope’ in a
code language ?

L. ‘use the rope’ is written as ‘nik
tare'in the code language.

IL..'rope is straight’ s written as ‘pe
data',

. ‘always use rope’ is written as

II. Pis to the East of M.
III. Pis to the North-East of R.
(1) OnlyIand II
{2) Only I
{3) Any two of the three
(4) All ], H and III are necessary
(5) Question cannot be answered
even with the information in
all three statements

5. What is Sunita’s rank from top
in the class of 45 students ?
I. Sunita is five ranks below Samir
who is 15" from the bottom.
I. Radha is 30* from the top and
Neeta is 5" from the bottom.
HI Sunita is exactly in the middle
of Radha and Neeta.
(1) Only |
{2) Only Il and 1]
(3) Either only I or only I and iI1
{4) Only I and either 1 or I1I
(5} None of these
Directions (6-10) : Each of the
questions below consists of a ques-
tion and two statements numbered I
and H given below it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the
question. Read both the statements
and —
(Andhra Bank Po Exam, 14.00.2008)
Give answer (1) If the data in
Statement I alone are sufficient to an-
swer the question, while the data in
Statement I alone are not sufficient

‘mareta’.

to answer the question.
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Give answer (2) 1f u_.l_:d? 7
Statement I1 alone are sufficlent ¢, I .ﬁ’d
swer the question, while datain g an, ,J

ment | alone are not sufficlent totaat: !

swer the question. ‘
Give answer (3) if the datay,
Statement I alone or in the Sty ol #
11 alone are sufficient to answer the ’
gquestion.
Give answer (4) if the data ¥
both the Statements I and I g4
sufficient to answer the questiop,
Give answer (5) if ihe data
the Statements I and 1] together are
necessary to answer the questiop,
6. How many marbles does Sanjay i
have ? )
L. SanjayhasamnesmoreM- :
bles than Ahmed. 1
I1. Ahmed has one third the num.
mber of marbles which |
marbles as Sanjay.
7. How is Ramesh related tg Lata?
I. Yogendra is Lata's father.

I1. The only sibling of Ramesh's
maternal aunt is married to
Yogendra.

8. If ‘world peace is important is
written as ‘ni pe la so’ in a code
language, what is the code for

/
/
2
f

peace? i

I. ‘animportant call' is written
as ‘ka soba'.

IL. ‘this world map' is written as
‘delaniru’

9. Inwhich direction is Neha walk-

Ing? -

L. Neha walked 15 kms from the
starting point and took a left
turn.

She was walking towards
north before taking a left
turn,
10. What was the day of the week
on fifteenth of the month?
I. The first Sunday of the month
was sixth.
Il The last day of the month was

thirty first.

I1.
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7y giv'-’gr"j,c data provided in the
(2) ;¢ th # are sufficient to answer the
e aumq: dﬂta & wgcad both the statements
ooy [
Sufp, St b pank Rural Marketin
| Cleny tgt:tn!\ A I'W“'nw Exam. 03.01.201(;
3) i ' r {1) if the data in
in the S:adata i 6":] one are sufficient to an.
1t to aﬂawten'ﬁu ﬂ[gnﬂ' gestion, while the data in
) er thy- "J;;?" alone are not sufficient
if estion.
48 erthe qU
Iant':.lhjel:?tah [aﬂ"’w:;mmr (2) if the data in
e quesu ¢ hgy a ¢ Il alone are sufficient to an-
) ir t.he 011 ﬁ‘tmquesﬁﬂn. while the datﬂ in
n togetda‘a o {# ¢ ] alone are not sufficient to
1e quesg"’ e 917 question.
€S doeg On, nﬂ":; ve aNSWer (3) if the data ei-
Saqyy, n statement I alone or in state-
213@ More :’;( j1alone are sufficient to answer
third ¢, # give answer (4) if the data giv-
rbleg wh poth the statements Iand II to-
> hag as Ich for arenot stfficient to answer the
fay. o
ated ¢ La give answer (B) if the data in
A's fa ther yihthe statements I and II together
of Rame. ) genccessary to answer the question.
S Mmarriedy, ILgh::auamotn?gA. B.C,DandEis
e talies
' fA, B, C, D and E has
nportant’ i I, Eacho
30" in a coge a different height.
he code fy li. Dis shorter than only A.
12. How fs ‘walk’ written In a code
I' is written language 7 ,
I. ‘morning walk is good’ is writ-
; written ten as ‘na pa ta sa’ in that
code language.
Nehawalk| Il ‘wish you good morning’ is
; written as ‘la na sa da’ in that
15 from tt code language.
tookaltl, 13 On which day of the week is
, Arun’s birthday ?
towafd;; L. Arun's brother correctly re-
ng 2 I¢, members that Arun’s birth-
day is after Wednesday but
the before Sunday.
nth 7 gl I Arun's sister correctly remem-
e moT, ';;f_s that Arun's birthday is |
ore Friday.,

@ N H
onth oW many daughters does
- havep gh @

L Mand T are brothers of R.

/;;15] : Each of the 18,

pu"b":‘;:w' consiste of a queg.-

statements nunbered |
Jow it. You have to de-

=] bara SUFFICIE

NCY |—

“‘“’;::lnt PO Exam. 17,10.2010)

answer (1

statement | alone arfa s]milrﬁtctil:nctl?:a o

swer the an-

state fllllestlon. while the data in

ment II alone are nt uffi

to answer the question, o sullicient

Give answer (2) if the data in

statement II alone are sufficient to an-

swer the question, while the data in

statement I alone are not sufficient to

answer the question.

Give answer (3) if the data ei-

ther in statement I alone or in state-

ment Il alone are sufficient to answer

the question.

Give answer (4) if the data giv-

ent in both the statements I and It to-

gether are not sufficient to answer the

question, and

Give answer (8) if the data in

both the statements I and I together

are necessary to answer the question.

16. How is ‘sure’ written in a code

language ?

I. ‘he is sure' is written as ‘ja
hama’ in that code language.

11. 'is she sure’ is written as ‘ka
ja ma'’ in that code language.

17. What is R's position from the left

endinarow?

I. M is tenth from the left end
of the row.

II. There are sixteen children
between M and R.

18. How Is J related toM ?

I. M has only one brother and
two sisters.

I1. J is daughter of Twho s wife
of M.

—~ IRs mother T is wife of Q.

. -

18. Town P is towards which direc-
ton of town T 7
I. Town T is towards South of

town K which is towards
West of town P.

II. Town R s towards South of
town V and towards East of
tovn T,

20. Among P, Q, R, S and T each
having different age, who is the
youngest among them ?

I. Qs younger than only P.

il. Sis older than only R.

21. On which day of the week did
Souray visit Delhi ?

I. Sourav visited Delhl after
Monday but before Thursday
but not on an odd day of the
week.

II. Sourav visited Delhl before
Friday but after Monday.

Directions (22-26) : Each of the
questions below consists of a ques-
tion and two statements numbered I
and II given below it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the
question. Read both the statements
and

(Central Bank Of India PO
Exam. 26.07.2010)

Give answer (1) if the data in
statement [ alone iIs sufficient to an-
swer the question, while the data in
statement II alone is not sufficient to
answer the question. )

Glve answer (2) if the data in
statement 11 alone is sufficient to an-
swer the question, while the data in
statement I alone is not sufficient to
answer the question.

Give answer (3) if the data el-
ther in statement I alone or in state-
ment Il alone is sufficient to answer
the question.

Give answer (4) if the data in
both the statements I and 11 together
are not sufficient to answer the ques-
tion.

Give answer (5) if the data in
both the statements I and 11 together
are necessary to answer the quéstion.

22, On which day was Yasir born?

(His date of birth is February 29|

I. He was born between yean

2005 and 2011,
II. He will complete 4 years or
February 29, 2012.

r?‘if':-::a- nAaEeS oA .
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23. Outoféeq students, 38 play both Give answor (4) if the data given Give answer (llif\ {
chess and cricket, How many | t1n both the statements 1 and I togeth- statement I alone are g the daty 1y %
Students play only chess? er are not sufliclent to answer the | swer the question, why) Ltoqy, i’;'
I. Outof 64 students, 22 stu- | question, and statement I alone are : e dal“n ';l“l
dents don't play any game. 4 Give answer (0) if the data in both | answer the question, + *'Mcley /4!
students play only cricket, the statements I and 1 together are Give an (@ : g
1. Out of 64 students, 20 are Necessary to answer the question. statement 11 llon"“e ) if the daty i #ﬂ
girls and 10 of them don't 27. How many sisters does Priya answer the qu eation"\:l::?:;e y
Play any game. have ? - dagg
24. What fs the tota] number of stu- I. Rohan, Priya's brother has :1; ::;wth;mr t.l-l“ ::lli"::l:;e not B'-lﬂ‘luem 5:;"
dents in the schoo] P only two siblings, .
I. The respective ratio of gils L. Priya‘'s grandparents have th im':am“' ) f the dag yy ¢
and boys 1s 2 ; 3. two children and two grand- | ther in statement I alone o in stay,, #
1. The number of students has daughters, ::en th atllc;ne are suffictent ¢o answy, ¥
grown by 5% this year as | 28. On which day of the week was | the question. v
compared to 4% last year Shahid born ? Give answer (4) if the data eve, ¥,
from the number 2000 which I. Shahid’s mother correctly | in both statements I anq togethe, g
it was year before last. mentions that he was bornt | are not sufficient to answer thequeg.
25. Who among the six of them ts before Friday and after Tues- | tion, g
the tallest if Geetha 15 taller than day, Give answer (5) i the daiy in #
Shilpa and Deepa is taller than I. Shahid's father correctly re- both statements I and |1 ¢q are
Meeta ? members that Shahid was necessary to answer the question, |
{Suntta and Sadhana are the oth- not born on a Wednesday. 32. Who among Meera, JyoH, Pinly
er two). 28. Who is the heaviest amongst P, -and Sadhana is the tallesy ? |
L Sadhana is taller than Supi- Q. R, SandT? 1 Mecralsnotastallag
ta, I. Ris heavier than @ but not ’ or Plnky
IL SadhanalstauerthanShﬂpa as heavy as T. '
and Meeta as well as Deepa. 1. Pis heavier only than S. IL. Jyotiis taller than
26. On which date 1s Amit's birth. 0. Is the time In the clock 3 | 98- HowisN related to M ?
day in September 2010 7 O'clock now ? _ L O 1s the husbang of N.
1. Lastyear his birthday was on L. After fifteen minutes, the 1. Zwho is the sister of brog,
the last Thursday of the | minute and the hour hands er M is the daughter of N.
. Thisyear his birthday will be straight line. related to B 7
on the last Friday of the IL. The train which ig running .
"month in September 2010, late by exactly three hours I Aisthe only son of his par- ¢
Directions (27-31) : Each of the from its scheduled time of ents,
questions below consists of a ques- arrival f.e. 11 AM. has L. A has two sisters -B andF,
tion and two statements numbered | reached now. _ 35. How is X related to W ?
and I given below it. You have to de- 31. How 15 ‘got' coded in the lan- I.  Visthe husband of x.
cide whether the data provided in the guage ? .
statancnﬂ ts are sufficient to answer the I. 1 got good marks' 1s written I \n\:;tsht::igr;ﬂ?er ofZandZs
- Question, as’peli ta 80’ and ‘she hag
. (Punjab Nattonal Bank Speciaiias got%col d' is written as ‘je r | 36+ 18 this college co-educational?
Read both the statements and — II. ‘what haveyou got' is written ers than male teachers in this
Give answer (1) if the data in as ‘de wa so me’ and ‘Brazj] college.
statement I alone are sufficlent to an- got four goals' is written as II. A girl known to me was the
swer the question, while the data in ‘di bi fe 80’ In the code Jan. topper from this college.
statement II alone are not sufficlent guage. Directions (37-41) : Each of the
‘o answer the question, entctlons (32-36) : Each of | questions belas consists of a ques
Otve answer (9) if the data n the questions below consists of 5 ues-"| tion and two statements numbered!
statement II alone are sufficient to tion and two statements numbered | and Il given below it. You have to d¢-
answer the question, while the data and Il given below it, You have to de. cide whether the data provided in tht
In statement I alone are not sufficlent | ojde whether the data provided in the € whether the data pro ihe
to answer the question, statements are sufficient to answer the | Statements are suffictent to mwe:m
Glve answer (3) if the data efther ducstion. Read both the statements | 9Uestion. Read both the statem
In statement I alone or iy statement Il | and - and— "
alone are sufficient to answer the ques- | (Bapk Of lndia PO Exam, 31.10.2010) (United Bank Of India 0
Hon, 1 Exam. 14.11.30
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41. Is Jay a sibling (brother or sia-

8 o0 t1alone are 8 i to an- ter) of Rishi ?
meau"l'l. Mot o q‘h} f;‘,ﬁecnq';f:]"‘;:: gu:oih:ug?ctfﬂ’:: 1. Jay’s mother, Shalini is the
o! . i
ong (i{:t . l.%\ yﬂ“mcntmc question. :hneli" child of Rish's grandfa
3 SWor !" L3
!‘st;on. W, aum(?:t* v Gl"n alone ar(ez :umt:}:nﬁ;a mi: II. Rishl's father has a daugh-
e ¢arg nof th 1 s the question, while the data In ter, Smita, of whom Jay is a
Stiop, Oty "q‘ e = 1t 1 alone are not sufficient to brother.,
T (3) %\ ﬁwme question. Directions (42-46) : Each of the
it 1 alo, “‘e% Give anewes (3) If the data in | questions below conelsts of a ques-
Sumc[ee Or g 3y qatement 1 alone or in Statement H | yon and two statements numbered I
"“oa:% Je are suffictent to answer the ques- | and 17 given below it, You have to de-
r(q cide whether the data provided in the
ts I,a!:;the gy e G“;t mtg’ alx{dulilct:;:rhi? statements are sufficient to answer the
0 ang I ‘%;2 mhmt:‘: ufficient to answer the ques- | 32¢5tion. Read both the statements
EWerthe e and:
 (8) Ry v Give answer (B) if the data in (FNB Management Trainee
n if the soth the Statements I and II together Exam, 28.11.2010)
N dligq d"'ai necessary to answer the question, Give answer (1) If the data in
T the qu‘"h% ‘;; in which month of the year did | Statement ] alone are sufficlent to an-
leery, St " the construction of the building | swer the question, while the data in
Isthe h"-ﬁ,ﬁ begin ? Statement II alone are not sufficient
Ot ag tanem 1. The construction engineer | to answer the question.
2, taﬂaap% correctly remembers that the Give answer (2} If the data in
. construction began before | Statement Il alone are sufficient to an-
-rthan Scptcmbcrl;::.t a&“ﬂlMaymd swer the quesuﬂn. while the data in
td to M MP;;“"“ month didnot | gtatement I alone are not suffictent to
*bang ofy, Th:v;ulldcr com:cﬂy remem the question.
 Sister of;, . be:s that the construction | Give answer (9) {fthe data elther
jaugmer oy began after February but be- | 10 Statement I alone or in Statement
of Ay fore October and the fact | Il alone are sufficient to answer the
- How that, that particular month | question,

did not have 31 days.
son °““’N— 38, How many runs did Team X

make ?
ters -B angy 1. The umpire of the match cor-
toW? rectly mentions that had the
batsman from team X scored
and of X two more runs, the team
er of Zandl would have won the match by
.28 runs.,
ducatens® I, The coach mentions
female i that the batsman from Team
X missed his century by two
achemsh ¥ runs,
%. Who among P, @, R and S s the
me wad shortest ?
; collegt L. S13 not as tall as R but is
Eachd® taller than Q.
ofa® Il Rignot the tallest.

wmbe® 4. What does ‘nf’ mean tn the code

Give answer (4) if the data in
both the Statements I and 11 are not
sufficient to answer the question.

Give answer (B) if the data in

both the Statements 1 and Il together

are necessary to answer the question.

42. Is S, T's aunt ?

Statements :

I. K {s the father of two chil-
drenPand T,

II. Tis 8's niece,

43. Whoamong$, T, Uand V is the
tallest ?

Statements :

I. Uis shorter than only T.

I. Vis taller than only S.

44. Out of three friends L, M and N
each one likes Chocolates, Ice-
cream or Chips {not necessarily
In the same order). Who out of
the three, likes Chips ?
Statements :

I. L does not ke Chocolates,

ate (ot e?
edit? I 'nipa ca lo' means ‘an honest
i
i employee’ and ‘sa lo Ja pa’
g Means ‘employee of the bankk',
IIIL i ca’ means ‘an honest of-
ot cer’ and ‘to fl ea pa’ means ‘re-
r::* al Puted officer of bank', _'
' i

/"'h.__

II. N likes Ice-cream.

F
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45. What is today’s date (not taking
Into account the month and the
year) ?

Statements :

1. Exactly four wecks ago, the
date was 24th.

1I. The previous month was one
of the longest months in
terms of number of days.

46. How will 'WATCH' be coded in
the code Janguage ?
Statements :

1. Inthat code language ‘PERIL
is coded as ‘QFQJIM'.

11. In that code language ‘FOS-
TERS' is coded as ‘GPTSFST,

Directions (47-51) : Each of the
questions below consists of a ques-
tion and two statements numbered I
and 11 given below it. You have to de-
cide whether the data provided in the
statements are sufficlent to answer the
question. Read both the statements

and
(Bank Of Mahbarashtra
Exzam. 19.12.2010)

Give answer (1) if the data In
statement I alone are sufficient to an-
swer the question, while the data in
statement I alone are not sufficient
to answer the question.

Glve answer (2) if the data in
statement II alone are sufficient to
answer the question, while the data
In statement I alone are not sufficlent
to answer the question.

Give answer (3} if the data el-
ther in statement | alone or in state-
ment Il alone are sufficient to answer
the question. "

Give answer (4) if the data even
in both statements ! and It together
are not sufficlent to answer the ques-
tion.

Glve answer (B) if the data in
both statements [ and Il together are
necessary to answer the question.
47. How Is 'last’ coded in that code

language ?

I. ‘heavy rains last night' is cod-

ed as ‘na ke ja o’ and 'fin-
Ished last In race’ is coded
as'solotopa’

II. ‘the furniture should last' is

written as ‘dl wi lo be' and
‘glve me last chance’ is writ-
tenaslofaraqf.
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48. Amongst five friends geated

I. B, D are immediate nej,

mediate neighbour of A,

same direction as Shilpa.

direction Shilpa is facing,

80. Is Abrotherof B ?

of C. C is father of A,

er of A,

Directions (52-58) : Each of the
questions below consists of a ques-
tion and two statements numbered |
and I given below it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the
questions. Read both the statements
and —

(Orfeatal Bank Of Commerce PO

Exam. 26.12.2010 (Ist sitting)

Give answer (1) if the data in

Statement I alone are sufficient to an-

swer the question, while the data in

Statement If alone are not sufficient
to answer the question.

Give answer {2} if the data in
Statement Il alone are sufficient to an-
swer the question, while the data in
Statement I alone are not sufficient to
answer the question.

Give anawer (3) if the data ej-
ther in Statement | alone or in State-
ment Il alone are sufficient to answer

straight line facing North, is B
sitting at the extreme left end 7

bours of each other. Similar-
ly E, C are algo immedjate

neighbours of each other, A
sfts exactly in the middle of

the left of C. B s not an im-
49. Which direction is Shilpa fac-
ing?

L. IfMeeta who is currently fac-
Ing South turns 90° towards
her left, she would face the

II. If Uday who Is currently fac-
Ing North, turns 90° towards

his left, he would face a di-
rection just opposite to the

I. DismotherofB and B is son
. Etssisterof A andFis broth-

B1. How many kilometers did HKaran

(AR IR NN R WL Wy

AV, Lre FV LS F Wb
S DATA sUFFICENLY |-
ina Give answer (4) if the data even
in both the Statements | and II togeth-
€r are not sufficlent to answer the
gh- | question,

Give answer (5) if the data in
both the Statements I and I together
are necessary to answer the question.

82. In which direction is Raj

the line, facing ?
1L Awhosltsexacﬂylnmemld- I. Raj and Rohan are facing
dle of the line is second to each other.

II. Rohan is facing north-west,
B3. Who among Deena, Meena, Tee-
na and Reena is the eldest ?
I. Meena is not the eldest.
Ii. Teena is younger than Ree-
na.

84. How will 'SOLID' be coded ?

L. All the vowels have to be cod-
ed as the alphabet that fol-
lows them in the English al-
phabetical series,

C. R and N are coded as B,
Q. and M respectively and O,
U and I are coded as P, V
and J respectively and a sim-
ilar logic 1s followed for other
alphabets.

53. How is J related to N ?

II.

drive today ? I. Risthe brother of J and N is
Karan i the son of R,
. he drove T mb“‘egg‘;g';‘;ﬁg L. J is the sister 6f R and N is
the son of R,
more than 14 km today, )
i ey | g 520t
fons that Karan drove more | d1€Stions below con q
tth 10 km but less than 16 tion and two statements numbered |
lﬂr?tloday Htleqs than and Il given below it. You have to de-

cide whether the data provided in the
statements are sufficient to answer the
question. Read both the statements
and ,
(Indian Bank PO Exam. 02.01.2011
(Ist sitting)
Give answer (1) If the data in
statement I alone are sufficient to an-
swer the question, while the data in
statement 11 alone are not sufficient
to answer the question.
Give answer (2) If the data in
statement I alone are sufficient to an-
swer the question, while the data in
statement I alone are not sufficient to
answer the question.

Give answer (3) If the data ei-~
ther in statement | alone or In state-
ment Il alone are sufficient to answer
the question,

Give answer (4) If the data even
in both statements | and | together
are not sufficient to answer the ques-

the question.

tion,

/
/
1

o
data 4, |

——

Give answer (%) If the
both statements 1 and U tp,

necessary to answer the quc.sllon_am fg"
56. Who is oldest among Pete, t“'t:
Kevin, Joseph and Jason 9 A
1. Jason is older than Peter apg f,“:
Joseph. *
II. Kevin 13 younger than Jo. gt
seph.
87. How is ‘happy’ written in a code
language ? o
. ‘T happy today’ is written a5 N

‘ke ne que’ and ‘today happy }'gsg
day’ is written as ke Joine, f
Il. ‘I play’ is written as ‘que pa’, i
88. H is the mother of J. Howisg ¢
related to V ? o
L Vis the only daughter of 4,
II. V i3 the sister of J, g
89. What is the colour of white snow ;’
in a colour code ?
I Greenis called Black, Black 47
Is called Blue, and Blue is ¢
called Red. tf
II. Red is called White and White
is called Orange. #
60. Six people P, G.R.S. Tand U e
greseated around a circular ta- !
le and are equidistant from each
otfief. Who is second to the right
of T?
I. Pis to the immediate left of |
Q and @ sits opposite R. 2
IL S is to the immediate left
ofU. |
Directions (6 1-85) : Each of the
questions below consists of a ques-
tion and two statements numbered]
and II given below it. You have to de- o
clde whether the data provided in the
statements are sufficient to answer the y
Question. Read both the statements .
and

R
N

L

(Union Bank Of India o
Exam. 09.01.2001) '

Give answer (1) if the data in
statement I alone are sufficient to an-
swer the question, while the data in |
statement II alone are not sufficient
to answer the question, l

Give answer (2) if the data in i
statement Il alone are sufficient to an-
swer the question, while the data in
statement [ alone are not sufficient to
answer the question.

Give answer (3) if the data ei-
ther in statement ] alone or in state-
ment 1l alone are sufficient to answer
the question,

—( BPRE-806 }-
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th, '1% - W(&]lfthcdataeven

3
8y § ents I and Il together
"1:1!3":;"% &, , aomjgidﬂ“ to answer the ques-
LY.
r-tha:aﬂn?ﬁzh ;I; answer (6) if the data in
p%' Gl':mmtsland I together are
n&e.» t " i stat to answer the question.
. O F‘(é’m many employees are en-
ttey, t M HO‘:d with the company ?
. ? rhe Employee Engagement
Is Yoy L survey was administered to
i;odaj’ll% 8]] employccs in the COmpa-
ke ay.

N ag. Joy ! I A{otal of 346 Employee En-
dJ, Hq“e A " agement Surveys were re-

%h . turned to the HR department,
1ghy what was the grand total of
J, erﬁfu A?
“'hue 1. Joseph correctly remembers

g, that Team A scored a grand
4 total of above 85 but below
\ ;}‘- B""& 94 points.

S, ;. surekacorrectly remembers

that Team A scored a grand
total of above 80 and below

87 points.

Tan,' o powwill COMEDY" be coded in

Cllay, I gcertain code language ?

R‘:%{ i In the code language each
Ty vowel in the word fs changed

i to the next letter in the En-

¢ ety glish alphabetical series.

°R H Ii. In the code language each

e b consonant in the word is

) changed to the previous let-
off: ter in the English alphabeti-
Ques cal series,

Fred: 8 P, Q. R S and T are seated
%% " wround a circular table facing the

: ﬂﬂf centre, such that there is equal
" space between each of the adja-
cent members. Who sits to the

F b FLFs WL

— 1 DATASUFFICIENCY |

below it. You h -
:l‘gc Whether the data provl;ve:l :: tdtfe
quet:.t?mts are sufficient to answer the

on. Read both the statements

and —
(Corporation Bank PO
Exam. 16.01.2011)

Give anewer (1) if the data
in
statement I alone are sufficlent to an-

:;t::: the gll:estion. while the data in
ment II alone are not suffici
to answer the question, suliclent
Give answer {2) If the data in
Statement I] alone are sufficlent to an-
Swer the question, while the data in
statement | alone are not sufficient to
answer the question.
Give answer (9) if the data ei-
ther in statement | alone or in state-
ment I alone are sufficlent to answer
the question,
Give answer (4) If the data even
in both statements I and I together
are not sufficient to answer the ques-
tion. :
Give answer {8) if the data in
both statements I and I together are
necessary to answer the question.
686. Who amongst L, M, N, O and P
is the shortest.
1. Oisshorter than Pbut taller
than N.

H. Misnotastallas L.

67. Are all the five friends viz. Lee-

na, Amit, Arun, Ali and Ken who

are seated around a circular ta-

ble facing the centre ?

I. Leena sits second to left of
Amit. Amit faces the centre.
Arun sits second to right of

¥ Immediate right of T? -~
) I. @ sits second to the right of
T and S sits second to the
. left of T,
II. Ris not an immediate neigh-
. bour of either P or Q.
&. Which direction is Khartik fac-
ing at the moment ?
. After walking 4 metres early
morning from point A, Khar-
tik is facing the opposite di-
rection of the sun.
II. Khartik took two consecutive
left tuns after covering a dis-
tance of 3 metres to reach

~ +Leena: -. )

II. Ali sits third to the Jeft of Ken.
Ken faces the centre. Amit
sits to the immediate left of
All but Ken is not an immedi-
ate neighbour of Amit.

68. Is T grandmother of @ ?

1. P is the mother of Q. Q Is
the son of R, R is the son of

T.
II. L is father of N and N is
daughter of T.

69. Point A is towards which direc-

tion from point B ?
1. If a person walks 4m to-
wards the north from point

Point A,
N ——

A, and takes two consecutive

right turns, each after walk-
ing 4 m. he would reach point
C, which is 8m away [rom
point B.

1. Point D is 2m towards the
cast of point A and 4m to-

wards the west of point B.
70. How many brothers does Bhar-
at have ?
I. Shiela, the mother of Bharat
has only three children.
1I. Meena, the grandmother of
Bharat has only one grand-

daughter.
Directions (71-75) : Eachof the

uestions below consists of a ques-
?lon and two statements numbered 1
and II given below it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the
question. Read both the statements

and —
(Punjab & Sind Bank PO
Exzam. 23.01.2011)

Give answer (1) if the data in
statement [ alone are sufficient to an-
swer the question, while the data in
statement Il alone are not sufficient
to answer the question.

Give answer (2) if the data in
staternent [ alone are sufficient to an-
swer the question, while the data in
statement I alone are not sufficlent to
answer the question.

Give answer (3) if the data ei-
ther in statement I alone or in state-
ment Il alone are sufficient to answer
the question. .

Give answer (4) if the data giv-
en in both the statements [ and 11 to-
gether are not sufficient to answer the
question, and

Give answer {8) if the data in
both the statements I and I together
are necessary to answer the question.

71. How Is ‘never’ written in a code
language?

L. ‘never ever go there’ is writ-
ten as 'na ja ni ho' in that code

e.

I. ‘go there and come back' is
written as ‘mahosanida’ in
that code language. °*

72. Among M, P, K, J, Tand W, who
is lighter than only the heaviest?

I. Pisheavierthan M and T.

II. Wis heavier than P but light-
er than J who is not the
heaviest.
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and II given below it,

both the statements and —

{UCO Bank PO Exam. 30.01.2011)
Givemm(l)lftbedatam

slatement I alone are sufficient to an

swer the question, while the data In
statement II alone are not sufficient

to answer the question.

Givem(zjifthedatam

statement I alone are sufficient to an-
swer the question, while the data in
statement I alone are not sufficient to
answer the question,

Give answer (3) if the data ei-
ther in statement | alone or in state-

ment Il alone are sufficient to answer |

the question.
Givemmu)ifﬂlcdataeven
In both statements I and J1 together
are not sufficient to answer the ques-
tion.
Give answer (3) if the data in
both statements Tand I together are
necessary to answer the question.
78. Point A is towards which direc-
tion from point B 7
L If a person waiks 5 m to-
wards West from point A,
takes a left turn and walk 5
m again, he would be 4 m

73. Whatdom$'meanmaoodehn-

guage? of point C, point C is to-

" ety gaompene ‘lowers are and point B s tenbort D

I 7 # 35 means ‘good flowera East of point D.

are available* 7z, laSthemothcrofM?
' I. M is sister of Q, Q Is sister
74. How is P related toJ 7 of Rand R is daughter of S,
! M is brother of P and T 1s il. M is daughter of Land L is
u ;lster of P. sister of V.

- 8 mother is married to J's 78. Are all the five friends viz. A, B,
husband who has one son C. D and E who are seated
and two daughters, around a circular table facing the

78. How many students are there centre?

Suresh and Mohan in a 1. Asiis third to the right of D.
row of fifty students ? D faces the centre. B sits
L. Suresh is twelfith from the . Ze:;dmtz;ﬂtgh&d lt-& of

ohan s seven- . seco! e
tl:ginhdf:;: ﬁe ﬂghitsmd. - E. E faces the centre. D sits
I s second to the right of C,
- Suresh is six places away ) ; n th
from Jayesh who is twenti- | 79 Hmmcgmewnum e code
cth the left end. L ‘we came by car is written
Directions (76-80) : Each of the

questions below consists of a ques-
tion and two statements numbered |

You have to decide whether the
data provided in the statements are
sufficient to answer the question. Read

Statement | alone or in Statement J1
alonearesuﬂidmttoangwerthequcs-
tion. .

-1 DATA SUFFiCIENCY |-

w

II. Point A is towards the North

as‘4928'and‘canwebuy
car’ {s written as '5 8 0 2",

Il. ‘can car be cheap' is written
as ‘8 1 5 3’ and ‘came by
cheap car’ is written as '9 8
471,

80. Who amongst Shreya, Jyoti,
Leena, Pia and Kajal is the short-
est?

I. Leenais taller than Pia and
Piais taller only than Shreya.
IL. Kajalis taller than Jyoti and
Leena. Leena is taller than
Pia. Shreya is not the tallest.

Directions (81-83) : Each of the
questions below consists of g ques-
tion and two statements numbered 1
and II given below it. You have to de-
cide whether the data provided in the

Statements are sufficient to answer the

question. Read both the statements

and—

(Bank Of Baroda PO
Exam, 13.03.201 1)

Give answer (1) if the data in
Statement I alone are sufficient to an-
swer the question, while the data in
Statement II alone are not sufficient
to answer the question

Glive answer (2) if the data in
Statement II alone are sufficient to an-
swer the question, while the data in
Statement I alone are not sufficient to
answer the question. .

Give answer () if the data in

away from point B, (

— 7

#
Give answer (4) if ihe f"‘t’
both the Statements 1 and 1 ::;an'; A a‘:f
sufficlent to answer the Qquestioy, i
Give answer (5) if the data f:.ﬂ(:fd‘
both the Statements land |j togethe, ?"4’
are necessary to answer the Questiy, ﬂ‘:ll
81. In asixstorey (consigy,

ing of floors numbered 1, 9 34, 9501
5 and 6. The ground floor ig num, {4,
bered 1, the floor above s ‘pcl
numbered 2 and 500n) the thiyg o
flooris unoccupled. The by, b
ing houscs different people Viz, ff;‘ |
P, Q. R, SandT, each on f‘
a different floor. On which of . g"’
floors does T live? d
1. Slives between the floors o #d"“
which R and T live,
I1. There are two floors d‘;
T's floor and Q's floor, e
82. How is ‘see’ written in the coge "’ﬁ
language? A

I. “hope to see you' 1s written 'ws'
as°3802', ‘do you see that' is

writien as ‘1 ",

‘to pray and hope' is written

as°'0286’ and ‘hope I do well'

Is written as ‘5487

83. Among five friends A, B.C.D

and E sitting around a circular l

table and facing the centre, who

Is sitting to the immediate Jof of

A?

1. Asits third to the right of B,

Dis not an immediate neigh-
bour of B.
. Bisanimmediate neighbour
of C.
84. Is X the wife of Y?
I X's daughter M is the only
sister of R. R is the son of Y,
II. The mother of Y has only one
grandson R.
83. Among P, Q. R, S and T, which
bag is the lightest?

L Pishwviertl'lang.Risas

heavy as Q. Tis lighter thanR.

IL. Sislighter than Q but heavi-

er than T.

Directions (86-80) : Each of the
questions below consists of a ques-
tion and two statements numbered
and 11 given below it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the

Question. Read both the statements
and —

I1.

I

-

(Allahabad Bank PO
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qh I‘ a’r ::I / ‘f "
eyl anower (1) If the data (n
]dlil(.‘::\,"q 0:;:1610“‘ arcsuﬂiutilegt toan-
:hel ty atgjﬂ q“e,ﬂon, while the data in
i ’”&q\? £ the { It alone are not sufficlent
&1,. o answer (2) if the data in
i?'s' a" ¢ il alone are sufficient to an-
" N jlsfcﬂ": question, while the data in
| t, ll’l ’“,efﬂ’ +1alone are not sufficient to
A #(cﬂ“;e question.
Ifeume"‘wq ©ire answer (3) If the data in
% { 1 alone or in statement 11
hk-hw QE sf’“:):n;e sufficient to answer the
ao?

:'n%m q“’u;:,.mw (4) if the data in

89. Are all the four friends Abhay,

90. Is R the granddaughter of C ?

-)’L/Vl/l AFFF LT LS S L7 FV 7T Wt/l L s LTI

—| DATA SUFFICIENCY

Kavita, Prashant and Yasir who
are sitting around a circular table
facing the centre?

I. Kavita sits second to left of
Abhay. Abhay faces the cen-
tre. Yasir sita to the immed|-
Ate right of Abhay as Well as
Kavita,

II. Prashant sits third to the right
of Kavita. Abhay sits to im-
mediate right of Prashant as
well as Yasir.

1. The only sister of A is the
mother of R’s brother, B ..

the statements 1 and 11 are not
be(\ :;gdcﬂt to answer the question.
) Gl

e

; g to answer the question.
How i8 ‘letter’ written in the code
e‘ﬁr“: 86 2

L p]gasemtealettcf 18 writ-
it ten as ‘7T218" ., ‘received a
d°%l Greek letter is written as
| 7513".
')l g wiitein English please’ is writ-
:%l ten as ‘2084°, and ‘a letter
"Wy in Greek’ is written as
tg ‘5714". .

g7.Among A, B, C, D and E, seated

]
o, answer (8} If the data in
ule% i the statements I and II together

II. C, the mother of A has only
one grandson, B,

questions below consists of a ques-
tion and two statements numbered I
and Il given below it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the
question. Read both the statements
and —
(Iindian Overseas Bank PO
Exam. 22.08.2011)
Give answer (1) if the data in
statement I alone are sufficient to an-
swer the question, while the data in
statement II alone are not sufficient
to answer the question.

Directions (91-98) : Each of the |

. who Is currently fac-
. :Lgmsﬁ?:th turns left, walks 1
m and then takes a jeft tumt
again; she would face the
same direction as Al
©3. Did 300 candidates appear for
the written examination for ad-
mission into college X ?
I. The principal of the college
correctly mentions that the
number of candidates who

had appeared for the exami-

nation was more than ;30
o a statistical re-
" :.?cr: rg::;? ‘175 candidates
could qualify the examinationt
4. Howfaris point P from point @ ?
(all the points lieon a straight
© line) .
1. PointT is exactly midway be-
tween points P and Q. Point
T ia 5 km towards west of
point R.
IL. Pothls2lun3toward3the
east of Point R.
g8, How many brothers does A
have?
1. Awho is B's brother has two
siblings.
II. D is brother of A and is
youngest in the family.
Directions (96-100) : Each of
the questions below consists of a ques-
tion and three statements numbered
I, Il and I1{ given below it. You have to
decide whether the data provided in
the statements are sufficient to answer
the question.
(IBPS Bank PO/MT CWE
Exam. 18.09.2011)
98. How many daughters does P
have?

I. B and D are sisters of M.

II. M’s father T is husband of
P

IIL.Out of the three children
which T has, only one is a
boy.

(1) Only I and III

(2) Alt 1, Il and 1] are required
to answer the question.

{3} Only II and Il

(4) Question cannot be answered
even with all I, Il and IIY

(5) Onlyland II

o-m," in a straight line; facing North, Give answer (2) if the data in
B who sits exactly in the middle of | statement IT alone are sufficient to an-
/ theline ? swer the question, while the data in
o 1. A sits third to left of D. B sits | statementI alone are not sufficient to
to the immediate right of C. aﬂSW'eri the questlor(lé) if the data ed
ve answer e -
I ?:;t:ts:ﬁomeggg ‘:;?'ghE_ ther in statement I alone or in state-
bour of D. ment II alone are sufficient to answer
88, A six storey building {consisting the q‘;iu:"' () if the data
answer e even
, 'fanmmoccupled ground floor [, ), geateinents I and I together
and five floors on top of the [ 50 5ot sufficient to answer the ques-
ground floor numbered 1, 2, 3, | o0
4and 5) houses different people Give answer (5) if the data in
viz.A, B, C, D and E. Who lives | p,¢h statemnents 1 and Il together are
or the third floor ? necessary to answer the question.
. Clivesonanevennumbered | 91, Who amongst A, B, C, Dand E
floor. A lives immediately is the tallest?
above D. B lives immediately I. Afstaller than B but shorter
above A. E does not live on than C. D is not the tallest.
the topmost floor. H. Two people are taller than C.
L. D lives on an odd numbered | g2. Which direction is All facing ?-
floor. A and B are immediate I. If Ken who is currently fac-
neighbours of each other. ing East turns 90° towards
Simélarly, C and E are imme- his right, he would face a di-
diate neighbours of each rection exactly opposite to
other. C does not live on an the direction which Ali is fac-
0dd numbered floor. ing.
R —— RPRE-809
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-1 DATA SUFFICIENCY |- — f,*;
87. Who among A, B, C,D,EandF II. *again go now or never i1s | 108. On which day of the weex (etart. r".ﬂ
each having a different height, written as 'na ho ka sa tom'’ Ing from Monday and ending o ”’[ﬂ‘
is the tallest? in that code language Sunday of the same weel) dig  § .
I.  Bis taller than A but short- (1) Only I and i1 Sushant visit Chennat ? y9
er than E. Y L. Sushantvisited Chenna| tweg ’
I1. Only two of them are short- (2) Only If and 1 days after his brother vigyq, i
er than C, (3) Only l and 1 ed Chennal 1
HL. D is taller than only F (4) Al 1, IT and IIT are required II. Sushant did not visit Chep. f
(1) Only I and 11 to answer the question “all;ligm' on Wednesday o, :
(2) Only I and 1 {5) None of these 104, Tor ricay.
(3) Only 1t and i1t Directions (101-105) : Each of .

(4} AR L, I and 11 are required
to answer the question

{5) A1, I and mi are not suffi-
cient to answer the question

98. Towards which direction 13 vil-
lage J from village W 7
I. Village R is to the west of Vil-
lage W and to the north of
Village T,

11 Village Z is to the east of Vil-
lage J and to the south of

the questions below consists of a ques-
tlon and two statements numbered |
and II given helow it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the

question. Read both the statements
and—

(IBPS Specialist Officer CWE
Ezam. 11.03,2012)

Give answer (1) if the data in

Towards which direction is ] |
with respect to the Starting .
point?

1. Pwalked 20 metres, took a
right turn and walked 3p
metres, again took right tugy,
and walked 20 metres tq.
wards West. ﬂ]

IL. P walked 30 metres, took 5
left turn and walked 20 m,.
tres; again took left turn anq
walked 30 metres towardg

" East.

Village T. statement I alone are sufficient to an- 108. How is K related to Z 2
M1 Village M is to the north east | SWer the question, while the data in I. Z and P are the only sig. y¥
of Village J and north of Vil- | statement II alone are not sufficlent ters of D. i
lage 2, to answer the question. II. D's mother is wife of Ks
(1) Only m1 Give answer (2) if the data in father.

(2) Oniy H and 11
(3) Al I, Il and HI are required
to answer the question
{4) Ouestion cannot be answered
even with all I, 1T and Ij|

{5} None of these

statement II alone are sufficient to
answer the question, while the data
In statement [ alone are not sufficient
to answer the question,

Give answer {3) if the data ei-
ther in statement | alone or in state-

[
Directions (106-111): Each of it
the questions below consists of g Ques. I
tion and three statements numbereg
L, Il and HI given below it. You have to
decide whether the data provided 1y
the statements are sufficient to answer

89. On which day of the week start- ment Il alone are sufficient to answer | the q;estl:n. Read all the three state. ]
ing from Monday did Manoj visit the question. ments an (BPs PO/MT
Chennai 7 Give answer (4) if the data giv- CwE

I. Manoj took leave on Wednes- Exam. 17.08.2017)
day.

Give answer (1) if the data in
Statements I and If are sufficient to
answer the question, while the data
in Statement 111 are not required to
answer the question

Glve answer (2) if the data in

en in both the statements [ and Ij to-
II. Manoj visited Chennai the | £°therarenot sufficient to answer the

day after his mother's visit | question, and
to his house Give answer (5) if the data in
{ IIl. Manoj's mother visited | both the statements [ and It together
Manof's house neither on | are necessary to answer the question.

oonday noronThursday | 101. Among M, P, T. R ang w each | Zatements | ana tl o ictent to 1
(1) Only I and I being of a different age, who is in Staet eme;:lllll €s c:ln’t:' ﬂ?re deto auf
(2) Only I and I1 the youngest? swer th questizl: ot requ an 0
((:l) Ellmly ;Iandduli . tred L. Tis younger than only P ang Give answer (8) if the data in
‘ t0 answer the gt : Statements I and 11l are sufficient to
(5) Question canmo tbe IL Mis Younger than T and old- | answer the question, while the data
even with all I, If and [ er than R. In Statement I are not required toan- [
' N swer the question;
100. How 13 ‘g0’ written | delan- | 102. How is ‘gone written in a code '
guage? 8 7 acodelan language? Give answer (4) If the data in

. ent
L ‘now or never again’ is writ. either Statement I alone or Statem

L. ‘you will be gone' is written

] ' Il alone or Statement 111 alone are suf
:sg eal]s tom ka na sa’ in that as 'ka pa ni 82’ in that code ficient to answer the question. .
T ‘'you come agafji now' is writ ‘ ' Give answer (8} if the data in
ten as Ja ka ta g 1 that: IL. “he will be there’ 1g written | all the Statements1, 1T and 111 togeth-
code language | as Ja da ka nf’ in that code | er are necessary to answer the ques:
language. " | tion.
{ S I
- .L_B_PRE-S. . IW



\.:'/’p—w-plc P. Qc R S.T

,w““vg le;l jives on a different

f
e :,"d:,;fb . 8 god d:‘fjx,tw building hav-
gyt goer floors numbered one to
315% : mg"‘gmmdﬂoornsnumbmd
l:iu‘e gx floor above it, number 2
3, the on and the topmost floor
'!elt "f::hmd 6}. Who lives on the
n i floor?
\ ere Is only one floor be-
Uon, @ {ween the floors on which
8t 4 R and Q live. P lives on an
‘iw'ﬁ even numbered floor,
:k;?k 1 does not live on an even
. pumbered floor. Q lives on
3‘51[% an even numbered floor. Q
A does not live on the topmast
floor.

@ S tives on an odd numbered
floor. There are two floors
between the floors on which
§ and P live. T lives on g

flgor immediately above R's
floor.

. There are six letters W, A, R, S,
Nand E. Is ‘ANSWER' the word
formed after performing the fol-

lowing operations using these six
Jetters only ?
@ E is placed fourth to the
right of A. S is not placed
immediately next to either A

or E. '

0 Risplaced immediately next
(either left or right) to E. W

is placed immediately next
(either left or right) to S.
i} Both N and W are placed
immediately next to S. The
word does not begin with R.
Als not placed immediately
next to W,

8, Point D is in which direction with

respect to Point B ?

() Point A I8 to the west of
Point B. Point C is to the
north of Point B. Point D is
to the south of Point C.

) Point G is to the south of
Point D. Point G is 4m from
Point B. Point D is 9m from
Point B.

() Point A is to the west of
Point B. Point B is exactly
midway between Points A
and E. Point F is to the
south of Point E. Point D 18

—{ DATA SUFFICIENCY |~
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109. How is ‘one’ cod
ed in th
1 o e code

M ‘one of ita kind' 1=
. s coded as
mPl_kofe'and‘lnlundand
kocaa' h' 18 coded as ‘ga to ra

{f) “its point for origin’ ts coded
as 'ba le fe mi’ and ‘make a
Point clear’ is coded as ‘yu
si mi de’

(M) ‘make money and cash’ is
coded as 'to mi ru hy' and
‘money of various kind' is
coded as ‘qu ko 2o hy’

110. Are all the four friends viz. A, B,

C and D who are sltting around

z:;rcdar table, facing the cen-

M B sits second to right of D.
D faces the centre. C sits
to immediate right of both
B and D.

A sits to immediate left of
B. C is not an immediate
neighbour of A. C sits to Im-
mediate right of D.

(M) D is an immediate neigh-
bour of both A and C. B sits
to the immediate left of A. C
sits to the immediate right
of B,

111. Read the following information

carefully and answer the ques-
ton which follows :

Farmers found using chemical
fertilizers in the organic-farming
- area of their farms would be
heavily fined.
Which of the following state-
ments is an assumption implic-
it in the given statement?
(An assumption is something
supposed or taken for granted.)
(1) Chemical fertilisers harm
the crop.
(2) Afarm's area for organic and
chemical farming is differ-
ent.
Farmers who do not use
chemical fertilizers in the
chemical farming area would
be penalized as well.
All farmers undertake both
these kinds of farming
(chemical as well as organ-
fc) in their farms,
Organic fertillzers are
banned {n the area for chem-

fcal farming,

(m

1t

@

(5)

to the west of Point F.

4__45-&_[ DM aaa )

Dircctions (112-116) : Each of
the following questions below
of a question and two statments num-
bered I and II given below it. You have
to decide whether the date provided
in the statements are sufficlent to an-
swer the question. Read both the state-
ments and
(IDBI Bank Qfficer Em.lB.OO.SOIZJ

Give apswer (1) if the data in
Statement I alone are sufficient t0 al;ll;
swer the question, while the data :
statement II alone are not sufficlent

r the question.

© ans;:’e an:lwer (2} If the data in

Statement 11 alone are gufficient to

answer the question, while the data

in statement I alone are not sufficient

er the question.

o ans(\:l” an;lwer (3) if the data in

either Statement 1 alone or statement

II alone are not sufficient to answer

estion.

the Ql:.‘rive answer (4) if the data in

both the Statements I and 1l are not

sufficient to answer the question.

Give answer (8} if the data in
both the Statements I and Il are to-
gether necessary to answer the ques-
tion.

112. Consider three frlends A, B and
C and their professions doctor,
architect and engineer (not nec-
essarily in the same order}. Who
Is a doctor amongst these three ?
I. Bisan architect. Alsnotan

engineer.

I, Either A or B is a doctor.

Etither A or C is a doctor.

113, How many females are there in
the family of four people (P, Q,
R and S-consisting of a married
couple and two children)?

I. Pis the father of S. S is the

sister of Q.
II. Ris the mother of Q.
114. What is the code for “writing pa-

per"?

L. “Read a paper” is written as
“817". and writing”
is coded as *624".

II. “Writing with pen” is written
as "453", “Paper and pen"” is

written as “723",
118. A, B, C, D and E are sittingin a
straight line facing North, Who
;nlt:? third from right end of the

1. Asits second to left of B, B
sits second to left of C.

II. Bis animmediate neighbour

of both E and D. Neither E

nor D sit at any of the ex-

treme ends of the line.

i
i
i
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Is Neha's birthday ? {Monday

that Neha's birthday 1s on

humbered I, i1

sufficient to answer the question :

wife of J’s nephew.

of T.
HIL.B is the wife of D, D 1s the
father of N. D has two chi]-
dren.

{1) Only I and 11
(2) Al 1, IT and I are required
to answer the question

(3) Only L. and 1]
(4) Questions cannot be an-
swered even with all I, IT and
m

{6) OnlyIand 11

118. How many students are there In

the class ?

L. There are more than 22 but

less than 36 students in the

class,

IL. If students of the class are

divided into groups each

group has exactly 11 stu-
dents. '

IIL. There are more than 29 byt
less than 45 students in the
class,

(1) Only I and 11

(2) Only I and either| or Il are
required to answer the ques-
tion

(3} Only II and 111

@AUNL I and It are required
to answer the question

(5) All1, I and 1N are not suff.
clent to answer the Question.

118. On which day of the same week

be-
Ing the first day of the week)?

I. Ramesh correctly remem-

bers that Neha's birthday s

~, on a day after Tucsday, but

before Friday of the same

. Kiran correctly remembers

day after Monday, but before
Thursday of the same week,
Directions (117-118) : Each of

the questions below consists of a
question and three statements

and I given below 1t.
You have to decide whether the data
provided in the Statements are

(IBPS Bank FO/MT

CWE-111, 26.10.2013)

117. Who {s the daughter in law of B?
L. listhebrotherof D. S 1s the

IL R fs the brother of N. T is
the son of N. S is the mother

—{ DATA SUFFICIENCY |}

TN

/

1

Directions (2118-121) : Each of
the questions below consists of a ques-
tion and two statements numbered 1
and I given below it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the
question. Read both the statements
ary] —

(BOB Manipal School of Banking

Officer Online Exam, 14.08.2014)

Give answer (1} If the data In
Staternent I alone are sufficlent to an-
swer the question, while the data in
Statement II alone are not sufficient
to answer the question.

Give answer (2) If the data In
Statement IT alone are sufficient to
Anawer the question, while the data
In Statement I alone are not sufficlent
to anawer the question,

Give answer (3) If the data ei-
ther in Statement I alone or in State-
ment If alone are sufficient to ansvwer
the question.

Give answer (4) if the data even
in both Statements I and Il together
‘are not sufilcient to answer the ques-
tion.

a

Give answer (8} if the data in
both Statements I and I together are
necessary to answer the question,
119. Among five persons - M, N, O,
P and Q - sitting around a cir-
cular table facing towards the
centre, who is second to the left
of M ?

1. There are two persons between
Pand O. Only one person is sit-
ting between O and Q.

I, Pis an immediate neighbour of

N. Only one person is sitting be-

80n s sitting between P and O.
120. There are six persons namely,
U V. WX, Yand Z. How is X
related to Z ?

I. U 1s mother of V. V is hushand
of W. Y is mother of Z. V is
grandson of X.

I.. W i3 mother of X, V is father-
In~law of Z. Z 1s daughter-in-
law of W. X 1s brother of U. U is
wife of Y.

121. Seven events - A, B,C,D.EF
and G - were organised on dif-
ferent days of the same week
starting from Monday and end-
ing on Sunday but not necessar-
ily in the same order. Which

évent was organised on Sunday ?

tween N and Q. Only one per-

T, A

L 'Ihereweretwuevenubetw .'i't'

A and B. Event A was Oraniaey
after event B. Eventquoh
ganised immediately befoze
event D. Event E waa OT@aniaey |
on Wednesaday.
Event Fwas Organised lmn\edl..
ately before Event C. There Way
only one Event between ¥ ang
A. Event G was organiseq on
Monday.
the questions below consists of g Ques.
tion and two statements n 1
and II are given below it. You haye to
decide whether the data p{gided tn
the statements are sufficlent to angye,
the question. Read both the statementy

end (IDBI Bank
m. 2’!0‘5’01“ 11

Give answer (1) if the datg i l'
Statement 1 alone are suffictent t,
answer the question, while the daj,
in Statement 1l alone are not suficen; !
to answer the question, I

Give answer (2) if the datq iy
Statement 1] alone are sufficlent 1,
answer the question, while the data
in Statement I alone are not suffictent
to angwer the question,

Give answer (3) if the data i
Statement I alone or in Statement i}
alone are sufficient to answer the
question.

Give answer (4) If the data in
both the Statements [ and It together
are not sufficient to answer the ques-
tion

Give answer (3) iIf the data in
both the Statements I and I1 together
are necessary to answer the question,
122, Five persons- M, N, O, P and e

— are sitting around a circular
table but not necessarily in the
same order. Some of them are
facing towards the centre while
others are facing opposite to the
centre:

Who among them is sitting sec-

ond to the left of P ?

I Pis sitting to the immediate

left of N. N faces outside. M
is an immediate neighbour of
both O and P. Three persons
are facing towards the cen-
tre. Q is sitting to the imme-
diate right of O.

IL P faces towards the centre.
O is sitting second to the
right of P. O is an immediate
neighbour of both Q nad M.
Q faces towards the centre.
Both the immediate neigh-
bours of P face outside the
centre.
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f:;?eh \ m w‘ﬁ#‘&lkﬁ&'}—w’-l' b L LR
erof W? Gt TandY.
:f"t @\; py ™ t:lm children J and L. | Statement ;?;l::;e(z} g thﬁ i f Rh? ot dt::fﬂ:rwsofm Yis
1Y 2 1/a daghter-in-law of K. L | answer the question, while the. dats oD, 4 1s son of D. A
O, bq: s aunt of W. W is brother of { In Statement I alone are not sufficiont s son of M.
g %ﬁ, & 5 1s daughter of J. to answer the question, ‘ 191. Seven different plays - T» U. Vs
0y, is sister of W. W 1s son of Give answer (3) if the data in v d Z - were staged on
St . 53 of K. Kis Statement I g a W, X, Y an e
% I J.Jigson O tor-tn lman:e[i] alone are oty olne or {n Statement M geven different days of ﬂl;a but
| Y is sister-in-law o clent to answer th Monday to Sunday.
k:: lta isNd"""ghtcr of K. Question. : :g:ﬁ:?:;aﬂly in the same order.
E““ ) How IS wiew' coded In a certain b Give answer (4) if the data in Which play was staged on
S or 3y | B ode language ? oth the Statements I and If together Wednesday ?
; ! n that code language “the :?ﬁ not sufficient to answer the ques- I. Only two plays were scheduled
:‘?%J L nloemountviCW"iscodedas * aﬁaplayy,playZWassta .
n’f&’%i w3046 and “the view was both gt';t"t’:"“ (3) if the data in immediately bef:dfc the Playte'
. cavenly” is coded as “2568", atements I and If together Play Z was staged immediate-
%\é []:1 that © ode lan guage “he are necessary to answer the question. ly a).t:tcr the Play U. Play W was
E‘Q I saw the view" 18 coded as 127;Nhat i:ot;le code for ‘reason’ in a staged on Thursday. o af-
la.g'\\ «6721” and “the man admired I ’Ita”th‘ ¢ language ? ‘ II. Four plays were achedu‘lf el
he % view” 19 coded as *0962", + n that code language ‘reason ter the Play Y. Play
f d.,"l persons are standing in tolearn better’ is written as ‘xn staged immediately before the
] g:‘ﬂf 1% almstral@t line facing north, What f: :.lilg’ v:r?tc:;to Iearn study bet- Play W. Play V was st;ged m:.-l
: n as 'zt xn ly rf’. after P) . Play
%% :’ It?; position. of J with respect I :: that code language Ei-rf:::ai.sl:m ﬁ:adr::lz’cheduledhyﬂw PlayY.
0 study important' is written : Each of
®dy,[ . Otsstandingat centre of the as ‘ykxn a) 5 and “to find rea. Dircctions (133-136) : Each of
nc‘ﬂu: line. There are two persons 80N necessary’ is written as ‘st the questions below consists o %e q;led "
9% o poen e | 128, A i gl . Yo have o de-
only one person between J | 128, arn .
mlg T. K is an immediate ina strgjggtll:tenig ?:é'fg"ﬁoﬁ“ﬁ,’fj cide whether the dactla ptrf:ided in ttgg
myt  pegibourof T Kis stand. || s the postion of T from the gt | Salements e auficentio SRS
o ing at any of the e ern end of the line ? ' .
the d—
of the line. I Lis at the middle. U fs to the | 2®
w, I Kis standing at any of the immediate right of L. There are B R e e ss)
! extreme ends of the line, two persons between U and s :
.M' There are three persons be- T. S is to the immediate right Give answer (1) if the data in
T tween S and K. J 1s an im- of T. Statement I alone are sufficient to an-
tag mediate neighbour of S. T is II. O is at the extreme left end. | 8Wer the question, while the data in
e standing second to the right There is only one person be- | Statement II alone are not sufficient
" of J. tween M and O. L is standing | to answer the question.

W} 196 Howis NrelatedtoL ?
i | Kis the mother of M. M is
the wife of Q. N is the broth-

& erof K. L is the husband ofK.
y . Mis daughter of K. K {s the
sister of N. O Is son-in-law

of K. K is wife of L. N is the

son of R.
Directions (127-131) : Each of
thequestions below consists of 2 ques-
ton and two statements numbered I
@dll given below it. You have to de-
Udewhether the data provided in the
ts are sufficlent to answer the
aﬂf‘?ﬂon. Read both the statements

(3:;:1 Officer Exam, 03,09.2014)

, ¢ answer (1) if the data in

alement | alone are sufficient to an-

" the question, while the data in

| cment II alone are not sufficlent
er the question.

exactly between M and S. Tis

an immediate neighbour of

both S and R.

129. Among six persons - A, B, C, D,

E and F - sitting around a circu-

lar table facing the centre, what

is the position of D with respect

toB?

1. Cis sitting third to the right

of F. C is an immediate neigh-

bour of both Aand B. Eis to

the immediate right of B.

F is sitting second to the left

of A. There are two persons

between C and F. B is an im-

mediate neighbour of both C

and E.

130. How is M related toJ 7

I. A is mother of M. M is mar-
ried to T. L is daughter of T. L
is cousin of J. Y is mother of
J. Ris mother of T. R has only
two daughters and no son.

Il

x-__

Give answer (2) if the data in
Statement II alone are sufficient to
answer the question, while the data
in Statement I alone are not sufficient
to answer the question.

Give answer (3) if the data el-
ther in Statement I alone or in State-
ment I alone are sufficient to answer
the question.

Give answer (4) if the data even
in both Statements I and Il together

are not sufficient to answer the ques-
ton.

Give answer (8) if the data in
both Statements 1 and 11 together are
necessary to answer the question.
132. How many persons are there in

a straight line who are facing

North ?

I. Lis standing exactly in the mid-
dle. Lis an immediate neighbour
of both A and 0. Two persons

BPRE-813
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are standing between A and T.
T is standing at the second po-
sition from the left end of the
line. B s standing at the ex-
treme left end of the line,

J I standing at the second po-
sition from the right end of the
line. Five persons are standing
between J and F. There are two
persons between F and K; K is
at one of the extreme ends of
the line.

133. Who amongst the six friends- M,

N, O, P, Q@ and R - is the heavi-
est ?

_ I. O i3 heavier than only two
' friends. P is heavier than Q. P
| is lighter than N,
II. M is lighter than only two
friends. N is heavier than O, N
is lighter than R, P is heavier
than Q. ’
134. Six friends, E, F, G, H, ] and J
are sitting around a circular ta-
ble facing towards the centre,
but not necessarlly in the same
order. Find the position of G with
respect to F.’
I. E is sitting second to the right
of G, Only one person is sitting
between E and I. F is an imme-
diate neighbour of G.
H. There are two persons between
G and H. H is an immediate
neighbour of both [ and E. F is
not an Immediate neighbour of
I
138. What is the code for ‘reason’ in
a certain code language ?
I. In that code language ‘little rea-
son to belleve' is coded as ‘& 4 8
2’ and ‘reason is never little’ is
coded as ‘# & 8 2",
IL In that code language ‘little to
reason now' is coded as ‘& 2 %
4’ and ‘belteve now is problem’
fscoded as*% 88 @".
136, How i8 A related to F ?

I. Als mother of B. D is brother of
B. R is father of D. R has one
son and one daughter, T i3 fa-
ther of R. T is married to F.

II. Fismarried toT. T has only two
children R and C. R is married
to A. A has two children. C is
aunt of B and D.

Directions ( 137-142) : Each of
the questions below conststs of 3 ques-
tion and two statements numbered |

II.

138, Seven people- P, Q, R, S, T, W

—| DATA SUFFICIENCY |-

decide whether the data provided in
the statements are sufficlent to answer
the question. Read both the statements
and —

{IBPS Bank PO/MT
CWE-IV, 18.10.2014)

Give answer (1) if the data in
Statement 1 alone are sufficient to
answer the question, while the data
in Statement [l alonie are not sufficient
to answer the question.

Give answer (2} If the data In
Statement I alone are sufficient to
answer the question, while the data
In Statement I alone are not sufficient
to answer the question.

Give answer (3) if the data in

Statement I alone or in Statement I
alone are sufficient to answer the
question.
Give answer (4) if the data in
both the Statements I and II together
are not sufficlent to answer the ques-
ton.
Give answer (8) If the data In
both the Statements I and II together
are necessary to answer the quesiion.
137. Six friends- A, B, C, D, Eand F-
are sitting around a circular ta-
ble. Some of them are facing
outside while some others are
facing towards the centre, What
is the position of C with respect
toF?

1. Cissitting second to the left
of D. D is facing towards the
centre. F is an immediate
neighbour of both A and D,
E is sitting second to the
right of B. B fs not an imme-
diate neighbour of A. F fac-
s just opposite to that of B,
Two persons are sitting be-
tweenDand E, Dand E are
facing towards the centre. E
is an immediate neighbour of

both C and A. F faces the

same direction as that of D,

D is an immediate nefghbour

of both B and F. F is not an

immediate neighbour of C.

II‘

and X- are sitting in a straight
line facing north but necessarily
in the same order. How many
people sit to the right of P ?

1. Rsits at one of the extreme
ends of the line. T has as

and Il are given below it. You have to

many people sitting on his

L]

— ﬁ
of W. Q does not sit
139, Point M is towards which dire,, }4’
towards west from potnt fﬂﬁ'
2
1.
of point'N; point N {g 4.

1L S sits third to the lep £t
Q@ sits to the t:r‘::i riﬂ’ly .
a‘. !
of the exireme ends ofa&{ ;/D::;:
line. f”w"’ L ¥
tion from point H ? yy’ "‘
I. If a person walks 6 Metrey ""’9;9“:
takes a left turn and wajy i‘b‘ f
6 metres again, he would p,
5 metres away from point iy, ¥
Point M is towards the Nortp,
wards the East of point ¢
and point H is towards the

East of point T.
140, How ‘party’ is written in a cer. dﬂ‘d
tain code language ? ) E
I. Inthatcode language ‘golng | 3‘1
toa party’ is written as‘laf, ]
gine' and ‘for a pasty’ iswyyt. 13
ten as ‘fa di ne'. ot

II. Inthat code language ‘start _ ¢

the party’ Is written as 'ne *

bs am' and ‘going to start' jg .

written as ‘gibs la’. 1
141. How is Ranjay related Parvatj? ‘fuﬂf

1. Ranjay is son of Parvatig %

grandfather's only daughter, .S

II. Ranjay has no siblings, Par. i

vatl has only one brother, '

142. Among M, R, H, D and 8 why gfi

scored the highest marks inan )

Examination ? ]

I. R scored more than D but |

less than S.

M scored less than H and b,
H has not scored the high. I
est marks.

Directions (143-147) : Each of
the followlng questions consists of a ja
question and two statements numbered
I and II given below it. You have to l
decide whether the data given in the
statements are sufficient to answer the
question. Read both the statements and
choose the most appropriate option.

{Bank of Baroda Junior ement

Grade/Scale-1 Exam, 18.04.2013)

Mark answer (1) If the data in
statement [ alone are sufficlent toan-
swer the question, while the datain
statement II alone are not sufficlent
to answer the question.

Mask answer (2) If the datain
statement Il alone are suffictent toat-
swer the question, while the data It
statement | alone are not sufficlent0

| answer the questfon.

II‘ ]

right, as to his left.

-M—nn— a =
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g, g,y (3) If the data ei-

e e‘e,( b, ﬂ"".en. + { alone or in state-
gy ¥ ;-'.‘ p sate® are sufficient to answer

3 qb‘. ||! ;h"rt It aloné

> d -

(#) If the data in
hy Y, | O sk ":n':;r and II together are
o s swer the question,

m t 1o ar
g fwﬁd‘" (8) If the data in
he wot  ements 1 and If together

145, Point M is in which direction with
respect to point A ?
I’

I

)
ool e
m °% { ol to answer the question,
o mong

| #) 4E each'studying in a differ-

T 44, Pour friends viz. P. Q. Rand §

II. Qsits to the immediate right

¥ LS v r Ulll/l./l'll/l./uuu. FF L5 T WY F b FLFs WL

five friends A, B, C, D

 gtandard viz. 1st, dth, 7th,
e -ad 10th, in which standard
¢ study ? (Junior' In the

nts implies a lower stan-

termne
;:.d and ‘senior’, higher stan-

B studies in a standard
which is an odd number. C
is B's senior but does not
In. Only three persons are se-
plor to A. B is senior to A
but junior to C.

I

are seated around a circular ta-
ple. Some are facing the centre
while some face outside (i.e. op- |
ite to the centre). Which di-
rection is R facing (centre or out-
side) ?
I. R sits second to the left of
8. R sits to the immediate

right of Q.

of R. P is an immediate
neighbour of both R and S.

A person starts walking from
point A, walks 5 m towards
North and then takes a right
turn and walks 8m. He then
takes a left turn and walks
for 3 m before stopping at
point Z. Point M is 12 m

away from point Z. statement I alone are not sufficient to
A person starts from point A | answer the question.
and walks 9 m towards the Mark answer (3) If the data either

West. He then takes a right
turn and walks 5 m. He then

takes a final right turn and | tjon,

stops at point R after walk- Mark answer (4) If the data in both
ing for 5 m. Point M is t0- | statements I and II together are not
wards the North of point R. | gufficient to answer the question.

in statement I alone or in statement I
alone are sufficient to answer the ques-

Y

=1 DATA SUFFICIENCY |

148. Is O the father of A7
. Mis the mother of A and B.
C is the only stster of A. R is
married to B. R is the daugh-
ter-in-law of Q.

+ @ has only one daughter C.
Cis the sister of A and B. B
is the son of M. R is the
daughter-in-law of M.

147. Six persons are sitting In two
parallel rows containing three
persons each, in such a way
that there is an equal distance
between adjacent persons. In
Tow - 1, A, B and C are seated
and all of them are facing South.
In row - 2, P, @ and R are seat-
ed and all of them are facing
North. (Therefore, in the given
Seating arrangement each mem-
ber seated in a row faces anoth-
er member of the other row.
Who amongst A, B and C faces
R?

" I. A faces the one who sits to
the immediate right of R. A
is not an immediate neigh-
bour of C.

Only one person sits be-
tween @ and P. The one who

- faces B sits to the immedi-

ate left of Q.

Directions {148 -1532) : Each of

the following questions consists of a

question and two statements numbered

I and Il given below it. You have to

decide whether the data given in the

statements are sufficient to answer the
question. Read both the statements and
choose the most appropriate option.

(BOB Junior Management

Grade/Scale-1 Exam. 18.04.20185)

Mark answer (1) If the data in

statement I alone are sufficient to an-

swer the question, while the data in
statement II alone are not sufficient to
answer the question.

Mark answer (2) If the data in

statement 11 alone are sufficlent to an-

swer the question, while the data in

IL

the statements | and 1 together arc
necessary to answer the question.
148. Among five friends A, B,

149. Four friends viz. P.

Mark answer (8) If the data in both 5_

¢, Dand

t
E each studying in a differen
standard viz. 1st, 4th, 7th, 8th

and 10th, in which
C study ? (Junior' in the s:.jatc-
ments implies a lower stan
and ‘sentor’, higher standard)
1. Bstudlesmastandardwhlc'h
is an odd number. C 18 B's
senior but does not atudy in
10th standard.

e-
Only three persons are 8
nior to A. B is senlor toAbut

junijor to C.

IL

Q. Rand S

ta.
are seated around a circular

ble. Some are facing the centre .
while some face outside {i.e. op-
posite to the centre). Which di-
rection is R facing (centre or out-

side) ?

I. Rsitssecondtothe left of S.

R sits to the immediate right

of Q.

Q sits to the immediate right

of R P is an immediate neigh-

bour of both R and S,

150. Point M is in which direction with

respect to point A ?

I. Aperson starts walking from

point A, walks 5 m towards

North and then takes a right

turn and walks 8m. He then

takes a left turn and walks
for 3 m before stopping at
point Z. Point M is 12 m away
from point Z,

A person starts from point A
and walks 9 m towards the
West. He then takes a right
turn and walks 5 m. He then
takes a final right turmn and
stops at point R after walk-
ing for 5 m. Point M is to-
wards the North of point R.

181. Is Q the father of A ?
I. Mis the mother of A and B.

C is the only sister of A. Ris
married to B. Risthe daugh-
ter-in-law of Q.

Q has only one daughter C.
C is the sisterof Aand B. B
is the son of M. R is the

IL

II.

IL

-

——y—
F

daughter-in-law of M.

1
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153, Sbcpexmareatttﬁzgmtwomr-
alie! rows contatning three per-
sons each, in such a way that
there is an equal distance be-
tween adjacent persona. In row
= 1, A, B and C are seated and
all of them are facing South. In
row -2, P, @ and R are seated
and all of them are facing North,
{Therefore, in the given seating
arrangement each member seat-
ed In a row faces another mem-
ber of the other row. Who
amongst A, B and C faces R ?
L. Afaces the one who sits to the

immediate right of R A fs not |

an immediate neighbour of C,
Only one person sits between
@ and P. The one who faces B
sits to the immediate left of Q.

Directions (183 - 187) : Each of
the following questions, consists of a
question and two statements numbered
I and I given below it. You have to

iL

I1. ‘No Smoking Area’ is written
as ‘no se do’ In that code lan-
guage.

186. Who is the youngest among A,

B, C, D and E?

/s

;!
o

{ DATA SUFFICIENCY } ——
ow many dresses docs P have? | 11 @ stands exactly in the 14
IM::I P has two dresses less than the line. P and M are s ™ ‘::14
what T has. . ncighbomofg.onymh‘ "Alj
1. M has seven dresses, which son stands to the left of p, |
are thirty percent less than luo.Howfarlspointhmpotms?
what T has, ) L PointSls?mtoﬂlesm“hq
188. How is ‘smoking written in a code point M. Point T is 4 m ¢, the
language? east of peint S. Mtp'54mto
I. ‘Thanks for not smoking' is the north of point T. Mﬂtghh
written as ‘be je we no' in that the west of point P.
code language. I Pomtmzm,mtothewreatofwnt

Q. PointSls4mtothcnorth°{
point Q. Point X is 4m to . ¢
north of point R. Point M 15 lig

to the east of point X.

I. Bisyounger than C and D.
I. A s younger than Cbut older
than E.
187. How many sons does P have?
I. Cis the brother of B and A.
II. Phas three children of which

B is a girl.
Directions (158-189) : Each of

Directions (1-8) : Each of the
questions below consists of a g

and two or three statements given
below it. You have to decide

the data provided in the statement,
are sufficient to answer the questiog,
{SBI Associate Banky pg

i
SBI PO EXAMs] r

l‘-

decide whether the data provided in the following questions, consists of a !

the statements are sufficient to answer question and two statements numbered Exam. 14.02.1
the question. Read both the statements I and It given below it. You have to | Who is the uncle of L? oon
and mark the appropriate answer. decide whether the data given in the ‘ b £ M. is £
UBPS Bank PO/MT CWE-V | statements are sufficient tq answer the () P, brother of M, is father of
Main Exam. 91.10.2015) | question. Read both the statements and L. M is father of S.
Mark answer (1) If the data in mark the appropriate answer. {B) R is father of L's cousin
statement I alone are sufficlent to an- {IBPS Specialist Officer (1) A alone is sufficient
(Marketing) CWE 01.02.2016) (2) B alone is sufficient

swer th ., while th .
¢ Jucstion ¢ data In Mark answer (1) If the data in

msmmﬁgmrmmmmﬂm statement I alone are sufficient to an- (9 Either A alone or B i
sufficient :
2 If swer the question, while the data in
Mark snswer (2) If the data in - statement II alone are not suffictent to (4) Both A and B together are no;
statement H alone are sufficient to an- answer the question, sufficient,

(5) Both A and B together are
n

Mark answer (2) If the data in

swer the question, while the data in
statement Il alone are sufficient to an-

statement I alone are not sufficient to

answer the question. - swer the question, while the data in
Mark answer (3) Ifthe data either | statement I alone are not sufficient to |  2- Who I8 to the North-East of R?
in statement I alone or in statement II | answer the question, (S is to the South-East of N,
alone are sufficient to answer the ques- Mark answer (3) If the data either . Who is to the South-West o
tion. in statement I alone or in statement n P, who is to the North of Q.
Mark anewer (4) Ifthe data inboth | fon® 2® Suficient o answer the ques- BT s to the North-West of§ |
statements I and Il together are nat Mark answer (4} If the data in Wwho is to the South of P.
sufficient to answer the question. statements | and (ll together amb:;; () R. who is to the North of 5,
Mark anewer (%) if the data in both sufficient to answer the question. 1s midway between N and g,
the statementa I-and Il together are | Mark answer () If the data in both N being to the West of R,
necessary to answer the question. the stateni?ts I angl;! together are (1} Al1 A, B, ¢ together are
163. P.Q. R, S and Tare sitting around | Necessary to answer question, required.
a circle facing towards the cen- | 156 How many persons are standing 2) Only A and C together are
tre of the circle. Wh In straight line (Note : All are fac- ufficl
immediate right of T7 8 to the Ing North)? et
L. R QandSarcmthesame L Qrsttﬁndlslﬂﬂrdfmmtheﬂghtend “ sgll’ﬁﬂzleanndCtogemerm
of the line. Only one person ’
resl F :llmt: l:;q:r?ce to the stands between Q ang S. S (4) Either A and C together orB
I Pis s . stands at the extreme left end of and C together are sufficient
+ Pisbetween S and T, the line, (5) None of these
—~{_BPRE-816 - —
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0% \ Mmuchg:g dsfnhl:hg::;zggg {1} Only A alone 1s sufficient
leg 3o Wmnjmcsh, Sohfl and @ Either A alone or B and ¢
N dore B, together are sufficient,

“I:] Akb“"’h invested Rs. 800y. (3) Only B and C together are
4 for nine months. his profit suflicient

3
was 3 times that of Sohil's

and his investment wag 4
that of Animesh,

& Sohll invested for

one year and in the

on 1:2 respectively,

() The three together got Rs,
1000/- as profit at the year
end.
()Only A and B together are
suﬂ]cicnt.
) Only A and C together are
sufficient.

(JA B andtc together are not

(# A, B and C together are not
necessary.

(5 None of these

iy 4 Whatls the rank of Suresh in the

class of 17 students?

o] (A Nitin, having 13th rank from
v the bottom, is six ranks ahead
of Bhupesh, who is two
' ranks behind Suresh.
(8) Bhupesh is four ranks ahead
; of Kamlesh.
¢ (C) Bhupesh is two ranks behind
Suresh and Kamlesh's rank
is 15.

(1) Oniy A alone is sufficient.
{2) Either A alone or B and C
together are sufficient.
3) Only B and C together are
sufficient.
4) Only A and C together are

sufficient.

(5) None of these

8. Which code represents “Them” in
the given code language?

{A) In the code language ‘Se Me
Ye' means ‘Tell Them Young'
and ‘Me Yo Na Ye’ means
‘Wise Young Sharp Tell'.

(B In the code language ‘Na Ki
Pa Lo’ means ‘Clever sharp
Come Tomorrow’ and ‘Ki Po
Se Ye' means ‘Bring Clever
Young Them'.

(O In the code language, ‘PaNa
Se Ki Te’ means ‘Clever Sharp
Come Them No' and Ki Ni Pa
BeTe Na' means ‘Yellow Come

{4) Only C alone is sufficient

(5) Either A alone or C alone Is
sufficient,

Directions (6-20) : Each of the

questions below consists of a ‘ques-
tion and two statements numbered |

cide whether the data provided in the

glt:;stion. Read both the statements

(8BI Associate Banks PO
Exam. 16.07.2000)
Give answer (1) if the data in state-
Inent I alone are sufficient to answer
the question, while the data in state-
ment Il alone are not sufficient to an-
swer the question,
Give answer (2) if the data in state-
ment Il alone are sufficient to answer
the question, while the data in state-
ment I alone are not suffictent to an-
swer the question.
Give answer (3) if the data either
in statement I alone or in statement I
alone are sufficient to answer the ques-
ton.
Give answer (4) if the data even
in both statements I and II together
are not sufficient to answer the ques-
tion.
Give answer (8) if the data in both
statements I and II together are nec-
essary to answer the question.
6. Who is the shortest among P, g,
R,Sand T?
Statements:
I. Qistaller thanT but shorter
thanSandR. :

II. P is not the shortest,

7. On which day of week Mchan did

reach Delhi?

Statements:

1. Mohan left Mumbat by train
onTuesday. .

I1. Mohan stayed for one day in
Jaipur -and completed his
journey to Delhi in two days.

8. How many sons does P have?

Statements:

I. T and S are brothers of R,

I, The mother of S is the wife

Sharp Run Clever No'.

of R's father.

[ ] __m m .

and I given below it. You have to de-

ts are sufficient to answerthe

9. What does “ja”" represent in a
code language’ :

Statements :

I. In that code language “pikja
sok pot™ means “you can stay
here”.

1. In that code language “jo 8ok

* ton te” means "you may come
P hich di
10. City M is situated In w. a

?ect{lon with respect to City D?

Statements !

I. Clty K is to the south of City P.

11. City M is to the north of City

R, which is to the West of City

D.

Directions (11-19) : Each of the

questions below consists of 2 question

and two atatements numbered 1 and
I given below it. You have to decide
whether the data provided in the
statements are sufficient to answer the
questions. Read both the statements
and.

(8B1 Banks PO Exam. 20.08.2000)

Give answer (1) if the data In
statement I alone are sufficient to
answer the question, while the data
in statement Il alone are not sufficient
to answer the question.

Give answer (2) if the data In
statement [I alone are sufficient to
answer the question, while the data
in statement 1 alone are not sufficlent
to answer the question. .

Give answer (3) if the data either
in statement | alone or in statement I
alone are sufficient to answer the
question.

Give answer (4) if the data even
in both statements I and Il together
are not sufficient to answer the
question.

Give answer (8) if the data in both
statements I and II together are
necessary to answer the question.

11. Which direction Shashidhar s
facing?

Statements :

L. In the early morning Shash-

idhar was standing In front
of a puppet and the shadow
of puppet was falling to the
right of Shashidhar.
In the early morning Shash-
idhar was standing on the
ground. His shadow was
falling behind him when he
turned to his left,

TIL




questions given below consists of a
question and two statements num-
bered I and I given below it. You have
to dectde whether the data provided
in the statements are sufficient to an-

swer the question. Read both the state-
ments and —

statement I alone are sufficient to
answer the question, while the data
In statement II alone are not suffi-
clent to answer the question,
. .Glve answer (2) : if the data in
statemeat II alone are sufficient to
answer the question, while the data
in statement I alone are not suffi-
cleat to answer the question.

el L ¥
-

12, Whoamomgﬂ. B, C. D and E does
teach History?

Statements :

I. Each one of them teaches

only one subject. B teaches

Mathematics, while E teach-

€s Sclence. A or C does not

teach Geography. A or D does

not teach English.

C and E are teachers of

English and Sclence

respectively and A is the

teacher of Mathematics,

13, Inamwo{boysfadngSouthwho
Is immediate left to Ramakant?

Statements :

I. Suresh Is immediate right to

Chandrakant, who is fourth

to the right of Ramakant,

. Suresh is third to the right

of Ramakant and Naresh Is

second to the right of Suresh.

14. Who has secured the maximum

marks among six friends- A, B,

C.D, E and F?

Statements :

L. B secured less marks than
that of A and F but not less
than C, DandE.

Ii. F secured more marks than

B but not as much as that of

A,

18. What will be the posttion of hour

hand of a clock at 7.30 PM?
Statements ;

. There are English alphabets

on the dial of the clock in-

stead of digits.

H. Thehourhand isatPat7 0O’
clock.

Directions (16-20) : Each of the

11

(6Bl Banks PO Exam. 11.02.2001)
Give answer (1) : if the data in

and

LFNF LW F LS VAo L e FV L5 WY
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20, When was the election of the

questions below consists of a ques-
tion and two statements numbered I

cide whether the data provided in the
statements are sufficient to answer the

question. Read both the statements
and —

- DATA sUFFiCIENSY |—

F I WL

Give answer (3) : If the data el-
ther in statement I alone or in state-
ment IT alone are sufficient to an-
swer the question,

Give answer {4) : if the data even
in both statemonts I and It together

are not sufficient to answer the ques-
ton; and

Give answer (5) : if the data in

both statements T and 11 together are

necessary to answer the question.

16. What does ‘pit’' means in a cer-
tain code language?

1. ‘ja na pit sod’ means ‘beauti-
ful bunch of flowers' in that
code language,

‘na sod pa tok’ means ‘huge
bunch of twigs’ in that code
e

17. Towards which direction is P from
R?

1L

I. 8 is towards west of M and
north-east of R.

II. P is towards south of S.
18. How is M related to R?

I. Pand R are children of K who
is wife of M.

II. N's sister M is married to R's
father.

19. Among @, R, S, T and V who is
third from the top when they are

arranged in ascending order of
their height?

I. T is taller than Q and V but
shorter than R, -

II. Rand S are taller than T and
 1s shorter than T but taller
than V.

President of the society held?

I.  Suresh submitted his nomi-
nation for the election on 13th
and left on 17th for Delhi the
day after he won the election.

II. The nominations were scru-
tinised on 14th and the bal-
lot papers were prepared on
the following day.

Directions (21-23) : Each of the

II given below it. You have to de-

(SBI Assoclate Banks PO

Exam. 21.07.2002)

anawer the question, while the daty i,/;‘
answer the question, while the data
alone are sufficlent to answer the f
v
the question, and /
)
R?
L. Qisheavier than Rand Tbut
IL
and is heavier than T and p,

Give answer (1) if the daty
statement I alone are sufficient o
In statement I alone are not sufficler
to answer the guestion. f‘:
Glve answer (2) if the data i, /!
statement Il alone are sufficient ¢, ;;&
I
in statement 1 alone are not suffictan f
to answer the question
Give answer (3) If the datg elther d‘
In statement I alone or in statement |y
question, ,
Give answer (4) if the data giyen
in both the statements | anq
together are not sufficient to angwe; |
Give answer (5) if the data in bog,
the statements I and II together are |
necessary to answer the question, '
21. Towards which direction is A frory |
L. Q is exactly to the east of M
II. Mis exactly to the south of R
22. Who among P, Q, R, Sand T is
the heaviest ?
lighter than only §
R is third from the top when
they are arranged in de-
scending order of their weight
23. On which day of the week dig
Schan visit Chennai ?
. Sohan returned to Hydera-
bad from Chennai on Thurs-

II. Sohan left Hyderabad on Mon-
day for Chennai
24. How many daughters does M
have ?

L. Pand Q are the only daugh-
ter of N.

I1. D is brother of P and son of
M.

25. How is ‘now’ written in a code

language ?

I. ‘now and then'’ is written as
*ka da ta’in that code language
‘then you come’ is written as
‘da ma pa’ in that code lan-
guage

Directions (26-28) : Each of the
questions below consists of a ques-
tlon and two statements numbered|
and Hl given below it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the
question.

Il.

4“[ RPRAL_Qwoel—n Arsry—s

(SBI PO Exam. 09.01.2006)
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an ‘be t [ t:}é"l‘z:::mwzﬂe the data in

G
lh:w% ‘ :ﬁ.ﬁ;ﬂ?u alone are not sufficient
lll /

ufficient to an-

uestlon-
5‘:,15"""’2:;; {2} If the Statement
ent to answer the

; ot S;d’_me the data in Statement
I st ot sufficlent to answer

e £
J M.
e aewer (3) if the data elther
@7’ .| alone or in Statement
are sufficient to answer the

pSt
1 en
answer (4) If the data in
‘::‘?smtements land I together
:f:lot sufficient to answer the ques-
4 hthe statements I and II together
by :; to answer the question,

CAUTION : Do Not mark your an-
EWH er unless you consider hoth the
d o ta carefully.
T 26, How Is M related to N ?
0 1. P, who has only two kids, M
by & N, is the mother-in-law of
@, who is sister-in-law of N,
?g" II. R, the sister-in-law of M, is
& the daughter-in-law of S, who
:ﬁ 37. How many students from the
class secured First Class ?
X 1. The number of students se-
Y curing First Class was equal

to the number of students
fafled and was one-third of
the number of students
passed In the class of 120
students.

I 'i-th of the girls, i.e. 10and

%thoftheboyssectired 1st

class in the class of 120 stu-
dents. '
28, What ie the code for ‘mangoes’ in
acode Janguage ?

I In that code language ‘Te Le
Pa Na' means ‘You eat many
mangoes’ and ‘Le Na Da’
means 'You sell mangoes’.

II. Inthe code language ‘Ge Na
Se La Le’ means They eat ba-

nanas and mangoes’ and ‘Ne
De Le La' means ‘Who oth-

(1) if the data in

=1 DATA SUFFICIENCY |

Directions (20-33) : Each of the
questiona below consists of a ques-
ton and two statements numbered |
and II given below it. You have to de-
cide whether the data provided in the
statemnents are sufficient to answer the

;q:;stlon. Read both the statements

(3BI PO Exam. 26,11.2006)

Give answer (1) : f the data In
statement I alone are sufficient to an-

swer the question, while the data in

statement 11 alone are not sufficlent

to answer the question.

Give answer (2) : if the data in
statement II alone are sufficient to an-
swer the question, while the data in
statement I alone are not sufficlent to
answer the question.

Give answer (3) : if the data ei-
ther in statement I alone or in state-
ment II alone are sufficient to answer
the question.

Give answer (4) : if the data even
in both statements I and II together
are not sufficient to answer the ques-
ton.

Give answer (8) : if the data in
both statements I and II together are
necessary to answer the question.
29. Which village is to the North-East

of village ‘A'?

1. Village ‘B’ is to the North of
village A, villages C and D are
to the East and West of vil-
lage B, respectively.

1I. Village ‘P’ is to the South of
village ‘A’ and village ‘E’ is to
the East of village ‘P, village
‘K’ s to the North of village
‘P.

80. Can Rohan retire from office ‘X’
in January 2006, with full pen-
sion benefits?

I. Rohan will complete 30 years
of service in office X’ in April
2008 and desires to retire,

II. Asper office ‘X rules an em-
ployce has to complete mini-
mum 30 years of service and

3 years to complete age of 60.
81. Among fivefriends P, Q, R, Sand
T, who ranks third in terms of
salary obtained by them?

1. Tasalary is more than Pand
@ but not more than 8,

ers eat bananas’.

II. R's salary is lowest among
them

attain age of 60, Rohan has

Mlaﬁm

832. How is P related to @7

1. J has two daughters, ORc of
them 'R’ 1s masried to 'P'-

1. @ 1s the mother of 5", the
younger sister of ‘R.

93, Which word In the code language
means ‘flower'?

I. ‘de fu la panc’ means rose
flower is beaullu and ia gise
means ‘beautiful tree’.

1I. ‘de la chin’ means ‘red rosc
flower' and ‘pa chin’ means
‘red tea’.

Directions (34-38) : Each of the
questions below consists of a qucdsi
tion and two statements numbere
and II given below it. You have to ctll:-
cide whether the data provided in thé
statements are sufficient to answer t.l'::
question. Read both the statemen
and (8B1 Assoclate Banks PO

£xam. 07.01.2007)

ive answer (1) if the data in

ltafement I alome are sufficient to

answer the question, while the data

in statement II alone are mot suffi-
clent to answer the question.

Give answer (2) if the data in
statement II alone are sufficient to
answer the question, while, the data
in statement I alone are not suffi-
cient to answer the question.

Glve answer (3) if the data either
in the statement 1 alone or in state-
ment II alone are sufficient to answer
the question.

Give answer (4) if the data even
in both statements I and II together
are not sufficient to answer the ques-
ton.

Give anawer (8} if the data inboth
statements I and II together are nec-
essary to answer the question.

$4. In which direction is Ravi facing?
1. Ashok is to the right of Ravi.

I1, Samir is sitting opposite of
Ashok facing north.

38. How M is related to K ?

I.. The sister of K 1s the mother
of N who is daughter of M.

I1. P is the sister of M.

38. 1s D brother of 7' ?
[. Tis the sister of M and K.
II. K {8 the brother of D,

37. How many sons does P have ?
1. SandT are brothers of M.

II. The mother of T is Pwho has’

only one daughter.
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38. Who is the tailest among P, Q, R,

II. T fs older than R and younger

SandT? than M.
I. Ristaller than Q and T. 42. Village D in which direction of vil-
II. Tistallerthan Sand Pand$ lage H?
is taller than Q and R. Statements :
Directions (39-43) : Each of the 1. Village H Is to the South of vil-

questions below consists of a ques-
tion and two statements numbered I
and II given below it. You have to de-
cide whether the data provided in the
statements are sufficlent to answer the

sufficient to answer the question. Read
both the statements and

(SB1 PO Preliminary (Tire-1)
Exam. 27.04.2008)

Give answer (1) if the data In
statement I alone are sufficient to an-
swer the question, while the data in
statement II alone are not sufficient
to answer the question.

Give answer (2) if the data In

staternent Il alone are suffictent to an-
swer the question, while the data in
statement I alone are not sufficlent to
answer the question.

Give answer (3) If the data either

in statement I alone or in statement I

alone are sufficlent to answer the ques-

tion.

Give answer (4) if the data in

both the statements I and II together

are not sufficient to answer the ques-
tion.

Give anewer (5) if the data in both
the statements [ and II together are

necessary to answer the question.
38. How is M related to F ?
Statements :
I. F is sister of N who is mother
of R.
II. M has two brothers of which

one is R.

40. On which date in March was
Pravin’s father’s birthday ?
Statements ;

I. Pravin correctly remembers
that his father’s birthday is af-
ter 14th but before 19th
March.

II. Pravin's sister correctly re-
members that their father's
birthday is after 17th but be-
fore 21st March.

41, Among M, N, R and D each hav-
ing different age who {s the young-
est ?

Statements :

I. N is younger than only D
among them.

lage A which is to the South-
East of village D.
I1. Village M is to the East of vil-
lage D and to the North-East of
' village H.
43, How Is ‘food’ written in a code lan-
guage?

Statements : it

I. ‘Always eat good food’ is -
ten asy;a nagpa ta’ in that code
language.

I1. ‘Enjoy eating good food’ 1s writ-
ten as ‘ni ha ja pa’ in that code
language.

Directions (44-48) : Each of the
questions below consists of a ques-
tion and two statements numbered 1
and II given below it. You have to de-
cide whether the data provided in the
statements are sufficlent to answer the
question. Read both the statements
and .

{581 Associate Banks PO
Exam. 07.08.2011)

Give answer (1) if the data in
statement I alone are sufficient to an-
swer the question, while the data in
statement II alone are not sufficlent
to answer the question,

Give answer (2) If the data in
statemnent Il alone are sufficient to an-
swer the question, while the data in
statement [ alone are not sufficient to
answer the question,

Glve answer (3) if the data ei-
ther in statement I alone or in state-
ment II alone are sufficlent to answer
the question.

Give answer (4) if the data even
in both statements I and H together
are not sufficient to answer the ques-
tion.

Give answer (8) if the data in both
statements 1 and Il together are nec-
essary to answer the question.
44. Which bag amongst P, Q. R, S
and T {s the heaviest ?
I. BagQ is heavier than Rand
S. Bag Tis heavier only than
_bagP.
I1. Only three bags are lighter
than R. The welght of bag
@ ts 50 kg which is 2 kg

more than bag R,

——
44, Are all the five friends vig

.
/ f“'qﬁ

B, C, D and E who arg g A

around a circular tabk_.af::teﬁ ﬁ: fll ’:

the centre ? ing 'J e

1. Asits third to the lef o, 7, o
B faces the centre, Dangp | G"‘ﬂ"
aﬂ=,-Irm'ned!.atcru:lg-.l;,.‘-,,.“.a“t ‘a"‘d
each other. C sits S&cang ol
right of E, o | It‘s;‘

i1 D sits second to right of %, g
C faces the centre, : / ﬂ" p
and A are immediate p,
bours of D, B sits izh vs"t‘l
to right of A. / o°

46. In a college five different sub, ﬁ
jects, viz. Physics, Chemhn.y f:;. s
u!

Botany, Zoology and Matherny,

ics are taught on five differen; 4P
days of the same week, m ,,thi
ing from Monday and ending ,, ar
Friday. Is Chemistry taught on 'utei
Wednesday ? P 1
1. Twosubjects are taught pe. ,;qyzi
tween Zoology and Mathe. 7,1
matics. Mathematics , B,
taught before Zoology, \Wl'
Chemistry is taughton th,
day immediately nexttoth, , g
day when Physics is taughy, " ge
Botany is not taught on Fy. ”
day. ) o
I1. Three lectures are sched.
uled between the lectures of e
Botany and Zoology. Mathe. ™
matics is taught immediate. !
ly before Physics. | b
47.1s the time in the clock g |
O'clock now ? p
I. After half an hour, the
minute and the hour hands
of the clock will make an 3
angle of exactly 90° with &
each other. I
II. Exactly 15 minutes back, ¥
the hour and the minute's |
hand of the clock coincided t
with each other. !
|

48. Is F the granddaughter of B ?
I. B is the father of M. M is
the sister of T. T1s the moth-
er of F,
I1. S is the son of F. V is the
daughter of F. Risthebroth- 1.
er of T.

Directions (49-51) ;: Each of the
questions below consists of a ques-
tion and two statements numbered [
and Il given below it. You have to de-
cide whether the data given in the
statements are sufficient to answer the
questions. Read both the statements
and —

(SBI Probationary Officer
L Exam 28.04.2018)

— BPRE-820 ]




1$P§\/ jummsuﬂluhhﬁll_p_v’./: LTS 36 S W Wy 7
i (1) if the data in
1.\.‘@;:, !Mm’ fclent to an. qmm“eﬂmtm-uul: Each of the
Ee g § t '::ﬂm, while the data in | tion and three mm“ of a ques-
) ¥, #¢ '1i alone are not suflicient | 1, Il and IN given beloy 13?23?::?;
N‘ #geﬁ‘" the question. d Whether the data provided in
N* ww.mm(’) if the data in | the are sufficient to answer
g A ﬂ':nmgm&umgméatom- the question.
uestion, while the data in Manag
Eg“:ﬂft feer 08 3 one are not sufficient to o Exaen, 25022014
% o ﬁ‘q"“um(tm f the data et | > \YHO amongst P, Q.R.S.Tand
\ give answer al - V, each Securing different
e yn statement | alone or statement marks, secured the second low-
N:‘, 0% ne are sufficlent (o answer the est marks ?
paore’ L secured
%' Q“dd;ln answer (4) if the data nef- thdPTand o more marks
tement I nor Il together are
\ d‘::" et "30 the questions. ::I V secured the highest marks
lgi¥o qufficien answer if +8 secured more marks than
A qive answer (B) if the data in Pbut less than @
tementa 1 and II together are ' '
g, | g8 (2) Only 1 and I
b | ecessaty to enswer the questions. (2) All 1,11 and I
le are stand ' are required
oy & | 49, Seventeen peop ing to answer the question
%i in a straight line facing south: (3) Only Il and mt
gy | Whatls Bhavna's position from {4) Question cannot be an-
by |  theleft end of the line ? swered even with all I, Il and
| |, sandeep is standing second to oom '
B’ the left of 3h;etal. Only five (5 Onlyland I
i ople stand between Sheetal Which villag .
ey f' f;d the one ﬂi;ll';o is gtafndlng at 8. of village R;h to the North-East
% theextreme right end of the line, lage )
%|  Four people stand between ' Xf vﬂlagewawmh:c?logmtoEﬁ:
|  sandeepand Bhavna. South-West of village P and
. [l Anita is standing fourth to the village P is to the North of
"7 left of Sheetal. Less than three village Q.
h people are standing between II. VillageT is to the North-West
;  Bhanaand Anita. of village Q which is to the
, 80, Five letters - A, E, G, N and R south of village P. -
) are arranged left to right accord- Il Village R which is to the
ing to certain conditions. North of village S, lies be-
Which letter is placed third? tween villages N and @ and
1. G s placed second to the right ::ﬂg:g s fo Hie West o
of A. E is to the immediate right nlv [ and II
of G. There are only two letters (1) Only | an
between R and G. (2) Only I ang - ifi
II. N is exactly between A and G. (3) Aill Lt Eozsgzra{}fe"‘:ess‘:im;
Neither A nor G is at the extreme clen ! and 11 q ired
end of the arrangement.  oamswer the question
8L Six people - S, T, U, V, Wand X ?
ta- (5) Only 1 and Ill or only Il and
are sitting around a circular 111 are required to answer the
ble facing the centre. What s T's question
?
, Position with respect to X u | 4. What s the rank of Antmesh in
+ Only two people sit between a class of 17 students ?
f
and W. X is second to the left 0 1. Nirmal whols thirteenth from
W. V and T are immediate " the bottom fs six rank ahead
" neighbours of each other. oV of Bhumika who is two
+ Tis to the immediate right be- position below Animesh.
There are only two people edt:- 1. Bhumika is four position
tween T and S, X is an imm ahead of Kamal,

ate neighbour of S but not of V.

— e

{.BPRE+821 hrr—rrrrrmmer—cr—

Il Bhumika is two position
below Antmesh and '8
rank is 15th,

(1) Only Y and I

{2 Onlyland Il

(3) Only I or 11 and I1I together
are reguired to answer the
question

(4) Only 1 is required to answer
the question

(5) Al 1, Il and il are not suffl-
clent to answer the question

88. How is ‘them’ written in a code
language ?

I. ‘tell them young is written
as‘se me ye' and ‘wise young
sharp tell' s written as mc
yo na ye' in that code

language.

‘clever sharp come tomorrow’
is written as ‘na ki palo’ a.pd
‘bring clever young therq ls
written as 'ki po se ye' In
that code language. -
‘clever sharp come them no
is written as ‘pa na se ki te
and ‘yellow come sharp run

i

Il

clever no’ is written as 'ki ni
pa be te na’ In that code
language. -
(1) Only il is required to answer
the question
(2) Only I and II are required to
answer the question
(3) Only I or I and IiI together
are required to answer the
question
(4) OnlyII is required to answer
the question
(5) All I, II and III are not suffi-
clent to answer the question
Directions (86-80) : Each of the
questions below consists of a ques-
tion and two statements numbered |
and II given below it. You have to "~
cide whether the data provided in the
statements are sufficient to answer the
question. Read both the statements
and
(SBI Specialist Officer
(Law Officer : MMGS Scale-1I)
Online Exam, 19.04.2014)
Glve answer (1) if the data in
Statement | alone are sufficient to an-
swer the question, while the data in
Statement II alone are not sufficient
to answer the question.
Glve answer (2) if the data in
Statement Il alone are sufficlent to an-
swer the question, while the data in

e el T
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answer the questjg,
Give

tion.

Give angwer (4) if the data In
both the Statements and II together

ta;re not sufficient to answer the ques-
on,

Give angwer {8) if the data in
both the Statements | and H together

are necessary to answer the question.
868, How is H related to B ?
L. H is married to p, P is the
Mother of T. T Is married to

D. D is the father of B.

II. B is the daughter of T, T is
the sister of N, H is the fa-
ther of N.

57. Among five persons D,EF G
and H, each of whom having dif-

ferent height, who fs the second
tallest ?

L. D is talier than only G and

E. F is not the tallest,

I. His taller than F. G is taller

than E but shorter than D.

88. In which direction is J with re-

spectto R ?

I. R s to the west of P. P is to

the south of G. J is to the

west of G, When R, P, G and

J are joined by straight lines,

a square is formed,

1. Kis to the south of J. H 1s to

the east of K. R is to the

north-west of H. When R, K

and H are jolned by straight

lines, a right angled triangle

is formed,

B89, What is the position of K from

the right end in a row ?

I. There are even number of

students in the row. There

are net more than 11 stu-
dents {n the row.

Il. C stands at the extreme left
end of the Une. There are flve
students between C and B.
O s third to the right of B. K
Is not at the extreme end.

. There is only one student be-
tween O and K,

80. On which day of the week did

Arvind visit Mumbai ?

L. Arvind visited Mumbaf after
Monday but before Thursday
but not on an odd day of the
week,

Statement | alone are not sufficient to

Answer (9) If the data in
Statement I alone or in Statement I
alone are sufficient tq answer the ques-

—] DATA SUFFICIENCY =

II. Arvind vistted Mumbal before
Friday but after Monday.,
Directions (61-63) : Each of the
questions below consists of a ques-
tion and two statements numbered |
and II given below it. You have to de-
cide whether the data provided in the
statements are sufficlent to answer the

Question. Read both the statements

and —

(SBI Probationary Officer
Online Exam, 21.06.2014)
Give answer (1) if the data in

Statement I alone are sufficient to an-

swer the question, while the data In

Statement Il alone are not sufficient

to answer the question.

Give answer (2) if the data In

Statement II alone are sufficient to

answer the question, while the data

In Statement | alone are not sufficient

to answer the question.

Glve answer (3) if the data ei-

ther in Statement [ alone or in State-

ment Il alone are sufficient to answer

the question. .

Glve answer (4) if the data even

in both Statements I and II together

are not sufficient to answer the ques-
tion.

Give answer (5} if the data in

both Statements I and I together are

necessary to answer the question.

61. What {s the code of ‘shine’ in a

certain code language?

I. In that code language ‘shine
was peeled off 1s written as
‘& # @ 9' and ‘no paint but
shine’ s written as ‘7 5 # 8",

IL In that code language ‘try the
new shine’ is written as ‘13 #
0’ and ‘we try the new’ is writ-
ten as ‘6013,

62. How C {s related to H?

I. Nissonof H. J s mother of
Z. N and Z are cousins. C s
husband of J. '

II. L 1s father of C, A 18 mother
of D. L is married to A, H is
wife of D. J is wife of C.

83, In which direction point ‘A’ is lo-

cated with respect to potnt ‘B'?

I. A man starts walking from
point ‘A’ towards east and af-
ter walking 3 metres reach-
es point ‘N', he turns right
and walks 7 metres to reach
point ‘M'. Then he turns right
and walks 6 metres to reach
point'Q’, He agaln tums right

and walks 7 metreg to Tear)

point ‘P, He, then, ¢ v
and walks 2 mm?om ,";‘ ‘:‘
point ‘B, i ,p:flj
II. A man starts walking N
point ‘A’ towards east an?:f‘ d ‘
ter walking 3 metres regey p
es point'N', From poing ’Aﬁl‘g
walks 7 metres towarg, !

south and reaches point W
From point ‘M' he Y
metres towards west ang
reaches Point 'y, F“m\poim ’
‘0" he walks 7 metreg to. fdf“
wards north and reacheg G":
point ‘P". From point p p, ’aﬁ'
walks towards west ang §
reaches point ‘B’, The dis.
tance between points o anq 'G"
B is 8 metres. '|]1°
64. How many students scoreq ‘,:C‘
than B in a class of 25 studentgy ¥
1. More than fourbut lesstha, P
ten students scored moye
than that of B. B's rank {s gy,
odd number. Seventeengty. |
dents scored less than D, 4
II. The rank of C is 16th frop |
the last. B got more miarks |
than C. Only two students
are there between Band ¢,

Five persons~ A, B, C, Dand g
~ are sitting around a circulay
table. Some of them are facing
towards centre while others are
facing outside.

Who {8 sitting second to the left |

of A?

I. B is facing outside, C is to
the immediate left of B. D 1s
second to the right of C. Als
to the immediate left of E. -

II. D is to the immediate right
of A. Both D and A are facing
towards the centre. D and B
are immediate neighbours of
each other.

Directions (68~70) : Each of the
questions below consists of a ques-
tion and two statements numbered |
and Il are given below it. You have o
decide whether the data provided in
the statements are sufficient to answer
the question. Read both the statements
and —

/e

{SBI Probationary Officst
« Online Exam, 28.06.3014)
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%‘*e}"'l:;\ / /m:‘”' (1) If the data 1n TASUFFICIENCY |-
23 | #70¢ 9 2lone are not suffictent | 4o 2nd Bi8ts of a ques-

'ller%l % ‘;ﬂ,gnt He question. ) :;:jd 1 given below gt Yts numbered |
:}% " aqqq ;:stel’ ﬂl (2) If the data 1 & € Whether the data ou have to de-
®tre Pn‘,q |77 61?8 o alone are sufficient tq ta aye mmd;tmdedhﬂhe
"aohe: t Tt‘h' e estion, while the daty Question, Read bty thtoamwerthe
L hebw:::ﬂ ﬁ::ﬁn‘:’;f Iu alone are not suffictent e ® € statements
arg & | #58% _ihe question. ! Manager, o
to® w:::fb.l- Vet e wer (3) if the data 1n Give . 1900 2000e
3 9 @iv® = alone or in Statement Iy Statemen AUSWer (1) if the data |
o e | clent to answer the LI are sufly o
o ib&h f;‘t‘“c’umc Staterns dU€stion, while the g 1
] ement Il ' af
., Po thofd alone are not
ds ‘,,""Q';bﬁ v t;‘? aﬁdﬂ;le t;lam in | Yo answer the queqpior. 0" Suffictent
A 4 o Statemen gether Give answe,
po'“fa ﬂt e 2 8 answer the queautlnme are l:ll-lﬂldent to
sey. 1| ™ ive answer (8) Af the data in | IR Statement T alone are po e g
Oy e Statements I and Il together to answer the Question, ent
25 8ty L ary to answer the question, Ve answer (3) If the data ei
buy leg, ﬁ“mo is the lightest amongst 4, | ther in Statemen Talone or in -
S L dE | ment 11 al State-
°l'eq l}% g, C. Dan ne are sufficient to answer
s rankz% | Disheavier than Cand light- | e question,
Vem a ’ er than A. - Give answer (4) if the data even
s th:;n %| | pisheavieronlythanp. | 1.both Statements  and I together
3 16&;; , onwhich date of the month wag tlon.not sufficient to answer the ques-
o, Rajivbom ?
o l‘em% I Rajiv's mother correctly re- both SGi" answer (8) if the data in
1 smdﬂlh ' members that he was born tatements I and i1 together are
1 Bayy ¢ after 12th and before 18th of necessary to answer the question.
C, DW! May. 71. Ten persons are sitting in two
3¢y |, Rajiv's father correctly re- parallel rows containing five per-
ar”&dn, members that he was born Sons each, in such a way that
Othery before 23rd and after 16th there s an equal distance be-
' of May:. tween adjacent persons. In Row-
' ‘ L P, Q. R, S and T are seated
bothet| g8, ;{a(:z gxany brothers does Sonal m oé' them are facing south.
. n - .A.B.C.D.andEare
I. Nisha, the mother of Sonal’s seated and all of them are fac-
Chyp .
fB.Dy brother has only two chil- ing north. Therefore, in the given
fC.4 dren. siting arrangement each member
ok II. Sonal's brother has only one scated in a row faces another
; : sister. member of the other row.
'e "ﬂ; 8. Town M is towards which direc- Who among themn is sitting sec-
' m: tion of Town L ? ond to the right of @ and is fac-
& IngE ?
i 1 Driving 50 Km in a straight
Town L of E. S is not facing C. B is sit-
w betw il. Only one person is sitting be-
i N, 4 ‘OEH.townsKandP. tween A and E. Q faces A. Two
i EUWI?? late’ coded in the lan- persons are sitting between T
d, i e ed and P. P is an immediate
' 'came late to office’ is cod neighbour of both @ and R.
? g andlateinthe | gg  byyding has st floors, num-
I 4 coded as ‘fo pa ti me. bered one to six in such a man-
: tWE}s late summer’ is coded ner that the ground floor is num-
t 2 tu ki ne ti' and bered one, the floor above it is
Teached two hours late’ 18 numbered two and so on such
, Soded as 't le di co.’ that the topmost floor is num-
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II.

74.

I

75.

bered six. One of the six per-
sons, A, B, C, D, Eand F, 1ives
on each floor, but not necessar-
ily in the same order.

Who among them lives immedi-
ately above the floor of A ?

. Blives on three numbered floor.

Two persons live between B and
A. C lives iImmediately above the
floor of F.
E does not live immediately
above or below the floor of A.

‘D lives on floor number two.
There are three persons between
the floors of D and A. C does
not live immediately above or
below the floor of A. .

. Five persons -P, @, R, Sand T

are sitting around a circular table
facing the centre but not neces-
sarily in the same order.

Who among them is sitting third
to the right of @7

. Pissitting second to the right of

S. T is sitting to the immediate
left of P. Q is an immedjate
neighbour of S.

R is second to the right of @. T
is not an immediate neighbour
of R. P is sitting to the immedi-
ate left of T.

What is the position of C with
respect {0 A?

. A person walks 5 metres towards

north from point A, Then he
walks 5 metres towards east.
Again he walks 5 metres towards
north to reach point B. From
point B he walks 5 metres to-
wards east and reaches point C.
A person walks 4 metres towards
east from point A. Then he walks
9 metres towards north to reach
point B. Again he walks 6 metres
towards east and reaches point
D. Cis 7 metres west of D.
This question consists of a state-
ment and two conclusions num-
bered I and 11 given below it. A
conclusion is something which
can be directly deduced from the
given information in light of the
given facts. You have to decide
which of the given conclusions
logically follows from the given
statement and select the appro-
priate answer,

Statement : At present 32% of
our villages receive 24 hours
electricity and in the next two
years, the state government
would strive to add 16% more
villages to this list.
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I. At present 60% villages in the
state have no access to electric-
ity at alt,

ll. Even after a couple of years,
more than half of the villages
lack access to 24 hours electric-
ity.
(1) Only I can be concluded

from the given information,

{2) Only!canbe concluded from

the given information,

(3) Neither I nor I can be ¢on-

cluded from the given infor-

mation,

(4) BothlandI canbe conclud-

ed from the given informa-
tion

{5) EitherIorlIf can be conclud-
ed from the given informa-
tion.

(SBI Associates PO Online

Exam, 29.11.2014)

Directions {76-80) : Each ques-

tion below conststs of a question and
two statements numbered I and IT giv-
en below it. You have to decide wheth-
er the data given in the statements
are sufficient to answer the question.
Read both the statements and choose
the most appropriate option,
(SBI Associates PO Oqline

Exam, 29.11.2014)

76. AmongV, W, X. Y and Z, seated
in a straight line, facing north,
who sits exactly in the middle of

the line ?

{ DATA SUFFICIENCY |

(1) The data either in statement
I alone or statement I alone
are suflicient to answer the
question,

(2) The data even in both state-
ments I and I together are
not sufficient to answer the
question.

are sufficient to answer the'
question while the data in
statement I alone are not suf-
ficient to answer the ques-
tion.

{4) The data in both the state-
ments I and II together are
necessary to answer the
question.

(5) The datain statement | alone

1. W sits third to the rightof Z. X

Is an immediate neighbour of W,

V sits to immediate left of Y.

H. X sits at one of the exireme ends

of the line. Only two people sit

between X and V. Y sits to im-

mediate right of V. Y does not

sit at any of the extreme ends of
the line,

(1} The data either in statement
Ialone or statement j1 alone
are sufficient to answer the
question,

(2) The data even in both state-
ments [ and II together are
not sufficient to answer the
question,

3 'l'hedatammatmlentﬂalone
are sufficient to answer the
question while the data in
Statement J alone are not suf-

ficient to answer the ques-
tion.

are sufficient to answer the
question while the data in
statement I alone are not
sufficient to answer the ques-
tion

78. Among the six friends A B, C
D, E and F, sitting around a cir-
cular table facing the centre, who
8its to immediate left of C 2

I. A sits second to Jeft of C and
third to right of F, Bis an imme-
diate neighbour of E.

. Eisan immediate neighbour of

bothBandF. Only three people

sit between B and D, Fisanim-

mediate neighbour of C.

(1) Thedata either in statement
I alone or statement II alone
are sufficient to answer the
question,

{2) The data even in both state-
ments ! and II together are
not sufficient to angswer the

|

question,

T —

(3) Thedata in statementII alone

Lmh‘l’l“ P L LT W

In
is

T~
(4) The data in both the state- (3} Thedatain statement o
ments I and I! together are are suffictent to answe, the »
necessary to answer the question while the datg w
question. statement I alone are noy ny
(5) The data in statement I alone ‘gcient te answer the Queg.
are suflicient to answer the on. W
question while the data in (4) The data in both the stgy, |
statement II alone are not ments T and 11 togethey
sufficient to answer the ques- necessary to answep the
tion, question. ﬂ
77. Out of P. Q, R, S and T, does R {5} Thedatain ﬁti@ltexm:mlm(,l.‘e
earn more than Rs. 40,000/- 7 are sufficient to answer
1. S eams more than only Rand T. question while the data
P earns the maxdmum. T eams statement II alone are not g
Rs. 50,000/-. sufficient to answer the queq.
Il. @ earns less than only P, R tion. .
earns less than . Q eams Rs. | 79, How is ‘success written in a ger.
80,000/-. tatn code language ?

that code language ‘Succesy
necessary evil' is written a4 [

‘8145’ and ‘evil is amongst uy’ is
written as ‘3874°.

In

that code language ‘markey.

ing Is magic mantra’ is writtey, g

as

‘4629 and 'success mantry

ismarkcﬁng‘lswrittenas'zss‘r

(1)

(2)

3

@)

(5)

The data either in statement

I alone or statement I alone

are sufficlent to answer the
question.

The data even in both state- y
ments I and 11 together are d
not sufficient to answer the $
question, ?
Thedata in statement akme |,
are sufficient to answer the ’
question while the data in 9
staternent I alone are not syf-
ficient to answer the ques-
tion,

The data in both the state.
ments I and Il together are
necessary to answer the
Qquestion.

The data in statement  alone
are sufficient to answer the
question while the data in
statement 11 alone are not
sufficient to answer the ques-
tion

A five storey building (consist-
Ing of a ground floor and four
floors on top of it such that the
ground floor is numbered 1, the
floor above it, numbered 2 and
So on till the topmost floor is
numbered 5) houses different
peopleviz. H, 1, J, K and L. Who
lives on the lowermost floor (€.
floor No. 1) ?



bt gwe below L. K lives on
l?:l%'“k I Mﬂ":?’nbered floor.
' 1 people live between L
mﬂYH L"vesaboveH.Jllva

l qh\. I pd B tely below K. J lives on
,ule o od“e d‘ numbcred floor.
e‘h:rh‘i an The data either in statement
ey, N ] J alone or statement Il alone
% . are sufficient to answer the
::::] ,?.:c data even in both state-
! (ﬂments[andﬂtogetherare
, :::‘% Hot sufiicient to answer the
ule%:q o Thedata in statement [ alone
by are sufficient to answer the
a% qucaﬂon while the data in
: t I alone are not suf-
sllq\ ficient to answer the ques-
o tion.
Blu,i {9 The data in both the state-

ments I and 11 together are
necessary to answer the
question.
{5 The datain statement I alone
are sufficient to answer the
question while the data in
statement II alone are not
sufficient to answer the ques-
tion,
pirections {81-85) : Each ques-
! yon below consists of a question and
" wostatements numbered I and IT giv-
abelow it. You have to decide wheth-
« the data given in the statements
! resufficient to answer the question.
 pead both the statements and choose
' the most appropriate answer.
{SBI Associates PO Online
Exam, 30.11.2014)
81. Are all the five friends F, G, H, I
and J sitting in a straight line
facing north ?
I. Fsits at one of the extreme
ends of the line. Only two
people sit between F and H.
J sits to immediate left of H.
G and J are immediate
neighbours of each other.

II. Jfaces north and sits at one
of the extreme ends of the
line. Only two people sit be-
ween J and I. H sits second
to the right of 1. H sits to
immediate left of G.

(1} The data in Statement Il
alone are sufficient to answer
the question, while the data
in Statement ] alone are not
sufficient to answer the ques-
tion.
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@ The data in Statement I atone
are sufficlent to angwer the
question, while the data in
s o
don, ° the ques-

(3} The data eitherin Statement
1 alone or Statement I1 alone
are sufficient to answer the
question

{4) The data even in both the
Statements I and || together
are not sufficient to answer
the question.

(3} The data in both the State-
ments I and I together are

necessary to answer the
Question.

82. Are all the five friends A, B, C,

D and E who are sitting around
the circular table facing the cen-
tre ?

I. D sits to imunediate right of
E. E faces the centre. C sits
second to the left of the D.
Ais not an immediate neigh-
bour of B.

II. B sits to immediate right of
C. A sits to immediate left of
E. E ijs not an immediate
neighbour of B. E faces the
centre. D is not an immedi-
ate neighbour of C.

(1} The data in Statement 11
alone are sufficient to answer
the question, while the data
in Statement ] alone are not
sufficient to answer the ques-
tion. -

(2) Thedata in Statement I alone
are sufficient to answer the
question, while the data in
Statement II alone are not
sufficient to answer the ques-
tion.

(3} The data either in Statement
I alone or Statement Il alone
are sufficlent to answer the
question

{4) The data even in both the
Statements ] and Il together
are not sufficient to answer
the question.

(5) The data in both the State-

ments I and I together are
necessary to answer the’

question.

L o

83. Ia C the mother of B 7

I. Pisthe fatherof Aand B.R
has only the onc brother P.

C is sister-in-law of R- R 18
unmarried. F 1a mother of R.
F has only two children.

11’ H has only two children P
and R. P is the father of A
B is the only brother of A. R
is unmarried. H 1s the la-
ther-in-law of C.

(1} The data In Statement 1!
alone are sufiiclent to answer
the question, while the data
in Statement I alone are not
sufficlent to answer the ques-
(1L R

(2} Thedatain Statement lalone
are sufficient to answer the
question, while the data in
Statement 11 alone are not
sufficient to answer the ques-
tion.

{3) Thedataeitherin Statement
I alone or Statement 11 alone
are sufficient to answer the
question

(4) The data even in both the
Statements 1 and Il together
are not sufficient to answer
the question.

(5) The data in both the State-
ments I and Il together are
necessary to answer the
question.

Five movies P, Q. R, Sand T are

scheduled to be screened from

Monday to Friday “the ~ame

week. Which mov : w. be

screened on Friday *

I,

Movie P will be screened on

Tuesday. Only two movies

will be screened ~ 2tween

movies R and S. k vill be

screened before S.

Movie Q will be screened on
Wednesday. Only one movie
will be screened between
movies @ and R. S will be
screened immediately bef -¢
movie T.

(1) The data in Statemen Il

alone are sufficient to answer
the question, while the data
in Statement I alone are not
sufficient to answer the ques-
tion.

{2) Thedatain Statement I alone

are sufficient to answer the
question, while the data in
Statement II alone are not
sufficient to answer the ques-
tion. X )
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(3) The data either in Statement Directions ( Eand F. ltv s
86-89) : Each of the A, B.C.D, » vea on Ty
Lalone or Statement I alone questions below consists of a question floor, but not necessarily hca&he ?fi’
are sufficient to answer the and two statements numbered I and II same order. -
question given below it. You have to decide Who among them ltveg Immey,, P‘(
(4) The data even in both the whether the data provided in the state- ately above the floor of 4 7 I
Statements I and 11 together | ments are sufficient to answer the 1. B lives on three numbereq 5!
are not sufficlent to answer question. Read both the statements Two persons live betwean p ang
the question, —_ A. Clives immediately ahgy, the U"I
(5} The data in both the State- Give answer (1) if the data in floor of F. E does not ltve - J
ments I and II together are Statement I alone are sufficient to an- diately above or below the floy d
necessary to answer the | swer the question, while the datattll; of A. ’
85, i qtf:esuon. e R £ Statemet?; 1; 31;9; o:re not sufficien I D lives ori floor number :
ow far is t t | answer . X
P? pe rom poin Give answer (2) if the data In Thete are three PESons betyey, J
clent to the floors of D and A, ¢
1 Statement Il alome are sufficien hot 1
» A person starts from Point data in live immediately above or b f
answer the question, while the low ¥
P. walks 15 metre to the Statement I alone are not sufficient to the floor of A. (
south, takes right turn and answer the question. 88. Fivepersons -P, Q, R, Sanqy,
walks 4 metres. He then Give answer (3} if the data el- amsltungaroundadruﬂanabh 4
takes left turn and walks 7 ther in Statement I alone or in State- facing the centre but not nege,
metres. He takes left turn ment Il alone are sufficient to answer sarily in the same order. .
reaches point Q. If the per- Give answer (4) if the data even th t of Q7
son takesleft turn and walks | i, both, Seatements I and I together to the righ

7 metre, he will rach point R.
Il. A person starts from Point
P, walks 14 metre towards
the east, takes a left turn
and walks 3 metre. He then
takes a left turn again and

are not suflicient to answer the ques-
tion

both Statements [ and If together are
necessary to answer the question.
88, Ten persons are sitting in two

.Givemwer-tﬁ) if the data in

I. Pis sitting second to the righ; o
8. T is sitting to the “nm@djale
left of P. @ is an immediage

neighbour of S.

1. Ris second to the right of Q. T ,

walks for 14 metre to reach parallel rows containing five per- not an ﬂ\‘;e nelghbour of,
Point N. If he takes a right sons each, in such a way that P is sitting to the immediate le;
turn from Point N and walks there is an equal distance be- of T. A
5 metre, he will be 27 metre tween adjacent persons. In Row- 89. What is the position of C wity
away from the Point R. LFQ fR S and ;_l‘ are seat;;i respect to A?
(1} The data in Statement I ?élig‘ligtxegag ;c;nngds%uaré I. Aperson walks 5 metres towards
alone are sufficient to answer seated and all of them are facing north from point A. Then be

the question, while the data
in Statement I alone are not

north. Therefore, in the given sit-

ing arrangement each member

walks 5 metres towards east
Again he walks 5 metres towards

sufficient to answer the ques- seated in a row faces another north to reach point B. From point
2 ;‘;“d Lelo member of the other row. B he walks 5 metres towards .
2) Thedata in Statemen ne Who among them is sitting sec- '
are sufficient to answer the ond to the right of @ and igs fac- tast and reaches point C, |
question, while the data in Ingg? Il. A person walks 4 metres towards |
Statement II alone are not I. Cisnot an immediate nelghbour east from point A. Then he walks
sufficient to answer the ques- of E. S s not facing C. B is sit- 9 metres towards north to reach
tion. _ ting second to the left of D. point B. Again he walks 6 metres
(3) The data either in Statement IL” Only one person is sitting be- towards east and reaches point
I alone or Statement II alone tween A and E. Q faces A. Two D. Cis 7 metres west of D.
are sufficient to answer the persons are sitting between T Directions (90-94) : Each ques-
question and P. P is an { mmediate | on below consists of a question and

{(4) The data even in both the

neighbour of both @ and R. two statements numbered [ and H ghv-
Statements I and II together 87. A building has six floors, num- | € below it. You have to decide wheth-
are not sufficient to answer bered one to six in such a man. | erthe data given in the'statements are
the question. ner that the ground floor is num- | sufficient to answer the question. Read

{5) The data in both the State-

bered one, the floor above it is | both the statements and choose the

ments I and II together are numbered two and so on such | most appropriate answer.
necessary to answer the that the topmost floor is num- (SBI Associates PO Onlin®
Question, bered six. One of the six persons, Exam, 30.11.2014
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_ . th 2 The da;
m % - all in a straight line 12 1n Statem
"o;h% l"b‘ P ;‘5 J sff‘-‘“% are sufficlent to a;:::;l?::
n ’%N fa"“’ggts at one of the extreme Juestion, white the data in
bl:mr P 1 F&g of the line. Only two Statement Il alone are nog
N 2 e it between F and H. to answer the ques.
nte;fen P to immediate left of H, ton,
JQ]OI u've gand J are immediate neigh- 3 The data efther in Statement
Oy, l}, pours of each other. 1 alone or Sta[ement I al
rth and sits at one are ome
Jfaces no Sllmc‘ent to answer the
nu%e m of the extreme ends of the Question
Son 2 {ine. Only ct;.v;o }p;e:;}t:;e sit be- {4} The data even In both the
Ao b,\ Jandl. second Statements | ang 11 together
oy, Ty to the right of 1. H sits to are not suflicient to answer
€ opy ymmediate left of G, the question
R (1) Thedatain Statement Il alone 6 :
sanq are sufficient to answer the The data in boty the State-
:,.Q%' . question, while the data in ments | and 11 together are
tng, Statement I alone are not necessary to answer the
dey. "% sufficient to answer the ques- _ question,
tion 92. Is C the mother of B ?

{2} The data in Statement I alone

the are sufficient to answer the
"Eh, question, while the data in
n Statement Il alone are not
ey sufficlent to answer the ques-
. uon. -
%0 (@ Thedataeither in Statement
b°lqul i alone or Statement II alone
dla(ekﬁ are sufficient to answer the
! question
0.1 @ The data even in both the
RS Statements I and II together
| are not sufficient to answer
M the question.
“' 5 The data in both the State-
“ ments I and II together are
Wt necessary to answer the
i question.
™ 1, Are all the five frierids A, B, C, D
and E who are sitting around the

1t circular table facing the centre ?
1 I. D sits to immediate right of
£ E. E faces the centre. C sits
3 second fo the left of the D.
Ais not an immediate neigh-
-bour of B.

1L B sits to immediate right of
C. A sits to immediate left of
E. E is not an immediate
neighbour of B. E faces the
centre. D is not an immedi-
ate neighbour of C.

(1} Thedata in Statement Il alone
are sufficient to answer the
question, while the data in
Statement I alone are not
sufficient to answer the ques-
tion.

7
]

I Pis the father of A and B.R
has only the one brother P,
C is sister-in-law of R. R is
unmarried. F is mother of R.
F has only two children.

Il. H has only two children P
and R. P Is the father of A.
B is the only brother of A. R
is unmarried. H is the fa-
ther-in-law of C.

(1) Thedatain Statement Il alone
are suflicient to answer the
question, while the data in
Statement I alone are not
sufficient to answer the ques-
ton. -

{2) Thedata in Statement I alone
are sufficient to answer the
question, while the data in
Statement II alone are not
sulficient to answer the ques-
tion.

(3) The data either in Statement
I alone or Statement I alone
are sufficient to answer the
question

{4} The data even in both the
Statements I and II together
are not sufficient to answer

the question.

(5) The data in both the State-
ments [ and II together are
necessary to answer the
question,

93. Five moviesP, Q, R, S and T are

scheduled to be screened from

Monday to Friday of the same

week. Which movie will be

screened on Friday ?

B I S

o five friendS F/ EVR Y [ 74327 var s e pre ETpe AL S L

L. Movie P will be screened on
Tuesday. Oaly two movies
will be screened between
movies R and S. R will be

screened before S.
IL  Movie Q will be screened on
Wednesday. Only one movie
will be screened between
movies ©Q and R. S will be
screened immediately before
movie T.
The data in Statement Il alone
are sufficlent to answer the
question, while the data in
Statement [ alone are not
sufficient to answer the ques-
tion.
The data in Statement | alone
are sufficlent to answer the
question, while the data in
Statement 11 alone are not
sufficlent to answer the ques-
tion.

The data either in Statement

I alone or Statement I alone

are sufficient to answer the
question

The data even In both the
Statements I and 1I together
are not sufficient to answer

the question.

The data in both the State-
ments 1 and 11 together are
necessary to answer the
question.

94. How far is point R from point, P ?

I. Aperson starts from Point P,
walks 15 meire to the south,
takes right tum and walks 4
metres. He then takes left
turn and walks 7 metres. He
takes left tum again, walks
for 4 metre and reaches point
Q. If the person takes left
tum and walks 7 metre, he
will rach point R.

A person starts from Point P,

walks 14 metre towards the

east, takes a left turn and
walks 3 metre. He then
takes a left tum again and
walks for 14 metre to reach
Point N. If he takes a right
turn from Point N and walks
5 metre, he will be 27 metre
away from the Point R.

(1

{2)

3)

(4)

6]
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n The data in Statement IT alone
are suffictent to answer the
question, while the data in
Statement I alone gre not

t to answer the ques-

(2) The data in Statement [ alone
are suflicient to answer the
question, while the data in
Statement II alone are not
suﬂlcienttoanswerthcqm
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RBI GRADE-B/NABARD
GRADE-A OFFICER EXAMS

Directions (1-10) ;: Each of the
questions below consists of a state-
ment and/or a question and two state-
ments numbered I and I| given below
it. You have to decide whether the data
provided in the statements are suffi-

clent to answer the question. Read
both the statements and—
(RBI Grade-B Officer
Exam.17.11.3003)

Give answer {1) iIf the data in

Statement I alone are suffictent to

answer the question, while the data

in Statement Il alone are not sufficient
to answer the question,
Give answer (2} If the data In
Statement If alone are sufficient to
answer the question, while the data
in Statement I alone are not sufficlent
to answer the question, .
Give answer (3) if the data either

in Statement I or in Statement II
zlone are suffieient to answer the

-{uestion. -

Give answer (4) if the data even
‘n both Statements I and Il together
2 ire not sufficlent to answer the ques-
tion. -
Give answer (B} if the data in both
Statements I and II together are nec-
essary to answer the question.
(Caution : Do not hasten to mark
the answer unless you consider both

the Statements carefully).

1. Abox contains oranges, bananas
and apples. How many apples
are there in the box ?

I Of the hundred fruits in the
bex, fifty percent constitute
oranges and bananas to-
gether.

IL. Fifty percent of the frulta -ln

2, The area of a playground is 1600
square metres. What Is {ts pe-
rimeter ?

I. It 1a perfect square play-
ground,
IL. It costs Rs. 3200 to put a

fence around the playground
at the rate of Rs. 20/- per

metrs,

3. A, B, Cand D made their project
presentation, one on each day,
on four consecutive days but not
necessarily in that order. On
which day did 'C’ make his pre-
sentation ?

L. The first presentation was
made on 23rd, Tuesday and
was followed by ‘D’s presen-
tation '

IL. ‘A’ did not make his presen-
tatfon on 25th and one of
them made his presentation,
between that of A's and B's.

4. What {s the shortest distance
between Devipur and Durgapur?
L. Durgapur is 20 kms. away
from Rampur. ‘
IL. Devipur ts 16 kms. away from
Rampur.
8. In a certain code *al ed nop"
- means “We play chess”. Which
code word means “chess” ?

I, 'id nim nop” means “We are
honest”

IL “gob ots al” means “They play
cricket”

8. “You must submit your applica-

tion within 10 days from the date

of release of this advertisement”.

What s the exact date before

which the application must be
submitted ?

the box are apples, }

f

.f "‘:J
{3} Thedata either in Statement I. The advertisement wq, re. | '?:,l'
I alone or Statement I1 alone leased on 18* Fe o gt
are sufficient to answer the IL It was a leap year. g0
question 7. Kiran is older than Manoj gn, ;,p ,
(4) The data even in both the Dilip is older than Neelam. wy,, 7,*
Statements [ and Il together among them is the youngeg 7 f‘ i
are not sufficient to answer 1. Kiran is older than Neelam 'i:_
the question. IL Manof is younger than Dy, s
(5] The data in both the Stata- 8. 'B' ia the sister of ‘A", HOW‘Q W f;'d'
ments [ and 11 together are related to'B’ ? “p‘
necessary to answer the 1. ‘A’ is the brother of 'C', ¥y
question.

I ‘A’ 18 the uncle of 'L,

8. Brinda's meritrankis 17t p,,
class. What ie her rank from the
last ?

I. There are 70 students in her
class,

II. Nisha who ranks 20 i,
Brinda’s class s 51% from the
Jast.

10. Mandar is taller than Sunil ang
Raghu is shorter than Abhishel;
Who among them is the shori.
est ?

L. Raghu {a shorter than Manday,

1. Abhishek is shorter than
Sunil,

Directions (11-18) : Each of the
questions below consists of a ques-
tion and two statements fnumbered |
and II given below 1t. You have to de.
cide whether the data provided in the
statements are sufficient to answer the
question.

-‘3?::
.

o

-
[—-"3

)
’

e

(RBI Grade-B Officer

Exam. 2007)

Give answer (1) if the data in

statement I alone are sufficlent to an-

swer the question, while the data in

statement Il alone are not sufficient
to answer the question,

Give answer (2) if the data in
statement II alone are sufficient to

answer the question, while the data

In statement [ alone are not sufficlent
to answer the question,

Give answer (3) If the data either
in statement I alone or in statement Il
alone are sufficient to answer the ques-
tion.

Give answer (4} if the data given
in both the statements 1 & II together
are not sufficient to answer the ques-
tion, and

Give anower (B) if the data In
both the statements I & II together
are necessary to answer the question.
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S&Whosltatothelmmcdjate t | 31. Whoamongst P, Q. R, Sand T 1. Two exams were cg
of Ayesha ? e is the tallest ? 0 ter exam P. Exam Qn?:oelzf al. rﬁ
1. Four friends- Shraddha, Tanta, I Pis taller than S and T but immediately after exam U.m‘;: ¥
Vilma and Ayesha are sitting shorter than R. Q is taller Q was not conducted o, Suy, v
around a circular table facing the than s, day or oa Thursday. Exam e o
centre. H. Tis taller than $. P is not not conducted 'mmed!amy% #
II. Shraddha slts second to the right the tallest. sxam P ;f ;
of Tania. Vilma Is an immediate | 32 -Is ‘EAST" the word formed af- I, g‘i;: mm;wcm ‘-:hdu% E
neighbour of Shraddha. tcrtl:erformlng 3,;15“‘;2,“{"‘3 qpé ducted""m‘a’“r E,cm“am P‘ b:?’ Sn.
Hons ( ) s Each of the g;cp?:u:?etatem ? exam V. Exam @ was Condyy. |
questions below consists of a ques- o letter be- ed after exam U andbefore% ;
tion and two statements numbered I I. There s o I T E fo to the T. Exam P was not cong b
al(';d i} lfi\n:n below it. You have to de- m 2 and T. 0 on Monday. Uoleg
cide whether the data provided in the 88, What is the position O
statements are sufficient to answer the 1. }h%vord c}:e:rﬁot ];;f'; ;’:;hr persons standing in :J::;?gﬁ
question. Read both the statements be ereE and sy T1is not an line? i
and immediate nelghi:our of E. I. There are five persons betwee,,
(RBI Grade-B Officer's 33. 1Is C the grandmother of M ? Y and L. L Is at one of the ex.
Exam. 18.12.2011) I. C is the mother of D. D is treme ends. T is slxthtothekﬁ
Give answer (1) if the data in : the brother of M's father. of Y. There are three Persony
Statement I alone are sufficient to Il. E is the mother of S. S is the between O and T. p
answer the question, while the data : sls:e rof M. F. the aunt of S [ 1I- R Is at one of the extreme ends |
in Statement Il alone are not sufficlent is the only 'da'ughter of C. of the line. There are twg per.
to answer the question, I lons (34-86) : Each of the sons between O and J,
Give answer (2) if the data In tions below co ist:s of a ques- arenjnepcrsonsbetweennand
questions below cons qu U. J is fourth to the left of j, |

Statement II alone are sufficient to tion and two statements numbered |
answer the question, while the data { ,.4 1l given below it. You have to de- | 96 How Is X related to ‘R’ ?
In Statement I alone are not sufficient cide whether the data provided in the L. ‘The brother of X' is marrjed ¢,

to answer the question, statements are sufficlent to answer the 'D’. The father-in-law of Dig thy
Give answer (3) if the data in | question. Read both the statements grandfather of R. R is the only
either Statement I alone or in State- | and — daughter of D. X is brother-iy.
ment Il alone are sufficient to answer (RB] Officer Grade ‘B’ Phase-1 law of D.
the question. Exam, 03.08.2014) Il. Risthe only daughter of P. D5
Give answer (4) if the data in Give answer (1) if the data in the daughter-in-law of M. P ang
nefther Statement I nor II are suffi- | Statement I alone are sufficient to an- X are two sons of M. X is not
clent to answer the question‘ swer the qucstlon, ‘while the data In married to D.
Give answer (8) if the data in | Statement Il alone are not sufficient Directions (37 - 41) : Each of the
both the Statements I and I together | © 208Wer the question. following questions, consists of a ques.

Give answer (2} if the data in | tion and two statements numbered |
are necessary to answer the question. Statement II alone are sufficient to | and II given below it. You have to de-
29. AmongP, Q.R.SandT, sitting | .- o the question, while the data | cide whether the data given in the

in a straight line, facing North, | 1 Statement] alone are not sufficient | statements are sufficient to answer the

who sits exactly in the middle of | {4 answer the question. question, Read both the statements and

the line ? Give answer (3) if the data ei- | mark the appropriate answer,

I. P sits third to left of S. T is ther in Statement | alone or in State- (RBI Officer Grade ‘B’ Phase-
an immediate neighbour of P { ment Ii alone are sufficient to answer Exam. 21.11.2018
as well as R, the question. Mark answer (1) If the data in

IL. T sits second to left of S. @ Give answer (4) if the data even statement I alone are sufficient to an-

Is not an immediate | in both Statements I and Ii together | swer the question, while the data In
neighbour of either Tor S. | are mot sufficient to answer the ques- statement I1 alone are not sufficient to

80, Among five friends A, B, C, D | tion. answer the question.
and E, sitting around a circular Give answer (8) if the data in Mark answer (2) If the dataln
table, facing the centre, who sits | both Statements I and It togetherare | statement II alone are sufficienttoan-
to the immediate right of A ? necessary to answer the question. swer the question, while the data in
I. Esitsthirdtorightof D.Als | 34 Seven different exams - P, Q, | statement | alone are not sufficient to

not an immediate neighbour R, S, T, Uand V- are conduct- | answer the question.
of D. teh ed on different days of the same Mark answer (3) If the data either
1L C sits second to left of B, A week, L.e., from Monday to Sun- | in statement I alone or in statement |l
- is not an immediate neléh- day. Which exam was conduct- alone are sufficient to answer the qués®
bour of C. edon wednesdaY? tdon. r ‘ |
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2, ,.a";';,d Il together are not | ¥ aﬂiﬁt‘rﬁm 10mto the eagt off.;m
ly“lgq b et anewer the question, Po lnl tc'hM‘t U s 8m 1o the west of
DTN e O e cata ot M. Poty o0t D 1510 the east of
agght | w2 and I together are M 8 the midpotnt of the
o 'ﬂh;: * sﬁtc":; n the question, a::ssgormed by jeining points y
o, le are standin '
any pecp 4 Direc
s d“% ﬂﬁﬂmnﬂand U in a straight | the gues (42 - 43) : Each of
bu ! petwee le (Note : tions consists of
ag Uty of 15 people ( All are | g, ques-
ber%"d lin€ ingina straight line t‘acmg a.n:]l ;:“;vet‘;o statementg numbered |
g, My OW {t. You have to de-
%"Q:: unﬂt:ﬂ";s fith from the Ieft eng :i::: Whether the data provided in the
y J. Mj,elme.ﬂaﬂdxﬂrehnmedl- qu;menuon tsamsumcienttoanswerthe
a oy 0{8 neighbours of M. Only tw - Readboth the statements and
: a ple stand between M and u. Officer Grade 'A’
8 Bstandsﬂﬁfd from the right eng Online Exar, 01.03.2018)
or thy o oftheline. Only six people stand sta Give answer (1) if the data in
to B petween K and B, Only one per- tement I alone are sufficient tg an-
Py 8| son stands between H and K. k | SVer the question, while the data in
M stands exactly between Hand y, | Statement It alone are nog sufficient to
e How is B related 57 answer the question,
‘%ﬁ 1. Nismarried to T. B is the sister Give answer (2) If the data in
I_ % ’ O.rNo Thas on]y one daughter K. St&temcnt b1 § .lﬂne are suﬂ'iCient to
BRy!  Kisthe granddaughter of S, answer the question, while the data in
ofy j 1. Nis the daughter of S. N fs mar. | StatementI alone are not suflictent to
' ried to T.T 15 the only child of z, | 2PSWer the question,

Tied, F B is the sister-fn-law of T,
st g9, Among people A, B, C, D, E and
‘o’  F, each having a different weight,
"t.  whois the second heaviest?
{1 Cis heavier than only two peo-
D% ple. Als heavier than Fbut light-
erthan B. D is not the heaviest.

Il. Fis lighter than only two people.
C is lighter than F but heavier
than D. A {s lighter than only B.

#0. How many people are standing

b
x
X
. In a straight line (Note: All are

Give answer (3) if the data ei-
ther in statement I alorie or in state-
Inent Il alone are sufficient to answer
the question,

Give answer (4} if the data even
in both statements I and II together
are not sufficient to answer the ques-
Give answer (5) If the data in
both statements I and II together are
necessary to answer the question.

42. How is ‘plan’ coded in the given

facingnorth)? || code language ?
I. Ustands third from the left end | (Note ; All the codes are two-le}ter
of the line. U is an immediate codes only)

neighbour.of P and W. Only one
person stands between Wand T.

Only two people stand to the right
of W. :

I S stands at extreme left end of
the line. T stands to the extreme
right end of the line. Only one
Person stands between S and U.
Only one person stands between
Tand w, '

L. How far is point M from point K?

- Polnt D s 5m 15 the south of Point
P. Point M fs 8m to the west of
Point D. Point S is 2.5m to the
Rtorth of point M. Point O is 10m
o the east of Point S. Point K is ;

I. In the given code language, ‘plan
it now’ is coded as ‘ta na se’ and
‘a plan now’ is coded as ‘na ta
ra’,

In the given code language, ‘plan
1s good' is coded as 'zd ju na’ and
'good to plan’ is coded as ‘fe ju

. Among friends, P, Q, R, Sand T
each having a different height,
who is the shortest ?

1. Pisshorter only than three peo-

ple. @ is taller than S but short.-

erthanT.

@ is shorter than only one per-

son. P is shorter than T

IL

L.

2.5m to the south of pointo. ||

e

+ i———— ™

F

[INSURANCE EXAMS

Directions (1-5) ;: Each of the
questions below consists of a ques-
tion and two statements numbered 1
and II given below it. You have to de-
¢ide whether the data provided in the
statements are sufficient to answer the
question. Read both the statements
glve your answer :

(LIC Assistant Administrative Officer
(AAO) Exam. 24.04.2008)

(1} If the data in StatementI alone
are sufficient to answer the
question while the data in State-
ment II alone are not sufficient
to answer the question

If the data in Statement Il alone
are sufficlent to answer the
question while the data in State-
ment [ alone are not sufficlent

to answer the question

If the data in either Statement

1 or Statement I alone are suf-

ficlent to answer the question

If the data even in both State-

ments | and Il together are not

sufficient to answer the ques-
ton

If the data even in both State-

ments [ and Il together are suf-

ficient to answer the question

1. Does intelligence predict the
child's ability to learn ?

Statements :

I. Intelligence is unaffected by
bad teaching or dull home en-
vironment.

Il. Children from poor home
background do not do well in
their school work,

2. 'A'is shorter than'B’.'C' is taller
than ‘D', Who is the shortest
among them ?

Statements : 0

I. *A’is shorter than ‘D",

Il *A’is taller than ‘'C",

3. What will be the total welght of

10 poles each of same welght ?
Statements :
I. One-fourth of the weightofa
pole is 5 kg.
Il. The total weight of three poles
is 20 kg more than the total
weight of two poles.

4. On which day of the week did
‘A’ meet with an gecident ?

2

3

(4)

(5)

~{ BPRE-831 ) _—
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Statements ; 8. On which day of the week did
I. A’ was released from hospi- lSdSm 'h""“ Clmr:::r':m d to
tal on Friday three days af- + w=ohan
ter he met with the accident. ;‘hydmbadmmc"m"“
IL. "A’ wasg traveliing on a scooter IL mﬂdmu onMon-
on Tueeday ? s day for Chennal
8- Who is a better artist - Mo 9. How many daughters does M
or Banerjee i ™
Statements : 1. Pand @ are the only daugh-
I. Mohant{ had more art exhi- ter of N.
bittons. II. D is brother of P and son of
H. The number of paintings sold M.
by Banerjee fs more, 20. How is ‘now’ written in a code
Directlons (6-10) : Each of the language ?
questions below consists of a ques- 1. ‘now and then’ Is written as
tion and two statements numbered I ‘ka da ta’in that codelanguage

and If given below it. You have to de-
cide whether the data provided in the
statunmtsaresuﬂldmttoanswu-ﬂle
qucstion. Read both the statements

(LIC Assistant Administrative Officer
{AAO) Exam. 2008)
Give answer (1) if the data in state-
ment I alone are sufficient to answer
the question, while the data in state-
ment II alone are not sufficient to an-
swer the question.
Give answer (2} if the data in state-
ment Il alone are sufficient to answer
the question, while the data in state-
ment I alone are not sufficient to an-
swer the question
Give answer (3} If the data either
In statement I alone or in statement Ii
alone are sufficient to answer the ques-
ton.,

Give answer (4) if the data given
in both the statements I and I to-
gether are not sufficient to answer the
question, and .

Give answer (5) if the data in both
the statements I and I together are
necessary to answer the question.

6. Towards which direction is Q
fromR?

L Q is exactly to the east of M
IL M is exactly to the south of R
7. Who among P, g, R, SandTis
the beaviest ?
I. Qs heavier than R and Thut
lighter than only §
Il. Ris third from the top when
they are arranged 1n de.

scending order of their weight

IL ‘then you come’ is written as
‘da ma pa’ in that code lan-

Buage
Directions (11-18) : Each of the
questions below consists of a ques-
tion and two statements numbered [
and II given below it. You have to de-
cide whether the data provided in the
statements are sufficient to answer the
question. Read both the statements

and-

(LIC Assistant Administrative

Officer Exam. 2008)

Give answer (1) if the data in State-
ment I alone are sufficient to answer
the question, while the data in State-
ment Il alone are not sufficient to an-
swer the question.
Give answer (2) If the data in State-
ment I] alone are sufficient to answer
the question, while the data in State-
ment [ alone are not sufficient to an-
swer the question,
Give answer (3) if the data either
in Statement I alone or in Statement
II alone are sufficient to answer the
question, \
Give answer (4) if the data in both
the Statements I and Il are not suffi-
clent to answer the question.

Give answer (8) if the data in both
the Statements I and 11 together are

necessary to answer the question.
11. How many sisters does P have ?
L. Tand V are only sisters of D,
I. D is brother of P,

and is heavfer thanTandp, I

— A
13, Wholstolhclmmedlatenm ¢
Mohan when Mohan, s.‘“‘i‘ H
Bhushan, Suresh and‘l%ha.; I
sitting around a circle facing i
the centre ? a
I s.amnstmrcltoumleftommmtL
II. Bhushan is between $a)y ang
Jayesh,
14. How is N related to K ¢
I. N's brother is marmrieq toD,
II. D's sister is married to K,
18. Who among M, T. K, J and R, "“
the shortestbutone ? !
. 1. TistallerthanJ and R, !
Il. Kis shorter than Rand M,
Directions (16~20) : Each of ty, '
questions below consists of 3
tionand two statements nllmbcredm |
and (I1). You have to decide w
the data provided in the Statemen,
are sufficient to answer the question
(Oricatal Insuranee Ag
Exam, 09-05.30101
Give answer:

(1) if the data in statement ()
alone are sufficient to answer the
tion, while the data in statement (i)
alone are not sufficient to answer the

4]
s
l.
‘1.

¢
/
%
f

“question.

(2) {f the data in statement q #
alonearesuﬂidenttoanswa-thequeg. f
tion, while the data in statement () f
alone are not sufficient to answer the *
question;
(3) if the data even in both state. '
ments () and (1) together are not syf. '
ficient to answer the question; ’
* (4) if the data in both statements ’
(1) and (1) together are necessary to |

.answer the question. |
16. In which direction is Mahatmaiji's 1
statue facing ? |

I. The statue is towards the
northem end of the city.

Il. The statue's shadow falls to-
wards East at 5 O'clock in the
evening.

17. What is the total number of pu-
pils in the final year class ?

I. The number of boys in the
final year class is twice as

12. How s ‘over’ written in a code much as the number of girls
? in that class.

I. 'Overand again’ is written as ‘Ka Il. The sunvof the ages of all the

Jaha’ in that code language. pupils in the class is 399

I. *Come and go' is written as ja pa years and their average age
na’ in that code language. - is 19 years,

{ BPRE-§32}—___ -



""'Q.e N . BAALL
a8, /wh:t:l*?tamonsA. B.C

- 4
Mg

:"gf month begins on Mon-

i g’:monthsendson%dtm-

M’
what is the total number of
pageﬂ in this l?ook ?
| ] counted 132 pages from the
. of this book.
1, My wife counted remaining
' 138 pages starting from the
of the same book.
W(zl—ﬂﬂ] : Each of the
W, below consists of a ques-
and two statements numbered I
ﬁﬂ given below it. You have to de-
e ahether the data given In the
Wmarewﬂidenttoanmthe
qestions- Read both the statements

ot

%

(United India Insurance AQ
Exam. 27.03.2011)
gGive answer (1) if the data in
t1 alone are sufficient to an-
grer the question, while the data
psiatement Il alone are not sufficient
ypanswer the question.
Give answer (2) if the data in
gatement il alone are sufficient to an-
wer the question, ‘while the data
instatement [ alone are not sufficient
loanswer the question.
Give answer (8) if ‘the data ei-
iher in statement I alone or statement.
Ialone are sufficient to answer the
question. _
Give answer (4) if the data even
s &\ nboth statements 1 and i togethér
- wenof sufficient to answer the ques-
st tons,
¥} Give answer (8) if the data in
bth statements | and 11 together are
Mcessary to answer the question.
LD, EF, G and H are sitting
around a circle. Are all of them
facing the centre ?

L Dissitting second to the left
of G. H is facing the centre
and is not an immediate neigh-
bour of G.

I Fis sitting second to the’
Tight of E.E is sitting sec-

LI T LRI eesT s U TIGIERIUY § '

nbm“gm n““""-‘d’ﬂgthegmund

1. The area tn which the build-
ing stands has a rule that no
building can have more than
six floors {including the

ground floor),

li. Three familles reside in the
building. No two families live
immediately above or below
each other.

23. Which direction is Sunny facing ?

L. If Sunny turns 90° to his left,
he will be facing North West.

II. f Sunny turns 45° to his
right he will be facing a di-
rection that is exactly oppo-
site to that of Sunil.

24. Howis Brelatedto E ?

I. Risthe motherof BandEis

the hushand of R.

II. Rhas only one daughter who
isd.

25. Among J, X, L, M and N each of
a different age, who is the young-
est?

I. J is younger than N but el-
der to K.

II. L is younger than M but el-
der to K,

26. In which month of the year was
the exam held ?

I. Suzan correctly remembers
that the exam was held be-
fore July'but after March.

II. Gita correctly remembers
that the exam was held after
February but before June,

Directions (27-31) : Each of the

questions below consists of a ques-

tion and two statements numbered |
and II given below it. You have to de-
cide whether the data given in the
statements are sufficient to answer the
questions. Read both the statements
and—
(United India Insugance AO

. Exam. 26.05.2013)

Give answer (1) if the data in

statement ] alone are sufficient toan-

swer the question, while the data
in statement 11 alone are not sufficlent
to answer the question.

Give answer {2) if the data in

statement Il alone are sufficient to an-

swer the question, while the data
in statement I alone are not sufficient

T - U ¥ I

estion.
Give answer (4] if the data even
(l,and 11 to, er

in both statemerits
are not sufficlent to answer the ques-

tHons.

Give answer (5) if the data in
both statements 1 and || t.oget.tl'ixc:.:'l are
coessarytoanmrtheques .

" of Yogesh

" 7. What is the position
‘ left in the

1. Praveen isexactly in the mid-
dle of the row. There are five
rsons between Praveen
and Yogesh. Yogesh s
from the right end.

II. There are two ns be-
tween Scema and Praveen

and another two persons be-

" tween Seema and Yogesh.

- 28. Inwhich year did Ranjana com-

plete her graduation ?

1. According to Ranjana’s father
she graduated after March
1989 but before March 1993.

II. The brother of Ranjana re-
members correctly that she
did her graduation after
March 1991 but before
March 1994 and the year of
her graduation was an even

I number.

. 29." Are M, S and N in a straight line ?
1. N'is'6 metres East of M. O is

4 metres North of N. T 1s 3
metres West of O and S is 4
metres South of T.

~ IL'PS 6 inetres North of M. Q
is exactly in the middle of P
and M. R is'3 metres East of
Q.S 1s 3'metres South of R.
N is 3 metres East of S.

30. Whether it was 4 O's clock two

hours ago ?

I.'At present; both the hands of
the clock face the opposite
direction along a straight line.

1I. Two hours ago, both the hands
of the clock together formed
an‘angle of 120 degree.

81. Among1, A, G, K, J and V who

is the tallest ?

. Vis taller than J and G. K is
taller than I and G. K is not
the tallest.

IL Vis taller'than K and 1. J is
taller than G. Vis not the tall-

ond to the left of D.-

\._

toanswer the question.

est.

ooooooo
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Directions (32-34) : Each of the
questions below conststs of ques-
tion and two statements numbered I
and H given below it. You have to de-
cide whether the data glven in the
statements are sufficient to answer the
questions. Read both the statements
and—

(LIC Assistant Administrative Officer
(AAO) Exam. 12.05.2013)

Give answer (1) If the data in
statement I alone are sufficient to an-
swer the question, while the data

In statement I alone are not sufficient

to answer the question.-
Give answer (2} if the data in
statement If alone are sufficient to an-
swer the question, while the data
in statement I alone are not sufficient
to answer the question.

. Give answer (3) if the data ef-

ther in statement I alone or statement
Il alone are sufficient to answer the
question. _
' Give answer (4) if the data even

In both statements I and II together
are not sufficient to answer the ques-
tions. .
Give answer (8) If the data in

both statements I and II together are
necessary to answer the question.
32. In which year did Avani start her
business ?

"I According to Avani's mother,

" ' Avani has started her busi-

' ness after 2006 but before
2009.

I. According to Avanf’s father,
she started her business be-

fore 2010 but after 2007 and

the year was a Leap Year.

33. Who among Meera, Jyoti, Pinki
and Sadhana is the tallest ?

1. Meera is not as tall as Pinki or

~ 1L Jyoti is taller than Sadhana.

34. How is N related to M ?

.1, O is the husband of N.
1. Z who is the sister of brother
M is the daughter of N.

38. The logic problems in this set
present you with three true
statements: Fact 1, Fact 2, and
Fact 3. Then, you are given three
more statements (labelled I, i,
and Ml), and you must determine
which of these, if any, is also a

fact. One or two of the state-
ments could be true: ajl of the

none of the satements could be
true. Choose your answer based
solely on the informaiton given
in the first three facts.

Fact 1 : All hats have brims. Fact
2 : There are black hats and blue
hats.

Fact 3 : Baseball caps are hats.

If the first three statements are
facts, which of the following
statements must also he a fact?

I. All caps have brims.

Ii. Some baseball caps are blue.

Ill. Baseball caps have no brims.

{1) I Only

{2} 1 Only

(3} Il and I only

(49) None of the statements is a
known fact.

(NICL (GIC) AO (Finance)
Ezam, 15.12.2019)
Directions (36—20) : Each of the
following questions consists of a ques-
tion and two statements numbered I
and II given below it. You have to de-
cide whether the data given in the
statements are sufficient to answer the
question. Read both the statements
and choose the most appropriate an-
swer,

(NIACL Administrative Officer

: (AO) Exam, 10.01.2015)

-38. How is ‘self coded in the given
code language ?

I. Inthe given code language, ‘help
self to win' is coded as ‘& & * '+
and ‘help to win him’ is coded as
+$% &,

IL. In the given code language
‘make plan with self' is coded as

‘@ # #>' and ‘connect to self im-
portant’ is coded as ‘&/? *.
(1) Thedata either in statement
I'alone or statement I alone
are sufficient to answer the
question,

{2) The data even in both state-
ments I and II together are
not sufficient to answer the
question.

(3 Thedata in statement Il alone
are sufficient to answer the
question while the data in
statement I alone are not suf-

ficient to answer the ques-
tion.

(4) The data in both the state-
ments I and II together are
neécessary to answer the

statements could be true; or l

T

question,

W‘

IL

ple. M weighs more than by :;
less than Q. I
() Thedata either in statery,,
I alone or statement 11 t i o
are sufficlent to answey the pﬂp
question. ﬂdﬂj
(2) The data even in both state. ;9’“,
ments I and II together ane god
not sufficient to answerg,, ¢
question. o
(3) Thedatain statement Il alop, aﬂd
are sufficient to answer,,
question while the data i iﬂt
statement I alone arenotayp. !
ficient to answer the Queg. d8
tion. i
(4) The data in both the state. o0
- ments I and II together are ¥
necessary to answer the ||
question.
(5) The data in statement 1 alone
are sufficient to answer the
question while the datain
statement II alone are not
sufficlent to answer the ques-
- tiom.
38. On which day, of the same [
week-from Monday to Sunday —
was Naina born ?

IL.

. P weights more than M b“‘-lea@ 4 1

(5} Thedatain

\/sﬂfj

are sufficient to am\,:;l”“t ‘:‘,t'
question while the datath! B‘F
statement I alone gy, W
sufficient 10 answer th,e qu"‘? A
tion. ¢

Among students M, N, ¢, Panq d f:c'
Q, each having a dlffere,“ .
weight, who weights the Mogt

than'N. N does not weigy o ©
most. M welghs more than ¢ ¢ 25‘
P weighs less than only W0 pe,, |

. Naina's aunt correctly remem-

bers that she was born after

Tuesday but before Sunday and

that she was not born on a

Thursday.

Naina’s uncle correctly remem-

bers that she was born after

Monday and she was not bon

on a Wednesday.

(1) The dataeither in statement
I alone or staternent I1 alone
are sufficient to answer the
question.

(2) The data even in both state-
ments I and II together ar¢

. not sufficient to answer the
question.



%,

taterment il L & t FV r
/ odatal® e | T T bty Yed chifidren, M and i * &) The’ data in both the state-

\
Q"q : 1n ent to answer the
el @ e ’Uﬂrladwhﬂe the data in wma. ,ﬂE Is the daughter of M. J is ments 1 and Il together are |
IQQ qi‘ib- i qucﬁt’a ne are not uf- ed to M. Wis married to an oge :I
NN #tanﬂ‘“ab s (1) Thedata K necessary to answer the ques- -
t'le » '1,: ! ﬁdent to answer the ques- lalone orclther in statement ton.
Lo oo™ are auﬂicl?att ement Il alone (3) The data in statement I alone
"O.p o data in both the state- quest nt to answer the are sufficient to 2 the
dlrf* \ W ﬂ:nts 1and II together are @ Th on. question while the data In
he oty  essary to answer the e data even In both state- statement Il alone are not suf-
"lb%‘lf ne estion: ments I and II together are ficlent to answer the question.
vqﬁuhl& g data in statcment Lalone not suflicient to answer the (4) The data either in statement 1
by &) @ gsufﬂdem to answer the @) Question, alone or statement Il alonc are
By v uestion while the data in Thedata in statement II alone sufficient to answer the ques-
i Quk :tatement Il alone are not are sufficient to answer the tion.
by gufficient to answer the ques- question while the data in (5) The data even in both state-
Bt o, statement I alone are not suf- mntslandlltogctherarenot y
I many people stand between fictent to answer the ques- sufficient to answer the ques”
‘%"Ho:lndLmastralghtllneofs ton. _ tion.
4 ’ ople (Note : All are facing {4) The data in both the state- | 42.1sJ grandfather of T ?
d ;}eorl-hl ? ments I and II together are L M is mother of Sand T. L 18
N second from the necessary to answer the fatherof S. Kis mother-in-1law
her pstands right oy
w&t| b gofthe line. Only two people question. of L. K is married to J.
4 ¢ etween B and M. O (8) The data in statement I alone I1. M and L are martied couple.
sane ; g fL Mis
I e stands between M are sufficient to answer the T is only daughter :\df M
Ay | dL Hstandsto the immedi- question while the data in daughter of J. K is wii€ 01
Y| terightofS- statement [1 alone are not (1) The data in statement Il alonc
lag Ystandsﬁat the extreme left end sufficient to answer the ques- are sufﬂciept to answer
ey | of the line. Only three people tion. : question while the data in
Ty gtand between Y and S.Sisan | Directions (41-43) : Each of the statement I alone are not :;ﬂ'-
immediate neighbour of both H following questions consists of a ques- ficient to answer the question.
tion and two statements numbered (2) The data in both the state-

. and I stands second £ the ments 1 and 11 together are

| jeft of M. and II given below it. You have to de-
tf ) Thedataeitherin statement cide whether the data given in the necessary to answerthle ques-
{ alone or statement II alone statements are sufficlent to answer the tion.
e are sufficient to answer the question. Read both the statements (3) The data in statement 1 alone
the i question. ‘ and choose the most appropriate an- are sufficient to answer the
! {2) The data even in both state- swer. question while the data in
mgr ments 1 and II together are (NIACL Administrative Officer statement Il alone are not suf-
5. not sufficient to answer the {AO) Online Exam, 11.01.2018) ficient to answer the question.

i question. ' 41. How many persons stand between (4) The data either in statement 1
" 9 Thedatain statement 1 alone N and B in a straight line of nine alone or statement Il alone are
! are sufficient to answer the persons, all facing north ? sufficient to answer the ques-

question while the data in I. J is at the extreme right end ton.

statement 1 alone are not suf- of the line. Only two persons | . (5) The data even in both state-

fcient to answer the ques- stand between J and F. B ments 1 and II together are not

tion. ;tagdsl;y etcla;rctly gz:een U t:ﬁ(dil :lt;glcient to answer the ques-
F. On ee ons s .

@ Eeiga:aag:llﬁ?; tg&::a;:; between K and B. Nis an im- | 43. In which year Sania was born ?
necessary to angswer the mediate nelghbour of K. I. Sania's cousin remembers that
guestion. {I. K stands at the extreme left she was born after year 1982

5) The data in sta +1alone end of the line. Only one per- but before 1989 and she was
are sufficient to answer the son Staéldabebft“’eenNK an;l R. born in an even number year.
question while the data in g;ytanmr&;e e:';e:;s st :nn d bU' Il. Sania's aunt remembers that
statement I alone are not Oy ond . Bis an tmme- she was born after 1984 but
sufficient to answer the ques- Smancighbourof F. before 1990 and that was a
tion, ‘ leap year.

4. 13 W the uncle of E ? (1) The gﬁﬁé“mittaﬁmm W alone (1) The data in statement Il alone
I M is the sister of W. B has only question while ti'_l';s‘g:{ u;‘e _ are sufficient to answer the
one daughter, M. D Is the daugh- statement I alone are no ta ? question while the data in
terof M. E 15; tl';e sister of D. fofent to answer the not sul- statement ] alone are not suf-
. ; question. ficient to answer the question.
—
— ———{ BPRE-835
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(2) The data i/ Both ‘the state. (1} The data in statement Il alone | 47. Point A 1s towards which dyre,. *,9
ments I and II together are are sufficient to answer the tlon from point B ? ) !,"d-
necessary to answer the ques- question while the data in I. If a person walks 4 towarg, ¢ {
ton, statement ! alone are not suf- the north from point A, apy
(3} The data In statement I alone

are sufficlent to answer the
question while the data in
statement II alone are not suf-
fictent to answer the question,

{4) The data either in statement I
alone or statement 1 alone are

ﬁcienttoanswcrthequcsuon.
{2) The data in both the state-
ments I and II together are
necessaty to answer the ques-
ton.
(3) The data in statement [ alone
are sufficient to answer the

takes two consecutive gy
turns, each after walking 4m
he would reach point C, which,
is 8m away from point B,

1I. Peint D i1s 2m towards the east ﬂﬂ“

/

of point A and 4m towards tp,
west of Point B.

TS,

1
(1) The data in both the stay,, ¢

zznm clent to answer the ques- question while the data in ments I and Il together are
_ statement 11 alone are not suf- sufficient to answer the ques, g
(5) The data even in both state- ficient to answer the question. tion. g !
ments I and IT together are not in statement 11 .
4) The data either in statement I (2) The data in & e alone
sufficient to answer the ques- @ alone or statement II alone are are sufficient to answey the ‘1:1
ton. sufficlent to answer the ques- question, while the data y,

44. Among A, B, C. D and E, each tion staternent 1 al-:ml:_l-l are not gyf, q,'.
having different height, who is the ' ficient to answer the questioy,
shortest ? (5) The data even in both state; (3) The data in statement 1 algy, ¢
I. Efstaller than C. E is shorter ments [ and Il together are no are sufficient to answer tne  f

than A. A is not the tallest

sufficient to answer the ques-
tion,

question, while the datg jy,

statement Il alone are not suf. f
* ficlent to answer the questioy
(4) The data in both the state.
ments 1 and II together are
necessary to answer the ques. e
tion.
(5) The data either in statement| ¢
alone or In statement Il algne |
are sufficient to answer the |

amo! .Bi ler th
onlyl::g. them. B is taller than Directions (46-80) : Each of the
II. Aistaller than m"jly three per- | {ollowing questions below conststs of
' sons, C Is shorter than Aand | 2 question and two statements num-
E. ' bered I and 1II, You have to decide
(1) The data in statement II alone | Whether the data provided In the stat;e-
are sufficient to answer the | ™¢Nts are sufficlent to answer the-
question while the data in | question.
statement I alone are not suf- (NIACL Administrative Officer

Exs question.
ficient to answer the question. (A0) Online + 12.01.2016) hara
(2) The data in both tlclle state- | 46. Whoamongst L, M, N, Oand Pis | 48. haves ) rothers does Bharg
ments I and II together are the shortest ? - 1. Shiela, the mother of Bh
1] 1 ] amt
necessary to answer the ques- L 31 ;?glw“e" than P but taller has only three children. l
on. n N.

I1. Meena, the grandmother of
Bharat has only one grand.
daughter.

{1) The data in either in state.
ment | alone or statement I ﬂ
alone are sufficient to answer
the question.

{2) The data in statement alone

(3) The data in statement I alone
are sufficlent to answer the
question while the data in
statement I alone are not suf-
flcient to answer the question.

(4) The data either in statement |
alone or statement Il alone are

Il. Misnot as tall as L.

{1) The data in statement 1 alone
are sufficient to answer the
question, while the data in
statement Il alone are not suf-
ficient to answer the question.

(2) The data in statement II alone

sufficient to answer the ques- are sufficient to answer the are sufficient to answer the
tion. question, while the data in question, while the data in
(5) The data even in both state- statement I alone are not suf- statement Il alone are notsuf- .
ments I and Il together are not ficlent to answer the question. ficient to answer the question. |
sufficient to answer the ques- (3) The data either in statement | (3) The data in both the state- :
tion, alone or in statement II alone ments 1 and II together are -
48. How is ‘most’ coded 1n a certatn are sufficient to answer the pecessary to answer the ques-
g 7 Question. @ gﬁn‘d ta in both the state
I. Inthat code language ‘most of ¢ da 0 .
the time’ is written as '# & % “ g; ?Iatz h:tﬁg:h steatel?er;tf;l ments I and II together are not
7" and ‘of the regular time' {s g are not suffl- sufficient to answer the ques-
written as ‘& # 7 >* clent to answer the question. tion.,

(5) The data in both the state-
ments I and II together are
necessary to answer the ques-
tion,

(5) The data in statement II alone
are sufficlent to answer the
question, while the data in
statement | alone are not suf*
flcient to answer the question

—{ BPRE-836 , -

II. In that code language ‘most
peaple make ft' Is written as
‘@ * % $' and ‘1t most special
tough’ Is written as ‘% £ + &',

—_ LR ==
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F == 4,
e o ta the | = >HORT ANSWER 29| @] s :2 8. G
O er of Q. @ 18 ANKS 6] 7. 1)
3 ] N an mﬂul 9,
o, 8 ll-’fan e father of N ana N & IBPS PO/MT/50 = 10| 15,0 18- 5
SO I8 e enter er tatement I 3} ¢} 150 ©)]10.0)} 99 )
W % the "’tamd“‘“tnalonem L@] 2@ 501 17. @[ 1s. 23.(4) | 24:
taternen the ques- 8. (4) 7. 4) )| 22. () 28, (5)
clen 1_8®] 0o 8.6 | | e @ (@] 33
ﬁ: tain statement [ alonc 19.6] 1@, DT T e e oy
The ¥ icient to data in 18.(2)| 18, 4. (4) | 98, 40, (5)
@ e suf while the tsuf- || 17,5 24. (9 33. (4) @
. 23. (1) : 39. - {3)
quca""f,t;alonem:::,ucm. 3.0 223 @| 28.(5 37.(5) | 38.(2) 43.(4) ) 441
teme theq 26.(9)| 27, 42. (3) 48. (4)
T e are sufheient 29.(5) | so. :;: B sew]| o ia) D ((3)
dgilt uestion, : [5} M. 40. (4) 1] B30. B8.
:;‘ answer th:t;ltemcnt 1 al°§: 39 ()| s8.@)| 39.(5) 2.5 49.( - 54.(3) ] BS. (1}_ - 80. (1)
g ent Il alone ' question. 45.(5) | 48. (3) 81 (5)] 52.(5) 6.(3) 62.0) 67.5)} 68. 11
staet;l:lto answer thet;le state- 49. (3)| s0. [4) BB. (2)| 86.(5) @8. (5) | 6. (2) | 72.3)
fic data in boththerarenot 53.44) | 54.(2 2){ 60.(5 70. B3} | 71. 76. (1)
B ents land rower the ques. 87.14)| ss.(| so. 6] 64.0 | | [ 0.0 74.(@ | 75.0) @)
flumcicntman 61.(5)| ez (5| &3. 31 es. ) 73. (3) s‘ ® | 79. 3| 80 6
. " Ideena' . 67- 7 - 84.
- uonthc five friends Vizwho 1 es. [ ee. @ 7L (4}| 72.(5) 77. Q) 82.(3) | 83.3) (k)
S e ity IR (6] 78. (1) (3) | 88 3| 92
& seated aro tre ? left 73. (5) 78.(4)| 80, 8%. M| o1. ¢
\  mgthecen econd to the lef 7.4 78.09 D2t e @ [ oo,
& Leenta sits s faces the cen . 82. (4)| ss3. o 94. (3)
S Amit d to the 81. (5) (5] 88. 23. (5)
: of Amit. its secon (4)] 67 )] RADE-B/
S , Arun s 8. (5| 88. .| o2 E_
g;ht of Leena. the left of Ken. 8 (3)] 90.{5)] 91.( )| 8.2 RBI G E=A
Y Ken faces the te lef of All but 93.(4)] o4 5)| 99.14)] 100. ( NABARD
tIZe trllle me:lizt: immediate 97.(4)] 98. :4) 103. (4) | 104. g OFFICER EXAMS ' )
in no Amit. . (5| 102. 108. 4. (5
neigh in statemen er the 108. (5 | 1 111.{2) | 112 (1) 7.0 8.3
(1) The ngt'ﬁacient to t?:;s‘;ata in 109. (5) | 110. ::; 118. 3) | 116. ) 50| e g ol 20
are hile t suf- | 114. (2) . 11.
ion, W no . (4) 120. 10. (2)
atement I wer thequeston. | [ 775 :3) 118, (1)f 119, (4: 124. (4) 2.9 m| 18| 16.(3
fcent to both the o | [117. (6) | 122. (2)) 128. (3 128.9) 11 18.@ | 14 )| 18. ()] 20.(8)
e ot I are question. 1:;' (6| 126. (3] 127. g: 1920 | ' 17,0 | 18. u] 23.3) | 24.6)
lent to ans the 8 . (3} } 130, 136. (3 21. .5)] 28.
9 The cat e esesny 1500130 iso.0[ 1806 S @| s2.6)
n. . [ ]
meﬂt:“f;nthe queﬂt::t ement | 137. (3)| 138. (5)| 1 (5) | 144. (4) 20.(5) | 30. (1) @ se.@
foan ta in either ’11 alone are (6 | 142. ()] 143, 148, (5) 1)| 34.(2)]| 38. (1)
alone to answ 1486, (2 . . (1} ] 182 7.02) . 5)
tsilc:nm e tement Il al°ﬂ° 149. (4) | 180, (2; ::; (6) | 186. (4) :1 Sl M B
’ ta er the 84. (5 : :
O Thedata B o he data in | (150, (1 100. 3)
uffic the 188. (3)
are suon' Whilee are not suf- 187, (2)
o tement | alon ueation, 87
stateme answer the q BPRE-S
ficlent to *L,._._F_a
S ——
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—j{ DATA SUFFICIENCY |- <
o T
From stateanent II 11. {2} From statement i1 o
L] 3.0 s & From statements I and I Therefore, A is the tallest, !
0.5 ] 10.4)| 115 | 12.(9) walk is[good]—p[0a) pa
13681 14.6]18.¢4) [ 16 wish you[9o9d mowning]—> ta [FE ),
2.2 | 229 23.(11) | 2¢. Pis :“J;ﬂh direction with re- | 19 (5) From both the statements i
as. . . spec ' Arun’s birthday fson Th“l'!dal;,
29. ] 30. (1] 91.(5) | 32. 1) Rank of Samir from the top tradictory information. g
3.4 | 34.9] 35.2 | 98.(1) =45-15+ 1 = 3lat 18. (3) From statement | Piﬂ
372.(1) ] 38.(2)| 39. (3) ] 40.(9 \ Rank of Sunita = 36th North &
4.(2) ] 42.(4){ 23. (1) | 4%. 3 From statements IT and I 20m :
45.039 ]| 48] 27. 2| 4. 13 29 4 West East
Students Students ¢
49.(3) | 50, (4) —— R U N—— 30m
30th % South E
There are 10 students between c
. EXPLANAHONS Radha and Neeta. So, there :‘0; is 30m away § ‘[
would not be exact middle posi- an rom the
NATIONALISED BANKS ton., sartingpolat. |
& IBPS PO/MT/SO EXAMS 6. (4} No answer can be found even roms ,
LAY /50 it using the data given in both
1. 2) From statement I the statements.
Raju is the son of Pramila. 7. (4) From both the statements 20m
Statement IIT The sibling of Ramesh'’s mater- .
Pramila is daughter-in-law of nal aunt is wife of Yogendra.
Manohar., Therefore, Ramesh s sibling of
Therefore, Raju s grandson of Lata.
Manohar. The sex of Ramesh is not known. Mohan is 30m away from the
2. (2) From statement I 8. (5) From both the statements, starting point.
Anil > Subodh > Meena, Neeraj 16. (4} From both the statements
lﬁmn;::;m:rl:mrmn [world] peace[is Jim portant | he | __) ha
Therefore, Anilis the first to take | & call = kafsofba [i] she fre) — [ iy
the lecture. @ this map  —>defa_ai] . The code for ‘sure’ is either ja'
3. (1) use the [rope] ® nik ' The code for ‘peace’ is ‘ve', or'ma’.
re—1 9. (5 Or ‘peace’ s ‘pe 17. (5) From both the statements
‘ 10th
[rope] is strasght @ peda [&] | N —>Ml«——F]
-1 T R’s position from the left
=10+ 16 +1 =27th
Now, is straight w ® 1 18.(2) Fromstatement 1t
15 km M is the husband of T.
®peda [ta]—ii | s J is daughter of M and T.
. 19. (1) From
always use ® ma re [¥] Starting Point ) Statement]
. ‘ . N
— I Neha is now walking towards [Ke NW NE
4. (1) From statement I West. I
10. (1) From statement I o W B
M 18t of the month = Tuesday o SE
T 8th of the month = Tuesday SW 5
Re4¢——p 15th of the month = Tuesday
f I R

A EERE838 e
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m,}‘t \ /mcwmltls{lwumt 28.(5)
tyd prom U1 towards North-east of Shahid war o, e statements,
- r% T 29, (5) nomwba;bm“h o Thursday.
Q . prom statement Il is the heaviestfhe statements, T
: T>R
o and o @ 2 heavir than p
] .
I en::‘hq 30. 2: ;""m Statement 1,
A5 0 CIOCR. the hour and
nm%;; fil R ::hu:e?m ute hands overlap each
AY From both the statements Statement It
”P:vG’T’S’R 3 Theﬂme1911+3=-20'clock
1, (1) From statement I 1. (3) From Statement |
'5 urav visited Delhi on Tuesd,
s or Wednesday. VIt gooﬂ marks— pe I ta
wednesday Is odd day. There- | she has
. jore, he visited on Tuesday, cold = Je ra ki
From statement I From Statement 1 -
sourav visited Delhi on Tuesday | whar pave
or Wednesday or Thursday., you —de wa me
"t | 4 (@ The date of birth of Yasir is | Brazl [got]four goals — di b fe[s0]

February 29. It means he was

porn in a Leap Year,
From statement I :
Leap Year between 2005 and

2011 was 2008. .
From statement II : .
2012 - 4 = 2008 and 2008 was

a Lﬂp year.

23, (1} From statement I :
Out of 42 students, 38 play both
chess and cricket and the re-

32. (4) From both the statements
{__Jyotl > Sadhana _; Mm
Pinki"
33. (5) From both the statements
" N is mother of M and Z.

34. (3) From statement I

A is the brother of B.
~ From Statement II -

A has to sisters - B and F.
Therefore, A is brother of B,

maining four play only cricket..
C‘Il‘lllgfore.' no student plays only 88. ;? )1:‘22:::??‘;1 ti
%, {2) From sta ntI: 36. ge?;t:n ?::'[:a i;.atements contain
Tl number of studentsinthe | g7, (1) From statement
=2000 + 80 + 104 = 2184 oo o of the bullding be-
%.(4) From both the statements From statement Il
Geetha > Shilpa Construction begins in April or
Deepa > Meeta June or September.
Sadhana > Sunita 88. (4} From statement I
Sadhana > Shilpa, Meeta, No answer -

Deepa ' From statement II .
ltis not clear whether Sadhana One Batsman of Team X makes
or Geetha is the tallest. 98 runs.

%.(3) From statement I : 39, (5) From both the statements
Amit's birthday is on 24th Sep- P>R>S>Q
tember. 40. (4) From both the statements
From statement 11 ;
Last Friday in September 2010 | (@)[F2(@)[o]—> G honesd [bank empioyee]
, :)?;hu‘ sa [1o]ja[pa] —» [cmployee] of the [bank]
: e Day -
ety are ot suifclent o s | ” = @l ot
five at o definite conclusion. to i sa —>» reputed officer of
— | BPRE-839 |
r 9 [ N | u u .
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41. (3) From statement |
Jay is sibling of Rishl.
From statement I1
Jay is brother of Rish!.

42, (4) From statement II
S is uncle or aunt of T.

43, (1) From statement 1
T>U>S,V
From statement 11
T.U>V>S

" 44, (5) From both the statements

N likes jce-cream.
L likes chips.
M likes chocolates.

48. (5) From both statements
Four weeks means 28 days.-
Therefore today is 21st

46. (3) From statement 1

PERIL—>QFQJM

Thefefore,

WATCH—>» X
+1
+1
-1
+1
+1

J -
«1_ % T (e
+1 ) i
-1 I S
+1 :
+1 '

A

From statement I

Therefore,

WATCH—> XB

SD
| +1 T
+1
-1 )
+1 )

I
4

-
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47. {3) From statement I

heavy rams(@astloight —p na ke jafid
finished [astlin race = soficJto pa
From statement I1

the furniture should—) di wifioJbe
give mcclunce —>[idjfaraqt
48. (5) From both the statements

B D A E

LI 11

49, (3) From statement I

Shilpa is facing east.
From statement [1

Shilpa is facing east. _
80. (4) From both the statements
C is father of A, B, E and F.
D is mother of A, B, Eand F.
B and F are brothers of Aand E
is sister of A. :
The gender of A is not known.
81. (5) From statement I
Karan drove 15 km, 16 km, 17
km, 18 km or 19 km
From statement Il
Karan drove 11lkm, 12km, 13
km, 14 km or 15 km.
From both the statemernts .
Karan drove 15 km.
82, (5) From both the statements

Raj is facing South-east.

North
NwW NE

West East,

SW SE
South
83. (4) From both the statements
Reena > Teena

Deena, Meena

L wW‘/ll’llﬂ?‘f'”!"l“WI./ll b FLF s LI
84. {5) From both the Slatemen,

-~

—— ._“

B4, (2) From statement I ;.F'
s o L 1 D Q .
-ll -|-ll —ll +ll —ll @
kK P K J C S b !
B6. (2) From statement II o(j
J is the aunt of N. ¢
86. (5) From both the statements $
Jason > Peter, Joseph > R T 1‘,l‘
Kevin m;mediate right of [
ts Psitsto T
87. (4 From both the stj'atemen 65. (1) From sta ntl
@lhappy today]—>[ ke nc | Nol;th
] w0 » B e o
play - pa -
@ @ . South
Ba. '(I;)wni.zdc molimiid eorne He was facing towards ey
m S
H s mother of J and V. V is the | 66 (4} From both the statements
only daughter of H. Therefore, P>0>N
J is brother of V. L>M
59. (2} From statement II 67. (3) From statement |
‘ The colour of white snow is Leena
orange.
60. (5) From both the statements
P
Q T
Amit
Arun sits second to the right o
S R Leena. If Leena faces the centre
then Arun cannot be second ty
u the right of Leena. It means Lee.
o na faces outward.
Q is second to the right of T. From statement II
81. (5) From both the statements
_ There were 346 employees. Ali
62. (5) From statement I
Grand total of Team A Amit
= 86, 87, 88, 89, 90, 91, 92 or
93 points
From statement II Ken
Grand total of Team A
= 81, 82, 83, 84, 85 or 86 Ali is facing outward.
points : 68. (4} From statement I
From both statements Q is the grandson of T.
Grand total of Team A But the gender of T is not given
= 86 points 69. (2) From statement I
63. (5) From both the statements 4m North
C OMETDVY t
-ll +:1 _ll +ll _ll _]i 4m 4m West Eeas
B P L F C X @A ] South

BPRE-840 |~
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Q \ msjuon of B cannot be a8-
'[ :lf’i‘md ement I A
mmsmtem NE
2
b @”" D 4m West
owards west of B, East
Al both the statements
h T r A ¢ has one brother and one
t ed'qte dstero
e 'lg}“ From both the statementg
N e v [0
Wt
> nas
gaﬂ]ﬂe and come baCk

or Ja"

K,J)W:»P:»M.T

Els[r3]

7[*3 8]

heugw' Therefore, $ = really
lhe%_‘

¢ Pand T are daughters of J.
=208l M is son of J.

78. (1} From statement I,
12th

fS——fif—

17th
50-29 = 21 .
76. (4) From Statement [

74. (5) From both the statements,

—;masa @‘da

The code for ‘never” s efther ngy’
7. (5 From both the statements,

73. (5 From both the statements,

o [T 3] reany [550]

~ [good flowers “are ] avagiapje

e @—-aoEe

F kT LI

77.@ From statement 1
M, 9 and R are daughters of s,
The sex of S 1s not known.
homttatememn :

Thereisng information about S,
78, (3} Fromi statement 1 .

A

D

If A 18 facing the centre, B can-
not be second to the right of A,
It means, A {s not facing the cen-
tre.

From statement It

C

E

If D is second to the right of C,
then, C is facing outward,

7. (4) I"romboththestatements

canhuys 0 E'
canbecheap-—-—)l 5 3

@mebderear@— DO 1

80. (1) From statement 1
Leena > Pra Shreya
. Jyoti, Kajal

Shreya 1s the shortest.
From statement I

Kafal > Jyott, Leena > Pia
P 3

>

_ Shreya
81. (5) From both the statements.

[ R
5 s
4 T
3 | Unoccupled
2 P
Q

82. (4) From both the statements

GopdddFeEvon]— EEBA

do[yousee] that —> 17

&;pray and Aa

@ 1 do well_"54 7

The code for ‘see’ is either ‘3 or
‘9.
83. (1} From statement I

[

C/E

C/E

D is sitting to the immediate left
of A,

84. (4) From both the statements

. XandY are parents of M and
R. But, it is not possible to de-
termine the gender of X or Y.

88. (5) From both the statements
' P>Q=R>S$>T

. BagTisthe lightest,
88. (4) From both the statements

please write —-)- 2 El 8
recelvc'dreck 5 m 3

write In English please—3y 9 0 8 4

—

~{_BPRE-841
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{ DATA SUFFICIENCY |

87. (5} From both the statements

Ca

88. (1) From statement [

Fifth Floor | B
Fourth Floor [ A
Third Floor |D
{_Second Floor |G
[ _FirstFloor | E
| Ground Ficor

89. (3} From statement ]

Kavita
e~
=
{0
'5 Yasir
£

Abhay

Kavita is facing outward.
From statement It

Prashant

Kavita

Yasir

Prashant is facing outward.
90. (5) From both the Statements
C Is grandmother of B and R.
Ris granddaughter of C.
9L (1} From statement |
C>A>B

D
92. (3) From statement |

Ken North

Ken is now facing south.
Therefore, Ay Is facing north,

Abhay

From statement I

ml_J ,

Priya is now facing north.
3. (4) No definite conclusion can be
" derived even with the data pro-
vided In both the statements.
O4. (5) From both the statements

. 2 ki
7li.m5km O]

95, (4) From both the statements
The gender of B-is not known.
96. (2) Al I, Il and HI are required
to answer the question. ,
P is the mother of B, D and M.
B'and D are daughters of P.
97. (4) Statement ]
E>B>A
Statement I .
O-0>-0>c>0-0
Statement ITl

O-0->0>0>D>F
From all the three statements .
E>B>A>C>D>F

98. (5) Statement I

Ré¢——W

T
Statement I

T

J—
From statements I and II

Ré—m

J"————>Z

J Is to the South-west of w.

99. (4) Mmaﬂmemw

Manoj's mothey visiteq

house on Tuesday and hi,
visit Chennal on W, M0ldig

100. (1} From statement [ apg m

|now or never againl
—=|tom Kka na sa

[aeatn] o [oov” o iy
= [na] ho[ka sa tom]

The code for 'go’ is ‘hg', y,
101. (5} From both the statemey,, - §
PW>T>Ms>R

102. {4) From both the statemep;,
youlwill begone ~» (k& pa [
he there —>Jja cla

103. (4) From statement | ,
It is not given, the brother q '
Sushant visited Chenpg; on
which day. ‘
From statement It i
Sushant visited Chennaj ¢, !
Monday, Tuesday, ’I‘hursday,
Saturday or Sunday.

104. (3) From statement |

TN RN RN NS, N

Starting Point North
20m West East
South
g
o
™
— W
20m

From statement 11

30 m Starting Polnt

20 m

Yoo th

30m

108. (5) From both the statements

Z and P are sisters of D and &
K is brother of Z.

F tasrts D

~—{_BPRE-842 }-
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~—1 PATASUFRICIENCY |

F b FLFs WL

¥y 1“0{2’
Ty mmﬂf [ Person From statements 1 and 1
North
East
South
make a <goind clear —— yy st < de
From statements I and I |
one its |kind _...,@ pi fe
in Jkind] and cash ——3ga to i [ko]
make money and cash —> to mi ru hy
money -various —> qu hy
From statements I, Il and I )
one AN @ >/
'inandcash —>» ga to ru
point for origin —> ba le - mi
make a point clear  —=> YU si mi de
make money and cash —> t0 mi ru hy
money various@ —> qu A hy
10 (4) From statement I From statement 1l
. B A
B D
A C
C
D —
~— e BPRE-843
PN N——————ref

From statement I} \
B .

A .\
: |

111. {2) It is clear from the statement
that a farm’s arcas for O -
and chemical farming are diffes

ent,

112, (1) From statement I
B is an architect.
A is a doctor.

C is an engineer.
From statement Il
+ EitherAorB or C is a doctor.
113. {4) From both the statements
The gender of @ 18 not given. ,
Q is either son or daughter of P p
and R.
114, (5) From both the statements

Read a [paper] — 8 1
Thinking andritinp—» 6 2 @

@Mﬂil’en —{@D s 3

[Papeqand Pen —[7]2 3
11%. (3) From statement 1
A

B C

11711

From statement 11

‘l‘ D/E ‘]l? D/E T
116. (5) From statement I

Neha's birthday is on Wednes-

day or Thursday.

From statement I

Neha's birthday is on Tuesday
or Wednesday.

From both the statements
Neha's birthday is on Wednes-
day.

117. (3) From statements Il and I it

is clear that S is the daughter-
in-law of B.

B is the motherof Nand R

T 1s the son of N and S is the
mother of T,

So, S is the wife of N.
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118. {1} From statements ] and I,

TR VIS NS 0 W W F i 1
e Y oatAsurFICIENCY | /

122. (2} From statement | 4
Q 4] '1.

It is not clear whether p g, fa.

ing towards the centre o out.
side. '
From statement if l,
N 9
[
|
P o
M
{3 is sitting second to the left of p.
123. {3) From statement [
Lisdaughterof K. Lis Bisterof ),

J 1s son of K. J is husband of Y,

WissonofJandY.Yis mother
of W.

From statement II

J iIs brother of L. Y is sister-in-
law of L. So, J s husband of ¥,
WissonofJ and Y. Y i3 mother
of W.

124. (4) From statement I
nice mount [View]-——> 3 3] 4 )
was heavenly——s{Z] 5 [ &

From statement It

he saw [the view) ——{§] 7[2] |
man admired [view]——» 0 9
From both the statements
nice mount [view]— 3 3] 4
was heavenly—2] 5 [6] 8
he saw —)E] 72]1
man admired [view]—» 0 9

The code for ‘view' may be el-

there are 33 students in the L N
class,
From statements If and 111 there
may be 33 or 44 students in the
class. o
119. {4) From statement I, Q
P
M
Efther N or P is second to the
) left of M.
120, (2) From statement [
) Y is mother of Z.
V is grandson of X.
It Is not possible to determine the
P Q relation between X and Z.
From statement II
Z is daughter-in-law of W,
X ia husband of Z.
: 121. (5) From statement I
E Day Event
Monday ® @
e Tuesday @ @
From statement II Wednesday E
P | Thursday @B @
Friday @0 0
Saturday © ©
N From statement {1
Day Event
0 Monday G
| P N Tuesday ®
Wednesday ©@®
Thursday @ © ®
o Friday ®@©
Saturday ©®
‘ Sunday @
@ : From both the statements
From both the statements Day Event
p 0 Monday G
' Tuesday D
Wednesday E
Thursday B
_ Friday F
N M Saturday C
Sunday A
5 Event A was organised on Sunday.

ther ‘2’ or '6".

( L ,
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o a " J T K [ @ITETJ@IE&MM 132. (3) From statement | :
TI TI T T T 129. (3 ﬁom;t‘:"t;g:;:iightend. BT AI_FL] Oevrens
H C A Middle
0 Thus, there are 11 persons in
Y ¢ J the line.
¥ T T B From statement Il
" J D TlfhllfhlllﬂJlll raons in
tatement us, there are 11 pe ,
Sthe, prom $ | the line.
"Q"lth_.p!a & @ ! E 133. (5) From statement I
%% S F O>O0>»D>»0>0>0
’ T DisullrdtOthele&orrjghtofB. N>P>Q
From statement 11 There Is no Information about M
of From statement 11
O=>0>M
S K R>N>O
D B P>Q
From both the statements
0 — ! R>N>M>0>P>@Q
from both the statements 134. (5) From statement [
Q s J T A o) E
”‘T TT T T T TT T D is third to the left or right or B. ®
e lag " | | 180.(1) FromstatementI
'} J is third to the left of K. ::5 :?;'G";ef of R,
From statement I : S wite of M.
Sterg [ 18 oL L is daughter of M and T.
Nqy;  Kis wife of L. L is cousin of J, : G
Moty  Nis brother of K. S0, M is uncle of J,
i Fromstatement II Y is sister of daughter in-law of A. From statement I
e L is the husband of K. . Jissonof DandY. G/H
ofy N is brother of K. A is father-in-law of T.
5o, Nisbrother-in-law of L. Mis grandfather or great grand- I
127.(1) From statement I mother of J. o vE
: 131, (3) From statement I
reason to Jearn better]—|xn ztaj E Day Play
a o learn{study|better] —sp [zt xn Iy] Tuesday 7z I/E
The code for ‘reason’ s ‘aj". Wednesday v
Thursd w G/H
From statement II " ay v From both the statements
Bason gl study important—s ykfn a]] o Saturday T/X N
@ﬁndnecessary —> st[xn]ds Sunday T/X
) . From statement II H F
The code for ‘reason’ may be ‘xn
or ‘aj’, Day Play
128.9) From statement ! Monday u
2 Tuesday U
—E‘i’s"__i‘_s_, G @ s Wednesday Y I G
Thursday Z
or
m 6 persons Yy Z/v J
[S] —t— Saturday v/W Thus, G is to the immediate left
From statement II ’ Sunday w of F.
f
_— ~——_BPRE-845 |-
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e
438, (4) From statement | 141. (5) From Statement |
Ranjay be broth
e =T B g ]| mmmReee
[ s never [ITWTe] s # [&] 8 2] From statement i1
From statement 11 Several arrangements are pos- No relation can be “tablhhed
little to 2 [5] 4 between Ranjayand
reason [iov]  —» . & F‘rom both the statements _ From both the statemema t’
betieve fiow] (s problem —»[%] 8 $ @ = Ranfay 18 the son of Paryay, }
From both the statements £ R S P T X Wi Aunt. Ranjay has no siblings, So,
: 5] T T T T T T o Parvat{ Is child Ofmatemalu
Eellere) —» BO®E X cle ofRs:‘njay Thus, Rﬂnjayh
i
—_ F le-T. X, Q and W- sit cousin of Parva
=5 /6N never — {2 t:rl:ep;;l});t iR g 142, (5) From statement |
w OFEH® -2 ® O 190, (9 From statement! s >R>D,
e @& 4\ probien — ®Y/E\ () o M H | qr
The code for ‘reason’ may be ‘& 6m Lﬁ_] From statement II
or'2, HD>M
136. (3) From statement | < >
R is the husband of A. H R, 8
Ris the son of Tand F,
ta
F is the mother of R, g Form both of statements
Als the daughter-in-law of F. 0 S >R>D>M
i From statement II _
C is the aunt of B and D. [5
So, C is a female. M H
T has only two children. Clearly, S scored the highes;
S0, R is a male and is husband marks in the examination,
Bof A 143..(5) From statement]
» Als the daughter in law of F. Iﬁl B studies in 1st or 7th standarq
C studies in 4th or 8th standard

| 137. (3} Fromstatementl
From statement ]I

From statement 1T
C>B>A>0O
- <>
a

. From both the statements

10th 8th 7th 4th 1st

"""" [E """"""" ’[El D/E C B A D/E

144. (4) From statement]

140. (5) From statement I

Clathn'dtotheleftofF
From statement I golng to [a party] —> 1 [E ¢ [nd

B
¢ | tor — [ «
From statement II
D E the party  ——> nqe [bs] am
. going tofstarf] ——y g la Q
A From both the statements

Clsth!rdtotheleﬁofF.
138. {5) From statement | “_'@ o (@) [ne)

B it e mtast |

R

From statement I{ —® : From statement I
BPRE-84B
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be

S

J XY S O MR NSt S e Y

Row - 1

By
I %

Row -2
From statement II
Row ~ 1
A/IC B AfC
Row-2 -
It is clear that B faces R,
148. (5) From statement I
B studies in 1st or 7th standard
C studies in 4th or 8th standard
From statement II
C>B>A>0
€<—>
O
! From both the statements -
, 10th 8th 7th 4th 1st
5m i D/E. C B A DJ/E
g 149. (4) From statement I
5 l 9m R
: North
|
T West€ >East Q Q
_ sSwW SE
' South
Itis clear from the diagram that
ﬂ ' point M is in North-West direc- S
;; tion of point A. From staternent I
! M8. (1) From statement] o
, M is mother of A, B and C. 3
B is the husband of R. OR
Ris daughter-in-law of Q- P
Therefore, Q is the father of A,
Band C.
From statex_nent 1 5 S
A, Band C are childrenof Mand @
{
~ ————{ BPRE-847 }—

150. (2) From staternent]

FER NS J6 N W W o l_

p——— e
R

East

West

SE

South
It is clear from the diagram that
point M is in North-West direc-
tion of point A.
131. (1) From statement]
M is mother of A, Band C.
B is the husband of R.
R is daughter-in-law of Q.
Therefore, Q Is the father of A,
B and C.
From statement I1
A, Band C are children of Mand Q
182, (2) From statementl,

Tl

SW

“




L7

L1 f

Row - 2
ltlsdeﬂrthathacesR,
183. (1) From statement |

T R

S

Pis to the immediate right of T.
From statement 11

P, S/T

S/T Q/R

Q/R

1B4. {5) From statement |

P has two dresses less than what
T has.

No answer,
From statement I1
M has seven dresses and T hag
10 dresses,
From both the statements
P has 10 - 2 = 8 dresses
188. {5) From both the statements

No [smiiing] area — 7] se do-
186. (4) From statement |
C.D>B

From statement I
C>A>E

Fromboth the statements

-)’L/Vl/l Ullllwr

| 187. {2) From statement !

| 188, {3) From statement I,

156. (3) From statementI,

West ¢—

Cr»A>E
C.D>B

A>E

C Is the brother of B and A.
ltlanotclcarwheﬂmrtheyare
children of P or not.
From statement I1

P has three children of which B
is a gtrl.
Therefore, P has two sons and
one daughter.

@?r?m

There are five persons in the line.
From statement II,

ﬁrfﬂ‘r

There are five persons in the line.

point S,

North

—> East

Sw »L SE
South

From statement J1, -

Iy
LSV L FV 5T WY F b PR o LS

4m

Point M I8 7 metre away
point S.

SBI PO EXAMS #

1.3 MCMA

BPRE-848 |

Pis fatherof Land Pis brothe,
of M.. i ;l
Since M is father of S, hc]gmale.
Therefore, 1\1 Is the uncle of
From statement B

R is the unele of L., :
Thus, either A alone or B alone |
is sufficient.

2. (4) From statement A

From the ahove diagrams it is
clear that we'can get answer from
either A and-C together or B and
C together. In both cases, the re-
quired answer is p.

3. (5) From statement A

Akhilesh'’s inivestment
= Rs. 8000 for nine months,
Animesh’s investment

Animesh’s investment
= Rs. x for one year
Sohil's investment

= Rs.. 2x for one year




the statements are nec-
Mw answer the question,
‘-w mﬂ.mtA
jin's rank from top
17-13+ 1 = 5th

Now,

Thus, Suresh’s rank is 9th from
top (and bottom also)

‘from statement Band C
oth 11th 15t

pn B g

Thus, Suresh’s rank is Oth.

8. (5) _statmentA

se[We Vo] [Tl | Then{ Yourg]
YoNa Ye

Young |Sharp| Tell

Clearly, Se represents Them.
; Statement B

i Na Ke PaLo — Clever Sharp Come
' Tomorrow

Ki Po Se Ye — Bring Clever Young
Them.

Statement C
? PaNa |Se

— Wise

KiTe

-

[Ciever Sharp Come |them[No |

[k Jni[Pa |Be] Te Na

[Come Sharp JRun| Clever No

Clearly, Se represents Ther.
Note : We can from also find the
code for ‘Them statements Band
C together and as such our an-
swer could be choice (2) i.e. “Ef-
ther A alone or B and C together
are sufficient”.. But we have to
use rinimum data to arrive at the
answer. Therefore, our required

Pa —Yellow

(oo TSI 2ot

10. (2) From statement I
P Nl e
] ke
K Sw g Se

No information about M and D.
Noanswer.

From statement Il

M.

b
-

Re—sp

answer woul]i be (5).

Ir BPRE-849
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8. (5} From statemen
S,R>Q>T ¢ It is clear that City M 1 in the
The . North-West direction with re- :
positiorn of P13 not clear. spect to City. D. ‘-
No answer. 1L (3) From statement 1 |
From statement 1y lr;)themmnhgmeshadow&fx !
Pis object 1s formed towards i
o th::c:ht:e aho;'test. Then, who Therefore, the right side of {
N amcc Tiest Shashidhar was West. It implies
answer, that Shashidhar wase facing
From both the statements South.
s! R: Q -] T
It is clear that T Is the shortest. £
7. (5) From statement I W
Mohan started his Journey from
Mumbai on Tuesday. >
No answer. i ‘
From statement It :'-i i
Mohan took three days to reach e |E ]
to Delhl. . [ L
No answer.
: 1 ]
But from both the statements we Tmﬂ.m;hasludhar was
can solve the question. ¢
East. Therefore, Shashidhar was
8. (4} From statement 1 facing South.
T and S are brothers of R. Therefore, the data either in
The sex of R i8 not given. statement I alone or in statement
No answer. 11 alone are sufficient to answer
From statement II the question.
Sand Rare children of same par- | 12. (1) From statement I
ents. A History
No answer. B Mathematics
Fromboth the statements C English
T, S and R are children of the D Geography
same parents. E Sclence
T and S are males. It is clear from the table that A
The sex of R is not given. teaches History.
No answer. From statement IT
8. (4) From statements [ and IT A Mathematica
S f
[lasoKten te —+{youlmay come D
E Science
No answer. No answer.

Thus, the data in statement I
alone are sufficient to answer the
question while the data in state-
ment II alone are not sufficient
to answer the question.

13. (4) From Statement 1

if
Bt 7y 3l




From statement I

]
44

No answer,
14. {(5) From statement I
AF>B>=C,DE
No answer.
From statement It
A>F>B
No answer
From both the statements
A>F>B>»>C,D,E

mum marks,
18. {5) From both the statements

7.30 PM.s
16. (4) From both the statements

it beau
s sod]pa tok -» hugefbunch ot was

ther ‘beautiful’ or 'flowers’.
17. (4) From statement I

Vs

No answer,
From statement II

S

]

p

No answer.
From both the statements

s

Re———p P

- 18. (3) From statement I
P and R are children of K.

- K is the wife of M.
Therefore, M is the father of R,
From statement It

M is the wife of R's father.

X

It 1s clear that A secured max-

The hour hand will be after Pat

Thus, meaning of ‘pit’ may be ei-

-)’ LY l’wmavvmmmt/rm —

18. {2) From statemnent I
R>T>Q,V
There is no mention of S.
From statement I

R&>T>Q>V

Ascending order of thelr height

V<@<[T]<s R
4
3rd

20, (5} From both the statements it
is clear that election was held on
15th.

21. (5} From statement I

N
NwW

NE
M—Q W E

SW SE

]

Theére {s no mention of R.
From atatement II

There is no mention of Q.

From both the statements

T \

M———Q

Q is in the Southeast direction of
- R
22. (5) From statement I

S>Q»>R T
From statement I

D>D>R>.P,T
From both the statements
S>Q>R>P,T

23. (4) Even the data given in both

the statements I and 11 together
are not sufficient to answer the
question,

Therefore, M 1 the mother of R

~ 4
25. (1) Fromboth the statemeyy, 7
nowandﬁkata F
youcome:::sm,apa f;

Thus, code fo!' ‘now’ may p, /
ejther*ka’ or'ta’.
28. (1) From statement 1 0‘

P is mother of M and N.

Q ie sister-in-law of N,
Therefore, Q i3 wife of M.

Thus, M Is brother of N,

From statement I1

M and N are children of §,

R is the sister-in-law of M anqy
daughter-in-law of S.

Therefore, R is the wife of Iy
The sex of M is not clear,

M is either brother or sister o
N.

27. (3) From statement I

Let the number of students se-
curing First Class =x
. Number of students who faijeg
=X

Number of students who pasgeq
= 3x

According to question

"3x + x=120.

120
HX= e =30

From statement II
Number of girls in the class
=10x4 =40

-~ Number of boys in the class
=120-40=80
<. Number of students who se-
cured First Class

80
=10+—j4—

28. {5) From statement I
Te [Le] Pa [Na}o
[t many )
R &
[You] sen

=10 + 20 = 30

" 24. (5) From statement [ [mangoes]
P and Q are only daughters of N, Zlhtll:::r ?fgz iOlI'q:mngoes may be
From statement It .
D is brother of P and son of M, From statement It
From both the statements Ge Nase..;they
M and N are husband-wife, .
: cat d 0es
M has two daughters P and g, and mang
Ne De — who others
BPRE-850 }- ~
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From statement I

K is the brother of D.

There is no information about T

in the statement 15 of D

We can't determine the aex

even with the help of data diven

in the statements 1 and 1L :

Therefore, our required answe ‘

is option {4). ?,
7. (5) “Mhere is no information about _‘_

P in the statementl. ont ;

Therefore, the data in statemy :

I alone are not sufficient to amn _f't

swer the guestion. !

But it is clear that M, S andg

are brothers and /or sisters

one another.

From statement I !

P is the mother of T and she has .E

only one daughter. :

it implies that T is the daughter

of P.

From statements I and II

Phas twosons S and T.

M is the daughter of P.

Therefore, the data given In both

the statements [ and Il are nec-

essary to answer the question.
38. (2) From statement I

R>Q. T

There is no information about P

and S in the statement 1. Thus,

the data given in the statement |

alone are not sufficient to answer

the question.

From statement I

T>5, Pand

S>»>Q.R

o, T>S>Q,R

P

It is clear that T is the tallest
among them.

Thus, the data in the statement
3 H alone are sufficlent to answer
«  the question, while the data in
the statement | alone are not suf-
ficient to answer the question.
{4} From both the statements

N is mother of M and R,

-f F is sister of N. Therefore, M is
3 either niece or nephew of F.

' 40, (5) From statement |
Birthday of Pravin's father
= 15, 16, 17, or 18
Birthday of Pravin’s father
¢ =18,19,0r20

“
1

0,

Common Date = 18

SN G 4 From,
ey for‘mmgbeu'uq_ de fy mmﬂltl
¢ o) tQ 1?0‘:.‘”"0".80. . @Pﬂnet.mm'.
A AT statementa the
% h‘i} ﬂwfar .mangoea &, quiz
ty b cod¢ statenent I = beautifyy)
Lang N ’;IIM No T, free
:!?ef N o Fromstatemen
d
3'0,‘3,2?" N ne *12 @B ~ @ rose flower
d ST
morg Ve | B st o .
S. orMa.,q S 34. (4) 1t 1a not giye, the
Wi, that village C s to Ithat
Clog TN, BB llagea e ww“;%?i‘h°2ﬁ‘;‘;’u“ ctg lo-
or porth cement I fore, it 15 o Thece-
r % from Dot possible to deter-
\ « om"ma"“‘ Fection of right side
From statement 1§
Hdeny, ’ Samiris e
.who * ,f ft . norgiﬂsoppoaue of Ashok
Gy | £ h“P;I:::lll'latAahokisfadngto-
0 pas. ¢ ‘
{ . eannot solve the questiong From both the statcments
f mmehclpofﬂusdlagxmn. Aahoklafadngtowardaoumand
| g (5 From both the statements 1t 18 sitting to the right of Ravi
" s
| ¥ 5 clear that if Rohan retires from It implies that Ravi is facing to-
I office ‘X in January 2008 he ward south or north,
! could not get full pension ben- Therefore, are required answer
f efits. is (4).
| 41 (4) From statement I 38. (5) From statement 1
189 / s>T>Pand @ o ?;imOtherOlesthedaughter
| Fromstatement .
Clayy | g>0>0>0>R fII(.hemotherolestlxeaisterof ,
the statements
0g. | Mromboth Therefore, the mother of N and
s>T>P&Q@>R K are the children of M.
Etther l: or @ will come at the But it 18 not clear whether M is |
third place. the father or mother of K. '
£.(5 From statement I From statement IY
P is the husband of R, who is P is the wife of M
the daughter of J. '
There 9.0 [nfo on about the ’;l-nerefore. M is the husband of
other daughter of J. There is no information about K |-
From statement I in statementII.
Qis the mother of S and R. From both the statements it is
§ s daughter of Q and sfster of clear that M is the father of K.
R 986. (4) From statementI.
From both the statements T is the sister of M and K.
J18 the husband of Q. There {s no information about D
0 Is the wife of J. in the statement I.
J1a the father of R and S. It is not clear whether M and K
RWSaredau@tem ofJand Q. are males or females.
Qs the mother of R and S. Thus, the data in statement I |
II: #the husband of R and hence alone are not sufficient to answer
the son-tn-law of Q. the question.
S— - —{ BPRE-851 |
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{ DATA SUFFICIENCY }

41. (5) From both the statements

46. {4) From statement I

D>N>M>T>R

42, (3) From statement ]

Day Subject
Monday Botany
Tuesday Mathematics
Wednesday Physica
Thursday Chemistry
Friday . Zoology

AN

H Thus, Chemistry was not taught
From statementIl ' on Wednesday.
' From statement II
D-——2>»M .
‘ Day Subject | Subject
Monday | Botany/ Botany/
’ Zoology Zoology
H Tuesday Mathematics| Chemistry
43. (4) From both the statements Wednesday| Physics Mathematics
always I_I Thursday | Chemitstry |Physics
et Lgood food ) ~{hajnajpata Friday Botany/ Botany/
enjoy eating [ good foﬁ[-pm]mu. Zoology Zoology

44. (3) From statement I
Q>R 8
Q>R. S>T>P
Thuas, the bag Q is the heavlcst
From statement il o
Q>R>S,T.P
Thus, the bag @ is the heaviest.
40. (2). From statement I

A

Itis not clear A, D and C are fac-

ing the centre or outward. ,”

From statement Ii

Thus, Chemistry was not taught
on Wednesday.

47. (2) From Staternent 1
At 9,30 the minute and the hour
hands will make an angle slight-
ly more than 90°

From statment Il
At 8.45, the hour and the minute
hands would coincide with each
other.
48. (4) From statement 1

_ Bis the father of M and T.
B is the grandfather of F.

~ The gender of F is not known.
From statement 1]
There is no mention of B
From both the statements

The gender of F is not known.
49, (1) From statement |
Il

HRE

Bhavna is the fourth from the
left end.

From statement It
. '._,°.°°°° o = oooc;
IOl
5] )
80 (3) From statement |
A 18 facing outward, R{|A|IN]|G||E

\/

From statement |

DREEN
DEEREL

B1. (5) From statement

V/T

From statement iI

u/w, v

u/w
S

From both the statements

'Tlasecondtotheleftofx.

82. (2) From statement 1

R, T>P Q

From statement 11

V>R T.P.Q S

From staternent i1

Q>S>P

- From statements [ and II
V>R T>P Q
From all the three statements
V>R T>Q>S>P
Clearly,, S secured the second

. lowestmarks

—{ BPRE-852 |
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00 nformation about the
M 2 i the statement L.

v‘lfl::ﬁsmemcnt l

T‘/—-—PP

qhere 1800 information about the
Alsge R in the atatement II.

S

is no information about the
village R in the statements I and
I, Therefore, we cannot arrive
gtatements [ and Il taken togeth-

er.
From statements I and III

e

Né——b Re—>(

/,,P

S .

Itisclear from the that
village P is to the North-East of
village R,

Visit us at :

at the answer even with the |

| ]
| DATA SUFFICIRNCY -

From tatement 1 and 11

oth 1lth 31
Te¢——ap LN E N E EE g
13the 5 i
¥
/ I The rank of Animesh from the i}
Ne—— e elther end 1s Sth. :
y o From statement 11 1
1 E—-
From atatement 111
s 'l'herankofl{amal-wthb Tow
Bhumika Is two pesition be
ﬁf&;’“’ from the diagram that Animesh
Vﬂlag:; Is to the North-East of From statements 11 and I
The position of Nirmal from the | Bl e
— OP=17-1341 a5 The rank of Animesh is 8th. :
B8, (1) From statement |
@ them young T @
Wise young sharp (e} — me yona ()
From statement I1 |
sharp come tomorrow  — na (] pale
brmg)'Oungthem = [ki} po.gye
From statement I11 .

| I I
[ clever sharp come| them I_nja [pa na] se{ki tel

yellow |come sharp|run|clever no) |_|E_|m lgla_l_l befte na
- | — T 1

It is clear that ‘se’ stands for ‘them’.
88. (3) From statement I

P is the wife of H.

P is the mother of T.

H 13 the father of T.

T s the wife of D,

T is the mother of B.

Therefore, H is the grandfather of B.
From statement 11 .

H is the father of T and N.

B is the daughter of T.
Therefore, H is the grandfather of B.

67. (1) From statement I

H]>[F]>(5]>[G}{E]
Clearly, H is the tallest and F is the second tallest.
From statement I

H|>|F

>

>

Gl|>

D|>

No answer.

BPRE-853
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88. {3) From statement |

North
NE

SE

South

J to is the north of R.
From statement II

It is clear from the diagram that
J is to the north of R.

. 89, {2) From statement 1

The number of students may be
4, 6, 8 or 10.

From statement II

[l [B][x]i[9]

It is clear that there are 10
students in the row, K is third
from the right.

60. (I} From statement 1
Arvind visited Mumbal on
Tuesday or Wednesday.
Wednesday is an odd day.
Therefore, Arvind visited
Mumbai on Tuesday.
From statement II

Arvind visited Mumbat on

Tuesday or Wednesday or

Thursday. :
61. {3) From statement I

BREd was pecled off —» & [ e o9
no paint’ but fhind —>7 5 [3] 8

Fl:bm statement II

ly e Gew) stne —>T3] 4 [g]
ve [y e new] ¢

62. (3) From statement |
C is father of Z.
sbn of His N, who is cousin of Z,
Therefore, C is brother of H.

East

—{ DATA SUFFICIENCY |}

From statement II

A s mother-in-law of H.

L is father-in-law of H.
CissonofAandL.

Therefore, Cis brother-in-law of
H

83. (3) From statement I

It Is clear from the dlagram that |

n
LA

Sm.

)
B

West East

South

It is clear from the diagram that
Point A is to the east of Point B.

From statement II

From the information given in
statement I, we get the same di-

agram given above,
64. (2) From statement I

Five to nine students scored
more than that of B. The rank of
D is 8th from the top.

From statement 11

Rank of C from the beginning

=25-16+1 = 10th
7thé——10th

00 E—

. Thus, six students scored more
than that of B.

68. (5) From statement I

B

A/E

LN

From statement It

C/EQ
A
C/E

From bhoth the statements

.
D
c !
/
e A

C is sitting second to the left of
A

66. (2) From statement [
‘A>»D>C

‘There is no information about B
‘and E.

‘From statement 1l
B is heavier only than E.

Therefore, A, C and D are heavi-
er than B and E,

Thus, E is the lightest,
(5) From statement 1

According to his mother, Rajiv
was born on 13th, 14th,
15th,16th or 17th May

From statement 11

According to his father, Rajiv was
born 17th, 18th, 19th, 20th,
21st or 22nd May

From both the statements
Common date = 17th May

68. (1) From statement I
Sonal has only one brother as
‘her mother has only two children.
From statement Il

Itis not clear how many brother
does Sonal have.

69. (4) From statement I

>l

a7
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' North
East
west
South
M|
A
Nty
From statement II
i [
D) and
7] M (€
o on. '
09 From statement [
wmeto office—>» so(ly ja
@m the night —>fo pa(@Dme
Iy From statement I1

Dith

nmsummcr —>ru ki ne@
mchedtwohours@ —>@le di co

71, {5) From both the statements.

DATA SUFFICIENCY |}—

L"s FVF - T Wt/l L s LTI

g
;
{

A

D

-kl

Alives on the topmost floor. So,
3. no on¢ lives above the floor of A,
(3) From statement

P T

Pis sitting third to the right of Q.
From statement Il
R

P

. T
P is siting third to the right of Q.
74. {3) From statement [

78. (1) The statement affirms that 32

76. (1) From statement}

77.{2) From statement I

per cent villages have 24 hours
electricity. It does not imply that
other have no access to
electricity at all. Conclusion Il may
be true.

z v Y w jc
¥ sits exactly in the middie of the
line.
From statement I
¥ oits exactly in the middle of the
line,

P>Q>S>RT
It is not clear R earns more or

less than T.
From statement 11

From both the statements |
It is not possible to determine that ;
R earns more than Rs. 40,000.

78. (5) From statement]

A
D B/E
C B/E
F
D sits to the immediate left of C.
From statement I1
E A
D

R L]
ﬂﬂ- ] ROW' 1 _ E
G F
Ly |l
| - R
i | [EE A 1
I RERE
;IR H
u Row-2 i It i8 clear from the diagram that
4 the Point C is in Northeast direction
I Clearly, Rissitting second to with respect to Point A.
right of @ and s facing E. From statement I1
72. (3) From statement 1 1m 6m @
" Floor Number Person
| :: 6 A
-' 5
4 )
3 B
2
! t floor. So 4m
Alives on the topmos ey It is clear from the diagram that
1o one Lives above the 11007 6f A | pong ¢ ig in North-east direction with
From statement I} respect to Point A.
~ BPRE-855
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—J DATA SUFFICIENCY |-
o
1 J G F
r 1 111
E C l l
1 H
From statement I
F
: S
A ' l l
Either D or F sits to the immedi- I F
ate left of C. .
79. (3) From statement { or
success necessary [evil | F 1 H j
L E@s 11 1
[T amangot us Pl
F G
e 7 E’ It is clear from the statement I
The code for ‘success' is either ‘1’ that all the five friends are not
or ‘5. facing north.
From statement II 82. (3) From statement I
mage o
E
— :
success | mantra is marketing |
—> [2]5
The code for ‘sucess’ Is '5'. A/B A/B
80. {3} From statement I
I Floor Number ’ Person
| 5 L
4 K C
| 3 J .
[ 2 H/I It is clear that all the five per-
1 I H/l sons are not facing the centre,
From statement IT
From statement II
A
Floor Number Person C
5 L
4 K
3 J
2 H
1 I
81 (1) From statement | E B
f f :f t |
[ 1 1

F

83. (3).From stategy, > Do ook, |
Pis the f; 1 %‘\h‘:

ather of

Ris unm )
inlawof R, ¢y,

P is brother of o
husband of ¢, R. So, p h‘h"

Now. it ls clear i
mother of B, | hat ¢ .

From 8
P is the father of A
H is the father of p B,
H is the father.in.jy,, ofk
Risu . SO. c s Q.
of P. the
Now, it clear
erof B. thatchu"!

84. (5) From statement

1

I
!
!

Day

| Monday g R~

Morie

[ Tuesday S

- -

Wednesday o

Thursday S

Friday o

From statement 11
Day Movie |
Monday
Tuesday
Wednesday
Thursday

i
:
|
;

| ]

|

Mo,
R
P
9
$

T

(o3 »

Friday
From both the statementy |

Day Movie
- )
| Tuesday
Wednesday
Thursday
Friday T
Movie T will be screened on Fit
day.
85. (3) From statement I

Nogth

wj]o|®

West<— ¥ East
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u,,%\ e 2 L AT A SUFFICIENCY. [ — |
Uy My A ltves on the topmast floor. So, :

a:d%:::f [’ﬂ . 110 one lives above the floor of A, From statement [
¢, | From statement 1t lm s 6m B
a% / 15 m Floor Number Person
Op [+ A
Y, am 5 om
Qla 4
) 3
dp 7m 7m . L; D (A
R ATives on the topmost floor. 50 It 1 clear from the diagram (EC
ald 1o one lives ahove the fioor of A. m‘c‘:o'go‘fn"{‘j‘.m direction ¥
auﬂ& polnt R 18 15 metre from the | 88, (3) From statement I %)m,hm;ll .
tP. J
ie%& Pommmtementn ' P T T (f T T T
) or
f@ 1 J G F
’ A I R N
gimg
" ) Ly
L.-: Q I H
' _ From statemeat I
5m 14 m P is sitting third to the right of J H G F
: o (I
: 3m From statement Il _ l l
@ 14 m R S I F
Point R is 35 metre away from or
point P. F 1 B J
86. (5 From both the statements. Q T T t T
- R L]
lii' -1 1. E P
] F . -
. T ' F G
! n T _ Itis clear from the state ent Il
" LR T — . that all the five friends z.e not
- c [R P is siting third to the right of G. facing north.
(I} 89. (3) From statement I 91. {3) From statement 1
H D E
Row-2 T Sm
Clearly, R is sltﬂng_secondtothe ,
right of @ and is facing E. " North
87. (3) From statement I ‘ E
f———— ] -
Floor Number | Person 5m East | a/B A/B
6 A
Sw SE
5 South
4
3 B Itlsclmfromthediag_ramtlmt C :
9 Point C {8 in Northeast direction lt]sclearthatantheﬁveper-
1 with respect to Point A. sons are not facing the centre,
“-"h___ -
' {
S— Py | BPRE-857 |———mmerr—
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From statement I '
A . l:h:illlll both the statements RRBI GRADE—B / !
v "'R"‘ NABARD GRADE..5 gfd
: OFFICEREKAMS .
Tuesday - P 4
1. (1) From statement ]
Wednesday Q | There are 50 apples 1, th f'
From statement 11
Friday T 50 per cent of fruitg n th, llﬂ
Movie T will be acreened on Fri- box are apples.
D day. The number of fruits | not
It 18 clear that all the five per- | 84, (3) From statement I known.
sons are not facing the centre, No . 2.(3) From statement I
82. (3) From statement | ’F-h . Area of square Playgroung 11*'
P 1s the father of A and B, 160::: c m;r playgroy
R i3 unmarried and C 1s sister- Weste~ » East h nd
in-law of R, ' = V1600 = 40m.
P s brother of R. So, P s the Now, Perimeter = 4 x §iq, ,
. husband of C. South 4 x 40 = 160m n
Now, it is clear that € is the moth- [PF'| ota
er of B, , Perimeter = 3:20 =160m
From Statement 15m Thus, data either in State.
- P is the father of A and B. ment I or in Statement |
H is the father of P and R, . 4 alone are sufficient to answer
H is the father-in-law of C. . L the question.
Ris unmarried. So, C is the wife 3. (5) According to question, the
of P. 7m 7m data in both statement I anq It
_ together are necessary.
Now, it clear that C is the moth- J 4.(5) From statement I
er of B, ’
20!
83. (5) From statement I Point R is 15 metre from the point m‘fﬂs tan away from
[ ._ Movie|| P
Day . I There is no menuqn of direc-
: R tion,
. From statement I
Tuesday P E{_] Devipur is 15km away from
Wednesday Q/T ( Smpur.
: There is no mention of direc-
Thursday S 27m{ i tion. ‘
i : In the question, it has been
Friday ‘ o/T | asked to find out the short-
From statement IT 1. est distance between Devipur
. and Durgapur. If we take the
Day Movie Movie 5m 14 three places in a straight line
Monday s R N m the shortest distance between
— : Devipur and Durgapur will be
Tuesday T P : 3m 5 km.
Wednesda P
Mursdsy | P s Dul—be i§]
Yid ay Point R is 35 metre away from ———> — —>
I R T point P. Slem 15km

= — . BPRE-858 }—mree—r— —




N 7 i O 1 S e
o @ Mo
.'- ] cliess
; @‘d daraja—;shesat
| i - are honest p
ey 4 r e - ) Code for ‘comfort’ is elther* e?zf-
Ty @ - they crlcket o pa
) 0 s, code for ‘chess’ s ‘ed". 18, (1) From statement I
LN THuS: 1 Nisha is cousin of Nidht.
ity Y pm? application must be sub- From statement I
g N iited before 28th February, Nisha is cousin or brother/sister
Nl o aNSWeT. 19. (1) From Statement I
gm‘%* . ﬂmmqueltlon and both the Nikhil after turning to his left
- Y atemeots would face towards west.
%d Kiran > Manoj o i) Therefore, Kumud is facing to-
pilip > Neelam ... (i) wards east.
X Sk, Kiran > Neelam (1)) From statement II
pitip > Mancj e {iv) It is*not possible to determine
No answer. Kumud is facing which direction.
From statement 1 20. (5) From both the statements
Bny s A is a male. Therefore, A is The colour of fresh grass Is green.
Sty the brother of B. : Here green is called brown.
Ien[lE From statementll 21. (5) From both the statements
gy, Als a male. Therefore, A is Vishwas is the tallest.
the brother of B. 22, (3) From statement I
nte| 949 10.(2) o
andy | j1.(5) From both the statements
K>J>W>P>MT —) [|||[||(__._
13)P is the child of J and J is 20th
g mother of P. )
134 Total number of children
free. | 14{1) =20+5-1=24
12th From statement II
| kst Total number of children
o 17th*“'_' =7+18-1=24
.| 155 Fromboth the statements | 23. (3 From statement |
‘ ' 144516 %X 79
. B [3}sfflowers are] really [good] or, 7£144+16x7+9
+ 7 {3 5pfgood flowers are] available or,?2=9x7+9 |
t | 16.(3) From statement I From statement II
! Rankof Rani from the top 1684%2#2=10
' =40-3]1+1 =10 or, 16 +4x2+2=10
‘I Therefore, rank of Sunita or,4x2+2=10
=10-4 = 6th Now, we can solve the question.
from statement II 24, (5} From statement |
Rank of Amit from the top
£40-37 + 1 = 4th going tola party]->la[fajqu [t
Therefore, rank of Sunita forfa_partyl->{@mefd -
*4+2=6th ‘
~ szassie{ BPRE-859
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From statement Il '1

the party ~»tufcora |
going to —~»qufco] Ja
From both the statements
party = tu
28, (4) From statement 1
According to Amita, Priya is trav-
elling on Wednesday, Thursday
or Friday.
According to Rohit, Priya is trav-
elling on Tuesday, Wednesday or
Thursday.
From both the statcments
Priya is travelling on Wednesday
or Thursday.
28, (4) From both the stalements
A is the daughter of K and M.
P is the grandfather or grand-
mother of A.
27. {5} From both the statements
Monday =» Crash
Tuesday = Ice Age/ Notting Hill
Wednesday = Ice Age/Notting
Hilt
Thursday = Social Network
28. (4) From both the statements

Shraddha

Vilma/

Vilma/
Ayesha

Ayesha

Tania
29. (5) From both the siatements
g P T R S

T sits exactly in the middle of
the line. ’
30. (1) From statement I

E

B/C

D
B/C

E sits to the immediate right of A.

From statement Il

F




c)fuvv: u::vw:vutﬁutﬁrvuiﬂw 'VUU'W{ﬂ‘l’?‘mmatal t
Day Exam |PUWIT
U Thus, these are aix
D/E o/E m o the line. Peron |,
B - Thursday R S|U-e- W T
A | p 4l (3)
31. (4) From both the statements Sat ai s P
R>QP>T>S | _ Sundag v -
- 38. (4) From statemeont I e
32. (5) From both the statements “ 5 S =¥ 0
@ @ ‘ - HEOHIT Ol Y==L
] 33. (1} From statement] - = | S | 2.5m o L5q
’i Dis the uncleof M, From statement Il +
Therefore, C is the grandmoth- 9 (M~ 8m P
erM. y RIHONJIIOU—=> North
From statement Il . Fe
F is the aunt of S and M.
Tt!:erefore. C 18 the grandfather o
.;’hf‘:::;e‘ﬁ}‘égr& . . nondJdilou-2—r West < ~> Bast
3¢ (2) 7 : er - : 86. (3) From statement I
* Day Exam T R is daughter of X's brother. So,
Monday  T/U - ;;“ “’T':mc': Rtn ' South
mﬂdﬂy °/U I sta €1 t
Wednesday @ " Pisthe husband of D, gﬁt x s 10 away from
Thursday T .- P 8 the brother of X. ' From statement II
" Friday P ' R is the daughter of D and P. 8m 8m 9
Saturday v/s ' So, X is the uncle of R. U M| D0k
Sunday v/is Point M Is 10 metre away fron
37, — point K.
() From mwtl 42. (5) From statement [
T a1 ety
From statements II i B 2
‘ S HU B F‘rpm statement I
0 o o O O A s o lgeed > o o
e —er - — |good| to| ]3&'._.; fe [ju ma
Thus, three pérsons are stand- | 38. (2) From statement | E ¢ -
mgbetweenﬁand U ‘ Fromboththeatatements
38. (2) From statementI ' .. D' D D>C> D' D it 3
K is the daughter of N and T. B>A>F oW ta [o] o
Bisthe sisterof N. - D is not the heaviest. @ —_— :
. Kis the granddaughter of S, From statement I : o -
' f:;elﬂm!atherormqthgrdfﬂ D.D>F> D D, D [Plas] 16 good —» = Ju [na]
Therefore, B 18 either daughter F>C>D good to [Plan]—> e ju[ng
of 8 or sister of sonein-lawor | B>A>[ ], [].[].[]
dﬁughtﬂ' in-law of 8. Bs A 43, (5) From statement |
From statement if >A>F>C>D
N is the wife of T, t_4 E;Q-D’P’D
B _ >
and N are daughters of 8, Als the second heaviest, - T>@>8>P>R

——————————{ BPRE-8§0 e
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From statement I¥
K is husband of D's sister.

15. (4) From both tho statoments
M'> J, R
RM>K

18. (3} In the evening any object cast
its shadow in the East.
On the basts of this information
it is not possible to arrive at the
answer.

17. (2) From statement I1
Number of pupils in the clasa

399 :

= =21

19 .

'18. (3) From both the statements

A>CGB>C,D
19. (4) From both the statements
If the month begins on Monday
and ends on Wednesday then
there are 31 daysinthatmonth.
Sundays in that month
=7, 14, 21, 28
'20. {4) From both the statements
Total number of pages in the
book
= 132 + 138 = 270
31. (2) No answer can be found from
the data given in the Statement 1.

G

H D

A

From statement Il

" In order to satisfy the given ar-

'+ -rafigement E or D must face out-

ward_.

F is sitting second to the right of
E. It means E is second to the
left of F, Therefore, either D or
'E must face outward.

22. (5) Frori both the statements.
" There are six floors in the build-

.8

A

®

p—

5 -
4 | B
5

1

P M >Q
T> poth the statements @ 1s in the Southeast direction
>8> s>P>R of R.
7. (5} From statement 1
. leURANCE EXAMS S>Q>R T
3 , From statement 11
0) | ¥ g e data gven in both the 0
l.(ta ents are not sufficient to >>r>.pT
2 8 the question. From both the statements
\ (g From statement I S>@>R>PT
n &5>A.C>D-D>A s-i‘llllEventhedataglvenmboth
e statements [ and II together
jtis clear that Ais the shortest, are not sufficient to answer the
prom statement I question.
g>A.C>D, A>C 9. (5) From statement I
a .B>A>C>D P and @ are only daughters of
5.(3) From statement I N.
tofonepole=5x4 = From statement It
k“;dgh ° P 20 D is brother of P and son of M.
From both the statements
[”% - ;gf}lgk]g © poles = 10 x 20 M and N are husband-wife.
" statement IT M has two daughters P and Q.
mzx 20 10. (4) From both the statements
3x.. =
L)m + x= 20 kg (weight of one pole) now and =ka ta
ty| .~ Welght of 10 poles = 20 x 10 you come =[da] ma pa
=200 kg : Thus, code for ‘now’ may be el-
4 (1) From ltatﬂnentl I ther ‘ka’ or‘ta’.
2 Amet with accident on Friday—- |  11. (5} From both the statements it
3 = Tuesday is clear that P has two sisters T
dv
2 From statement I . and v. ,
5.0 12. {4) From both the statements
If more paintings were sold by )
Banerjee, it implies that he is over(@nd)again— ka ha -
| mmp“lt::' ex come go— pa na’
6.6l * - 18. (5) From both the statements
: NW N NE Mchan
. M—Q '
w E Jayesh
l Suresh .
W SE
_* SWs
There is no mention of R. Bhﬁshan
From statement Il /
- R Salil
l Suresh is to the immediate right
M of Mohan.
, , .. 14. (5) From statement |
There is no mention of G- - D is sister-in-law of N.
From both the statements . o ' \
e ) - —'_"!.:-:..s . ] IBPBE—BRIL-—;;- :
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-’ 29. (3) From statement I e SPeba
23. (1) From statement I, 3 Some baseball capan,ay :‘;4
_ blue, be 1 K
—_— NE _ Therefore, only I ts try,, L
- 36. (1) From statement 1 ‘;#F
West SEEast Emelres Nor'l.h ' help Iselfl to win I—) - B ’fﬁ
s P B Mg
It is clear from the diagram that The code for ‘self’ 1s * ;
Sunny was facing North-East. Y South From statement II
From Statement II M, Sand N are in a straight line. make plan sefl —> @& 4 . i
It is not clear Sunil is facing From statement {1
which direction. connect tofselfjimportant — [73)
24. (5) From both the statements The code for ‘self is ‘s,
E is the husband of R. 87. (1) From statement] 0
E is the father of B and J. : N>P>M>0 o
J is the daughter and B 1s the N does not weigh the most f
son of E. Therefore, Q weighs the mogg, ‘
28. {5) From Statement | From statement II
N>J>K ' M, S and N are in a straight line. Q>M>0 o
There is no information about L 90. (1) From statement 1 _ '
and M. : At 6 O'clock both the hands of ELD"”D-D g
From Statement fI, clock remain in straight line. There is no information about §, {
M>LsK From statement IT 88.(2) From statement] i
There is no information about J f:th g[ethedl_l la;g's atof; g?c‘:gckmaankg ?ﬂa?;:ra;;ourdaym 013 Wedn T
andN. 8 O'clock From statement II L
From both the statements $1. (5) From statement I Naina was born on Tuesday, 1k
K is the youngest. V>4, 6 Thursday, Friday, Saturday or 3
28. (4) From Statement |, K>1G Sunday. Ii
Exam was held in April, May or From statement I From both the statements Naing 8
June. - V>K 1 was born on Friday or Saturday.
From Statement 1. ' J>G 39. (3) From statement I T
Exam was held in March, A . Fromboth the statements |
or May. prl V>K1LJ>G : 00D M rO !
From both the statements, eppo Dot the tallest. So, A is the T T | T T T i
27. (1) From statement | - : -
‘ : 32, (2) From statement I1: i
11th : or
10 students _ B @ Avant did start her business in %
Yogesh is 17th from the left, From statement IT : ﬂ\ i
From statement Ij Avani did start her bustness in T T T T T T T P
....... Y LEL T | . 2008. ‘ . .
------- B 8| &g Jyoti> Sadhana> Meera | Y L M S H h
28. (2) From statemeqtl , N Pink{ e T T T T A
Ranjana did her graduation in
1890, 1991 or 1999, 34. (5} From both the statements N Three persons stand between H ‘
From statement iy 18 mother of M and z, andL.
Ranjana did her graduation i | 38.(2) gﬂ hats (black and blue)have | 40.(2) From statement | ﬂ
1992, ) | ‘ _ brims, D is daughter of M. E is sister of y
Baseball capg are hats._ P D. E is daughter of M. \
e r‘-—-v - oy b Q
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quu Y
llmq Q%‘\\ /;V The gender

—{ DATA SUFFICIENCY }

of h .
js sister ¢ code for ‘most’ 1s ‘06",
Y it h\lg 1 f: n“k?(;;wn Wis clther aunt From statement If
]e O
it htq*& ;fo '::c:ﬂtement u ] people makelﬂ-—)@ ¢
W are children of S, it m
» M dughter of M. B Foogspeca tough—>{] £ +[5]
. Q ;’bﬂﬂm statement [ 'gle code for most 1s either ‘%’ or
$ \
g‘@ ¢ K FBUJ 48. (4) From statement I
' TIITTT | me
. There is no information about M
3@ : andL.
@; X or From statement II
*@ g8, U B F J L>M
. T T T T T T From both the statements
| P>0O>N:L>M
47.
omstatement Il | 7. (2) From statement 1
Nog;-
D D mmbom the statements :
' UBF J
aboyy | K N R
wi o
' Pr From statement [ sm.
Lis fatherof S and T
%y, | | is husband of M.
Wa| s husband of K. &
Naty J is father of M. )
irday Therefore, J is grandfather of T,
From statement Il
| M1s wife of L. _ North
Tis daughter of L and M. Nw NE
_[ M is daughter of J and K.
Therefore, J Is grandfather of T. - :
West < »East
; 43-(1) From statement I ‘ wast
Sania was born in 1984, 1986 ,
¢ or 1988. _ :
sw SE
;’ From statement I Sotth "
! Sania was born in 1988 R
% From statement 1 From statement Il
3 D>A>E>B>C .gm‘ E 4m. .
. Fromstatement Il
I : A is In west direction from B.
- D’A-E>C 48. (3) From statement I
8.3 From statement | Bharat has two stblings. But it {3
not clear they are brot -
ostloF e Time]—> [F &% oo, ey are brothers or sis
regular[fimg—>{E#7)> From statement 11

S—

L S B

F

' Bharat may have one, two or more
brothers.

From both the statements
Bharat has one brother.

49, (3} ¥rom statement I

Q 1s grandson of T.

The gender of T is not known.
From statementI1

T is mother of N.

T is wife of L.

From both the statements

T is mother of Rand N.

Q 1s son of R.

So, T is grandmother of Q.

50, (4) From statement ]

Aran
Leena

Thus, all friends are not facing
the centre,

From statement I1

Ken

Amit
Al

‘Thus, all friends are not facing
the centre,

o1
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MODEL EXERCISES

Divections
questions are

{1) : Both of these
followed by two

’ &WhatlsKeshav‘srankmthc

certain inf; class of 50 ?
Decide whether e Information I. Amit, ranldng 18th in the class from R
in the statements ia suMcient for the top s 7 ranks below Vivek, who
m questions. Mark your is 5 ranks above Keshay. ..
13 ‘A Il. Saurav, the 10th from the bot-
(1} If statement A uwalo-ne 18 tom. 18 20 Suresh, .
@) If statemént ‘B alone s Wwho is 5 ranks below Keshay.
toanswer the problem | 4. How ts Ram related to Nitin ? .
(3) If both the statements ‘A’and I. Revati, Nitin's mother, is cousin ’
toanswerthc ds“mmemdeornam_
, -n- a.
@) I both the statements ‘a'| 1L, Pravin, Ram's father-in-law is the
and ‘B’ are not sufficient to grandfather of Sachin, the neph- L
answer the probleny . ew of Nitin.
(5) None of these 8: WhoamongM, N, O, Pand @ is
LCm:ommAmnmngﬁ? the youngest ? I
L Togoto B, one has to tovich A I. N, the 2nd youngest, is younger
1. Itisnot possible to gotoA with- than Q, O and M. .
out touching D or C, both of Ii. O, the2nd oldest, {s older than N. 10.
whidarequlmyuutotouchB. dTis
Directions (2-6) : Each of the | O Whoamong P, Q, R, S an :
below consists of a questior the shortest ?
andtwostatcmcntanuhglbafg{iam:lﬂ L. R, though not the shortest, is
given below it. You have ecide
hether the data provided in the sigte. shorter than only Q.
ments are sufficient to answer the | I S, though not as tall as P. is not
qu.mm&eadboththesmtummm the shortest.

Directions (7-11) : Each of the

Glumsmtljifthedataln foliowing tions, consists of a ques- |
Statement I alone are sufficient to an- | $jon and g?mm numbered 1 I
swer the question, while the data in and II given below it. You have to de-
Statement It alone are not sufficient to ¢ide whether the data given in the
answer the question. statements are sufficient to answer the 1

Give answer (2) if the data in | questions. Read both the statements y
Statement If alone are sufficlent to and choose the appropriate option.
Znswer the question, while the data in Mark answer (1) If the data in
answer the question. oy swer the question, while the data jn | 11-

Give answer (3) if the data in statement I! alone are not sufficient to

Staterhent I alone or in Statement I dnswer the question,
abngammﬂdmttoanmrthe Mark angwer {2) If the data in
question. statunentﬂalonearesuﬁlcienttoan-

Give answer (4) if the data in both swer the q while the data in
ﬂw%tanmtslandﬂ'wgeﬂiermm Statement I alone are not sufficient to
mﬂ!dmttoansmﬂ:equesuon. . | aniswer the question,

Give answer (5) if the data ini Harkanm(.?-]lfthedataeither
both the Statements I and 11 together lnstatementlaloneormstatement Il
areneocssaqr_to‘an:swerthequesﬁon_. a_lonearesumdenttoansvirermeques-

3. What does ‘Pe mean in the code tion,
language ? : Mark anower (4) If the data in both, | -
1. ‘Na$f La Lo’ means ‘you may go | Statéments I and I together are not I
now’ and ‘Ne S Na Pe’ means ‘he suﬂiclenttoanswerthequesﬂon.
may go ﬂlere’lnthatcodelan- Hukm(ﬁjlfﬂmdatainbom
. Suage, the statements | and Il together are
. ‘Ki Se Pe Bo’ means ‘come there newasarytoanawo_:rthc question, 1L
andsee’and ‘Se Nf Bo Ki' means | 7. Among bulldings J, K, L, M, N
oomehmandaee’luthatoode andO(eachbuﬂdmgisofd!ffer—
language. ent height), which is the tallest?
{

F

- Mlives on floor numbereqd

ings. J is shorter .
buttallertl'lanO.Nhtanq.ﬁa";gk
What is the direction v
respectto K ?
Kis 8m to the S.
ﬂleml;tgofts‘; fhisllm
.M m e north
BQ?I 13 12m to the wes;
6m to the South of M.
South-East of Q.

HawlsPrelatedtoM? g

G ismarriedtoL. Mis the
er-in-law of L. M ig the only
daughterofRandA.P]suk E
grandchild of R,

Five persons — M, N, 0, Pang
Q — live on five different

of a building but not::.eoes.ﬂo"“‘aa,ﬂ,qF

in the same order. The lowernyg
floor of the building is Numbere,
one, the one above that is nygy,
on tilt the top.
many persons live betwemuz
and Q7

three.

one person lives between
MandP, Nlivesonanoddnum.
bered floor immedjately ahoye e
O lives on an even Numbered
floor immediately below M, Only
one person lives between O and
Q. N lives on the topmost floor,
Six persons are sitting in two par-
allel rows con three per-
8ons each, in such a way that
there is an equal distance be-
tween adjacent persons. In row-
1, U, Vand W are seated and al
of themare facing south. In row-
2,P Q and R are seated and al
of them are facing north. (There
fore, in the given seating arrange-
ment, each member seated ina
row faces another member of the
other row.) Who sits at extreme
left end of row-27?

- V sits at one of the extreme ends

of the line, Only one sits
between Q and the one whofac
€s V. P is an immediate neigh
bour of Q. between
Only one person sits

andR. W ll'::w one of the lmﬂ:‘
diate neighbours of R. V I8
immediate neighbour of W.
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\ /ORT ANSWERS £ From statey
mo | g5 From statement 1y
hnq"*g..\ IR P>S
%lﬁe"'t,q‘j ﬂ 68 |7.00 | 8.3 From both the statements
SON (e el || famrier
ﬂon% i"tl,[ 1 ﬂ N 7.11) F\'om.statemmts}lm
RN EXPLANATIONS .. g::g:a. o .
3t g S g
g S g Togo to B, one has to touch A L>KN>M>y, 0 '
b | 0 Clearly, building | tallest
E,':‘r%:% 5, (o) Fromstatement - Froul::a'tatmmt i '
Kyl [ ~zJia Lo —> you [M3y go] now >K>[}[]
Mp l%u: - M,K>J>0 L]
W | Wi BT e | g
R ol pe=> he/there 8.
'3“3;3 ! . 3 statementl
:thu:em% @N@—-—)]comq there land see]
i P&% @m@—-)lgomel here fand seE| I
.0, p pe=> there
g, | 3. (@) From statement 1 o
eﬁnm‘ Thr rank of Amit from the top = [ P|
| I, 18th -
tlf':::? The rank of Vivek from the
I they =11th(18-7) -
.&:'m'h Therefore, the rank of Keshav
! fromthe top= 11 + 5 = 16th .
d From statement I '
’;;'M The rank of Saurav from the top
oy =50-10+1=41st (K
ey The rank of Suresh from the top .
!{-Jﬂn! =4] - 20 =21st NW
ﬂ:;‘ Therefore, the rank of Keshav
DP"'} form the top = 21 - 5 = 16th West East
. 4 (1) lfmmstatementl
tht Revati is mother of Nitin. SW SE
i Revati is cousin gffSukesh. South
1 Sukesh is uncle of Ram. '
- It is clear from the that
# . Therefore, Ram s cousin of NItin. |y . yn Nori West direction with re-
f The gender of Ram is not known. | gpect to K.
. From statement II From statement I 19
3 Pravin is father-in-law of Ram.
" Pravin is j er of Sachin. m
Sachin is nephew of Nitin.
Therefore, Ram may be brother-
in-law or sister-in-law of Nitin.
Again, Ram may be brother or
sister of Nitin.
8. (1) From statement ]
Q.O.M>N
Therfore, P is the youngest. - ' = K o\
th clear from the
From statemen M s in North Wers d!ﬂsmmm
p O>N respect to K.
0 answer .
— F I‘ TRl oW | N W.-F .1

(1) From statement §

P fs the granddaughter of R.

M is the daughter of R.

M is the wife of C.

G is the only daughter of C and M.

R is the daughter of 1.

M 1a the siater of 1.
Therefore, P is the niece of M.
Fromstatementll -

Mis the only daugliter of Rand A-,, |
P is the grandchild of R. , o
Pmaybethechidof M. . %




